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<br>
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<br>
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<br>

AllQuestions are compulsory.

<br>

1. Write short note on the followings:

<br>

2nd Semester MBA

<br>

a) Machinery to resolve Industrial dispute

<br>

b)Methods of training evaluation

<br>

c) E- recruitment

<br>

d) Techniques of Job analysis

<br>

e) Succession planning

<br>

) Job specification and job description

<br>

1923)

<br>

s M

<br>

g) Partial and total disablement (Under Employees compensation Act,

<br>

(2.5* 8 =20 marks)

<br>

h)Concept of provident fund, gratuity and pension

<br>

2. a)Identify the recruitment sources that the companies should tap

<br>

i) A mobile service company wants to hire temporary field sales

<br>

officers.

<br>

(5 * 2= 10 marks)

<br>

i) A branded chain of eye retail hiring for optometrists

<br>

b). There is increase in number of complaints by various

<br>

departments with delays in filling up

<br>

of vacancies: Long

<br>

recruitment cycle. Youas the head of the department want to identify

<br>

the reason for this issue. Identify the dimensions that you would

<br>

explore in order to nip the problem being expressed.

<br>



o2

<br>

3 What is performance appraisal? Discuss the future of traditional

<br>

methods of performance appraisal in light of growing acceptance of

<br>

artificial intelligence.

<br>

(2+8= 10 Marks)

<br>

J. AssesSment of trainingneed is the first and most important step n

<br>

designing a training progran'. Elaborate the statenent? How e-

<br>

leaining is poised to tevolutionize the domain of training and

<br>

development in India.

<br>

(3+7=10 Marks)

<br>

6. What is reciuitment? Discuss any four metrics to tmeasure efficiency of

<br>

(2+8=10 Marks)

<br>

recruitment process of any company.

<br>



Present valuc interest factor of an (ordinary)annuity of $1 pcr period

<br>

at i% forn periods, PVIFA(,n).

<br>

Period

<br>

4

<br>

5

<br>

6

<br>

3

<br>

7

<br>

18

<br>

2

<br>

10

<br>

19

<br>

Period

<br>

1

<br>

11

<br>

20

<br>

15

<br>

16

<br>

17

<br>

3

<br>

4

<br>

6

<br>

7

<br>

14

<br>

9

<br>

12

<br>

10

<br>

13

<br>

Present valuc interest factor of $1per period at i% for n pcriods,

<br>

PVIF(,m).

<br>

7%

<br>

12% 13%

<br>

8% 9% 10% 11%

<br>

14% 15%

<br>

19% 20%

<br>

16% 17% 18%

<br>

0.935 0.926

<br>

0.901

<br>

0.917 0.909

<br>

0.893 0.885

<br>

0.833

<br>

0.877

<br>

0.847 0.840

<br>

0,870 0.8620.855

<br>

L.808

<br>

1.736 1.713 I.690

<br>

1.783 1.759

<br>

1.668 1.647

<br>

1.605 1.585

<br>

1.626

<br>

1.566 1.547 1,528

<br>

2.577 2.531 2.487 2.444 2.402 2.361

<br>

2.106

<br>

2.322 2.283 2.246 2.210 2.174 2. 140

<br>

3.312 3.240

<br>

3.387

<br>

3.170 3.102 3.037 2.974 2.914 2.855 2.798 2.743 2.690

<br>

3.791 3.696 3.605 3.517 3,433

<br>

3,199

<br>

4.100 3.993 3.890

<br>

3.352 3.274

<br>

3,410

<br>

4.355 4.23I

<br>

3.998

<br>

3.498

<br>

3.326

<br>

4.11|

<br>

3.889

<br>

3.589

<br>

3.784 3.685

<br>

3.605

<br>

3.812 3.706

<br>

4.712

<br>

4.868

<br>

4.564 4.423 4.288 4.160 4.039 3.922

<br>

S.335 5.146 4.968 4.799 639 4.487

<br>

4.207 4.078 3.954 3.837

<br>

4.344

<br>

4.451 4.303

<br>

5.328 5.132

<br>

4,163 4.03

<br>

5.759 5.537

<br>

4.946 4.772

<br>

4.494 4.339

<br>

S.650

<br>

6.145 5.889

<br>

5.426 5.216 5.019 4.833 4.659

<br>

4.192

<br>

4.486

<br>

6.495 6.207

<br>

S6

<br>

4.327

<br>

4.836 4.656

<br>

5.938

<br>

5.453

<br>

5.029

<br>

5.234

<br>

49 4.793 4.611

<br>

5.660

<br>

1.439

<br>

5.918

<br>

S.421

<br>

6.814

<br>

5.197

<br>

6.492 6.194

<br>

6.424

<br>

7.103 6.750

<br>

6.122 5.842 5.583 5.342

<br>

4.910 4.715

<br>

5.118

<br>

4.533

<br>

7.367

<br>

6.628

<br>

6.982

<br>

6.302 6.002 3.724 5.468

<br>

4.802

<br>

5.229 S.008

<br>

4.611

<br>

6.462

<br>

7.606 7.191 6.811

<br>

5.847 5.575

<br>

6.142

<br>

4.876 4.675

<br>

5.324 5.092

<br>

2.624

<br>

4.767 4.623 4.486

<br>

5.033

<br>

5.747 S.535

<br>

6.247 5.995

<br>

7.024 6.710 6.418

<br>

7.499 7.139 6.805

<br>

7.943 7.536 · 7.161

<br>

7.904 7.487

<br>

5.38 S.206

<br>

5.971

<br>

6.515

<br>

8.358

<br>

8.244 7.786

<br>

8.745

<br>

|9.108 8.559 8.061

<br>

8% 9%

<br>

0.935 0.926 0.917

<br>

7%

<br>

0.873 0.857 0.842

<br>

4.607

<br>

10%11% 12% 13%

<br>

0.909 0.901

<br>

0.893 0.885 0.877 0.870 0.862 0.855 0.847 0.840 0.833

<br>

0.826 0.812 0.797 0.783 0.769 0.756 0.743 0.731 0.718 0.706 0.694

<br>

0.675

<br>

0.816 0.794 0.772 0.7510.731 0.712 0.693

<br>

0.658

<br>

0.609 0.593

<br>

0.641 0.624

<br>

0.579

<br>

0.534 0.516 0.499 0.482

<br>

14% 15%

<br>

0713 0681 0.650 0.621 0.593 0.567 0.543 0,519

<br>

0.763 0.735 0.708 0.683 0.659 0.636 0.613 0.592 0.572 0.552

<br>

16% 17%

<br>

0.623 0.583 0.547 0.513 0.482

<br>

0.582 0.540 0.502 0.467 0.434

<br>

3.127

<br>

2.639

<br>

18%

<br>

4

<br>

3.058

<br>

19%

<br>

2.589

<br>

2.991

<br>

20%

<br>

0.666 0.630 0.596 0.564 0.535 0.507 0.480 0.456 0.432 0.410 0.390 0.370 0.352 0.335

<br>

0.4970.476 0.456 0.437 0.419 0.402

<br>

0.452 0.425 0,400 0.376 0.354 0.333 0.314 0.296 0.279

<br>

0.404 0.376 0.351 0.327 0.305 0.285 0.266 0.249 0.233

<br>

0.544 0.500 0.460 0.424 0.391 0.361 0.333 0.308 0.284 0.263 0.243 0.225 0.209 0.194

<br>

0.508 0.463 0.422 0386 0.352 0.322 0.295 0.270 0.247 0.227 0.208 0.191 0.176 0.162

<br>

0.475 0.429 0.388 0.350 0.317 0.287 0.261 0.237 0.215 0.195 0.178 0.162 0.148 0.135

<br>

0.444 0.397 0.356 0.319 0.286 0.257 0.231 0.208 0.187 0.168

<br>

0.415 0.368 0.326 0.290 0.258 0.229 0.204

<br>

0.388 0.340. 9.299 0.2630.232 0.205 0.181

<br>

0.362 0.315 0.275 0.239 0.209 0.183 0.160 0.140 0.123 0.108 95

<br>

0.339 0.292 0.252 0.2180.188 0.163 0.141 0.123 0.107 0.093 0.081 0.071 0.062 0.054

<br>

0.317 0.270 0.231 0.198 0.170 0.146 0.125 0.108 0.093 0.080 0.069 0.060 0.052 0.045

<br>

0.296 0.250 0.212 0.180 0.153 0.130 0.111 0.095 0.081 0.069 0.059 0.051 0.044 0.038

<br>

0.084 0.074

<br>

0.152 0.13 0.124 0.112

<br>

0.182 0.163 0.145 0.130 0.116 0.104 0.093

<br>

0.160 0.141 0.125 0.111

<br>

0.099 0.088- 0.078

<br>

0.065

<br>

0.277 0.232 0.194 0.164 0.138 0.116 0.098 0.083 0.070 0.060 0.051 0,043 0.037 0.031

<br>

0.258 0.215 0.178 0.149 0.124 0.104 0.087 0.073 0.061 0.051 0.043 0.037 0.031 0.026

<br>

Total No. of Pages 4

<br>

Tine: 3:00 Ilours

<br>

Note: Allquestions are compulsory

<br>

Q.1Write short notes on any three of following:

<br>

a) Time valuc of money

<br>

CNDSEMESTER EXAMINATION May/June-2019

<br>

b)Financing decision in financial management

<br>

c)Wealth maximization

<br>

MGT-22 FINANCIAL MANAGEMENT

<br>

d) Internalrate of return

<br>

CFAT

<br>

900

<br>

1200

<br>

1800

<br>

Q.2 a) Company X is considering investing in a project that requires an initial

<br>

investment of 73500 with an expected cash flow generated over3 years as given in

<br>

the table below:

<br>

2200

<br>

IISEMESTER. MBA

<br>

CFAT and its probability of occurrence

<br>

Year I

<br>

Probability

<br>

0.2

<br>

0.2

<br>

0.3

<br>

0.3

<br>

Year II

<br>

CFAT Probability

<br>

900

<br>

1200

<br>

1800

<br>

2200

<br>

0.1

<br>

0.3

<br>

0.4

<br>

0.2

<br>

900

<br>

Year II

<br>

CFAT Probability

<br>

1200

<br>

Max Marks: 60

<br>

1890

<br>

(5 Marks each)

<br>

2200

<br>

0.3

<br>

0.2

<br>

0.3

<br>

0.2

<br>

a) What is expected NPV of the project when risk-free rate of interest in the

<br>

market is 10%?

<br>

(6 Marks)

<br>

b) Calculate the riskiness ofproject by caloulating standard deviation (4 Marks).

<br>

-03

<br>



Q.2 b) A company gocs forcxpansion policy of cxisting plant. Bxpansion projcct

<br>

costs 1200 million. Working capital is 100 million. Annualcapacity ofthe lant is

<br>

50,000 units sold at the rate of 2500. The variable cost to salcs ratio is 50%. The

<br>

fixed cost per annum is 450 million cxcluding depreciation. The set-up cost of one

<br>

time would be 100 million. Working capital rcquiremcnt willbe 10% of salcs. Tho

<br>

company would utilize the capacity of plant as shown in table bclow:

<br>

Year

<br>

Capacity utilization(%)

<br>

30

<br>

30

<br>

Plan A: To have full money from issue of equity

<br>

2

<br>

50

<br>

Plan C. To have full money from borrowings at 10% p.a.

<br>

The salvage value of machine will be 15% of the cost. Determine the cash flows for

<br>

each of year of the expansion project. Depreciation is on straight-line basis.

<br>

Present value is not to be computed

<br>

(10 Marks)

<br>

|Output in Units

<br>

Fixed costs

<br>

0.3 Bhaskar Manufacture Ltd. has equity share capital ofZ500,000 (face valuc of?

<br>

100). Tomeet the expenditure ofanexpansion program, the company wishes to raise

<br>

300,000 and is having following alternatives as sources of funds:

<br>

| Variablecost/ unit

<br>

Select the most suitable plan toraise required funds.

<br>

Plan B:To have 100,000 from cquity shares and 200,000 from borrowings from

<br>

financial institution at 10% p.a.

<br>

|Interest on borrowed funds

<br>

Selling price per unit

<br>

Plan D: Tohave 100,000 in equity and 200,000 from 8% preference shares

<br>

The company has present earnings ofZ150,000. The corporate tax rate is 50%.

<br>

3

<br>

A

<br>

70

<br>

70,000

<br>

4

<br>

Q.3.b) Calculate the degree of operating leverage and degree of financial leverage

<br>

according to the data given below for companies A and B:

<br>

10,000

<br>

100

<br>

0.2

<br>

5,000

<br>

0.6

<br>

100

<br>

(2 x4+ 1=9 Marks).

<br>

(3X2 =6 marks)

<br>

25,000

<br>

13,000

<br>

1.5

<br>

18,000

<br>

Q.3

<br>

Brightways Ltd. faces four possible economic conditions very poor, poor, normal

<br>

and good. Brightways' possible level of sales and operating expenses with their

<br>

probability of occurrence are given in table below:

<br>

Probability

<br>

Sales

<br>

Costs:

<br>

Variable cost

<br>

Expected Sales, EBIT,ROIwith associated probabilities

<br>

Fixed cost

<br>

Total Cost

<br>

EBIT

<br>

ROI

<br>

Poor

<br>

Poor

<br>

0.15

<br>

0.10

<br>

660

<br>

330

<br>

The tax rate of 50%.

<br>

OR

<br>

280

<br>

610

<br>

50

<br>

10%

<br>

710

<br>

355

<br>

280

<br>

635

<br>

75

<br>

15%

<br>

Normal

<br>

0.35

<br>

800

<br>

400

<br>

280

<br>

680

<br>

120

<br>

24%

<br>

0.30

<br>

880

<br>

440

<br>

b) Prepare schedule of loan amortization

<br>

280

<br>

720

<br>

160

<br>

32%

<br>

Good

<br>

0.05

<br>

1160

<br>

580

<br>

280

<br>

860

<br>

300

<br>

The company is considering two financial plans for an investment ofZ500,000:

<br>

60%

<br>

1. Raise entire funds by issuing 50,000 ordinary shares at 10 per share

<br>

2. Or to raise 250,000 by issuing 25,000 shares of 10 each and borow 250,000

<br>

at 15%.

<br>

a) What are the effects of alternative plans on shareholders' earnings? Which

<br>

plan out of two is best in given scenarios

<br>

(10+2= 12 marks)

<br>

b) Does state of economy have a bearing on choice of financial plan, please state

<br>

in context of information given about Bright ways.

<br>

(3 marks)

<br>

Q.4 A. Mr Sunil takes a loan of INR 100,000 at 14% rate of interest for purchasing

<br>

a car.The loai has to be repaid over the next 5 years.

<br>

Estimate the equal annual instalment to be given by Mr Sunil to repay his

<br>

principal plus interest in the 5 years.

<br>

(3 Marks)

<br>

(S Marks)

<br>

Q.4 B. How much amount should be invested now so that Mr Sunil receives INR

<br>

100,000 each year in perpetuity at an interest rate of 10%?

<br>

(2 Marks)

<br>



Total No. of Pages 6+1 page of t-table

<br>

I| SEMESTER

<br>

ENDSEMESTER EXAMINATION

<br>

PAPERCODE MGT-23 &

<br>

Time: 3:00 Hours

<br>

O5

<br>

TITLE OF PAPER Business Research Methods

<br>

Note: Assume suitable missing data, if any.

<br>

Q1. Short Answer Questions

<br>

Roll No..

<br>

May/June-2019

<br>

an

<br>

Read the Instructions Carefully with each question

<br>

Statistical table for t test are provided with the paper

<br>

(Attempt any 5 parts from (a) - (), 3 Marks each)

<br>

MBA (GeneralD

<br>

Max. Marks: 60

<br>

a.Explain the role of business research in business decision making.Give

<br>

example of pure research explaining its use in business decision

<br>

making.

<br>

b. Discusstwo applications of factor analysis in business research.

<br>

(15)

<br>

c. Compare the cross-sectionaland longitudinal research designs providing

<br>

an example of each.

<br>

d. Identify and explain three sources of errors in survey research.

<br>

f. Explain type 1 and type 2 error in hypothesis testing.

<br>

e. Describe random and stratified sampling methods in probability

<br>

sampling.

<br>



Q2. Long Answer Questions

<br>

(Attempt any 3 parts from (a) -(d), 5 Marks cach)

<br>

a.

<br>

i. What is questionnaire?

<br>

C.

<br>

1. Discuss the difference between structured and

<br>

questionnaires.

<br>

i.

<br>

1. Discuss the two main points that you will take into account while

<br>

drafting a questionnaire?

<br>

b. What do you mean by primary data? Explain three methods of collecting

<br>

primary data?

<br>

ii.

<br>

Differentiate between comparative and non-comparative scaling.

<br>

Explain the comparative scaling method - paired comparison

<br>

scaling.

<br>

(15)

<br>

111, Explain the non-comparative scaling method - itemized rating

<br>

scaling.

<br>

unstructured

<br>

d. Describe the sampling design process. Discuss two factors that calls for

<br>

the use of large samples.

<br>

What is your age?

<br>

Q3. A sample of 20 undergraduate students answered the following questions

<br>

What is your gender?

<br>

What is your height?

<br>

What is your major area of study?

<br>

Are you planning to attenda graduate school?

<br>

What is your current CGPA?

<br>

What starting salary you are expecting if you seek campus placement?

<br>

How satisfied you are with the facilities available in the campus (rate

<br>

a scale of 1 to 5)?

<br>



Based on the survey answer the following questions

<br>

i.

<br>

ii.

<br>

Classify the variables Gender, Height, CGPA and Satisfaction on the

<br>

Scale of measurement.

<br>

Is the data cross-sectional or time series?

<br>

ii. Make a frequency distribution of majors selected by the students and

<br>

show it graphically using a bar chart.

<br>

V. Compute the mean and variance of age.

<br>

iv. Make a frequency distribution of current CGPA and show it

<br>

graphically in a histogram.

<br>

vii. Malke a cross tabulation of Majors and Grad School variables.

<br>

StudentGender Age Height| Major

<br>

1

<br>

2

<br>

3

<br>

vi. Draw a scatter plot between current CGPA (X) and expected salary

<br>

(Y). Interpret the relationship.

<br>

4

<br>

6

<br>

10

<br>

11

<br>

12

<br>

13

<br>

14

<br>

15

<br>

16

<br>

17

<br>

18

<br>

19

<br>

20

<br>

Male 18 69 Marketing

<br>

Male 21 67

<br>

Male

<br>

Male

<br>

Male

<br>

Male

<br>

Male

<br>

Male

<br>

female

<br>

Male

<br>

Male

<br>

-07

<br>

female

<br>

female

<br>

Male

<br>

20 68

<br>

Male

<br>

Male

<br>

18 79

<br>

19 67

<br>

female

<br>

20 70

<br>

20 68

<br>

21

<br>

female 20

<br>

female 21

<br>

20 62

<br>

19 70

<br>

19

<br>

25 67

<br>

female 18

<br>

71

<br>

20

<br>

18 66

<br>

23

<br>

65

<br>

20 69

<br>

20

<br>

65

<br>

65

<br>

64

<br>

67

<br>

70

<br>

62

<br>

IT

<br>

Economics

<br>

Economics

<br>

IT

<br>

|Accounting

<br>

Economics

<br>

IT

<br>

Grad

<br>

Yes

<br>

Economics

<br>

Exp. Salary

<br>

SchoolCGPA (1000 INR)|Satisfaction

<br>

Economics

<br>

No

<br>

|Marketing

<br>

No

<br>

IT

<br>

|Marketing

<br>

Accounting Yes

<br>

Accounting

<br>

Accounting

<br>

Accounting

<br>

Marketing

<br>

|Marketing|

<br>

Yes

<br>

Yes

<br>

Yes 4.00

<br>

Yes 2.75

<br>

No

<br>

No

<br>

No

<br>

No

<br>

Yes 3.26

<br>

Yes

<br>

No

<br>

3.19

<br>

No

<br>

3.11

<br>

No

<br>

3.02

<br>

No

<br>

3.24

<br>

2.93

<br>

3.21

<br>

Yes 2.94

<br>

3.23

<br>

3.77

<br>

3.71

<br>

3.20

<br>

3.22

<br>

3.34

<br>

3.09

<br>

3.72

<br>

2.50

<br>

No 2.21

<br>

40

<br>

50

<br>

50

<br>

50

<br>

40

<br>

60

<br>

50

<br>

40

<br>

45

<br>

50

<br>

60

<br>

40

<br>

45

<br>

40

<br>

40

<br>

60

<br>

40

<br>

50

<br>

50

<br>

(2)

<br>

55

<br>

4

<br>

(1)

<br>

1

<br>

4

<br>

4

<br>

(3)

<br>

3

<br>

4

<br>

(3)

<br>

3

<br>

(2)

<br>

4

<br>

5

<br>

1

<br>

4

<br>

(2)

<br>

3

<br>

(2)

<br>



Q4. Attempt any 2 parts from (a) to (c)

<br>

å. Shown below isthe excel output of the regression analysis conducted on

<br>

the following dataof prices for books and the number of pages that each

<br>

book contains.

<br>

Book Pages (x) Price()

<br>

B

<br>

C

<br>

D

<br>

E

<br>

Data

<br>

G

<br>

500

<br>

700

<br>

750

<br>

590

<br>

540

<br>

650

<br>

480

<br>

Summary Output

<br>

Regression Statistics

<br>

Multiple R

<br>

RSquare

<br>

Adjusted R Square

<br>

Standard Error

<br>

Observations

<br>

7

<br>

7.5

<br>

9

<br>

6.5

<br>

7.5

<br>

7

<br>

4.5

<br>

0.75027

<br>

0.56291

<br>

0.47549

<br>

0.98061

<br>

- D8

<br>

7

<br>

(7.5)

<br>



ANOVA

<br>

Regression

<br>

Residual

<br>

Total

<br>

Intercept

<br>

X

<br>

Df

<br>

5

<br>

6

<br>

1.0415

<br>

SS

<br>

0.0099

<br>

6.192

<br>

4.808

<br>

Coefficients Standard Error

<br>

11

<br>

2.3772

<br>

0.0039

<br>

MS

<br>

6.192

<br>

0.962

<br>

|Average Mile/Gallon

<br>

t Stat

<br>

0.4381

<br>

|Sample Standard Deviation

<br>

6.439

<br>

F

<br>

i. Form the simple linear regression equation to determine the

<br>

price of the book based on the number of pages.

<br>

2.5375 0.05204

<br>

ii. Based on the regression model predict the price of the book if

<br>

number of pages equals 600.

<br>

iii. What is the coefficient of determination? Explain its meaning.

<br>

iv. Comment on the significance of the regression model and the

<br>

significance of the regression coefficient (X). Use a=0.10.

<br>

42

<br>

p-value

<br>

0.6796

<br>

4

<br>

bi Models of 3 cars (A, B, and C) were compared for gasoline

<br>

consumption. For each model of car, 15 cars were randomly

<br>

selected and subjected to standard driving procedures. The average

<br>

miles/gallon obtained for each mnodel of car and sample standard

<br>

deviations are shown below.

<br>

Significance F

<br>

0.0520

<br>

49

<br>

Car A Car B\Car C

<br>

5

<br>

44

<br>

3

<br>

(7.5)

<br>

Use the abovye data and test to see if the mean gasoline

<br>

consumption for all three models of cars is the same assuming a =

<br>

0.05 based on critical value approach, assuming tabulated value of

<br>

F=11.7.

<br>

(7.5)

<br>

C. Two major automobile manufacturers have produced compact cars

<br>

with the same size engines. We are interested in determining

<br>

whether or not there is a significant difference in the MPG (miles

<br>

per gallon) of the two brands of automobiles. A random sample of

<br>

eight cars from each manufacturer is selected, and eight drivers are

<br>



Selected to drive each automobile for a specified distance. The

<br>

following data show the results of the test.

<br>

Drivcr

<br>

8

<br>

3

<br>

1

<br>

4

<br>

5

<br>

6

<br>

Manufacturer A

<br>

32

<br>

27

<br>

26

<br>

26

<br>

25

<br>

29

<br>

31

<br>

25

<br>

Manufacturer B

<br>

28

<br>

22

<br>

27

<br>

24

<br>

24

<br>

25

<br>

28

<br>

27

<br>

1. Fornulate the hypothesis to prove the researcher's claim that

<br>

there is difference in the MPG (miles per gallon) of the two

<br>

brands of automobiles.

<br>

ii. Identify and compute the value of appropriate test statistic.

<br>

ii. At 90% confidence using the critical value approach is there

<br>

conclusive evidence to prove the researcher's claim.

<br>



t Table

<br>

cum. prob

<br>

one-tail

<br>

two-tails

<br>

df

<br>

11

<br>

12

<br>

13

<br>

14

<br>

15

<br>

2

<br>

26

<br>

60

<br>

80

<br>

100

<br>

1000

<br>

t 50

<br>

0.50

<br>

1.00

<br>

0.000

<br>

0.000

<br>

0.000

<br>

0.000

<br>

0.000

<br>

S0.000

<br>

0.000

<br>

0.000

<br>

0.000

<br>

0.000

<br>

0.000

<br>

0.000

<br>

0.000

<br>

0.000

<br>

U.00U

<br>

O.000 0.706

<br>

0.703

<br>

0.0000.700

<br>

0.000

<br>

0.000

<br>

0.000

<br>

0.000

<br>

0.000

<br>

0.000

<br>

0.000

<br>

0.25

<br>

0.50

<br>

0.000

<br>

1.000

<br>

0.000

<br>

0,816

<br>

0.000

<br>

0.765

<br>

0.000

<br>

0.741

<br>

0%

<br>

0.727

<br>

0.711

<br>

0.697

<br>

0.695

<br>

0.694

<br>

0.692

<br>

0.691

<br>

0.7180.906

<br>

0.8A

<br>

0.686

<br>

0.686

<br>

0.000 0.688 0862

<br>

0.000 0.688 0.861

<br>

0.685

<br>

0.000 0.681

<br>

0.685

<br>

0.000 0.679

<br>

t,80

<br>

0.20

<br>

0.683

<br>

0.40

<br>

1.376

<br>

1.061

<br>

0.678

<br>

0.978

<br>

-0.677

<br>

0.941

<br>

0.675

<br>

0.920

<br>

0.6900.865

<br>

0.689 SK0:863

<br>

0.889

<br>

0.876

<br>

0.873

<br>

0.870

<br>

.856

<br>

0.684 0.855

<br>

0.000 0.683

<br>

0.000 0.683 0.854

<br>

0.000

<br>

0.868

<br>

0.866

<br>

0.0000.6870.860 1.064 1325

<br>

0.684

<br>

0.6840

<br>

0.883 1100

<br>

0.859

<br>

0.858

<br>

0.858

<br>

0.857

<br>

0.856

<br>

0.855

<br>

0.854

<br>

0.851

<br>

0.848

<br>

0.846

<br>

t,85

<br>

0.845

<br>

0.15

<br>

0.8791.0931.372.1812

<br>

0.842

<br>

0.30

<br>

0.6740.842

<br>

50% 60%

<br>

1.963

<br>

1.386

<br>

1.250

<br>

1.190

<br>

1.156

<br>

1134

<br>

1.1191415

<br>

1108

<br>

1.088

<br>

1.083

<br>

1.079

<br>

1.076

<br>

1.074

<br>

10711.337.

<br>

1.069

<br>

1.067

<br>

1.066

<br>

1.063

<br>

1.061

<br>

1.060

<br>

1.059

<br>

1.058

<br>

1.058

<br>

1.057

<br>

1.056

<br>

-11

<br>

1.050

<br>

1.045

<br>

1.043

<br>

1.042

<br>

1.333

<br>

1.037

<br>

70%

<br>

t,95

<br>

0.05

<br>

1.296

<br>

0.10

<br>

1.292

<br>

6.314

<br>

1.290

<br>

2.920

<br>

1.282

<br>

2.353

<br>

2.132

<br>

2.015

<br>

1.943

<br>

1.895

<br>

1.860

<br>

1,833

<br>

1.796

<br>

1.782

<br>

1.771

<br>

1.761

<br>

1.753

<br>

1:703

<br>

1.701

<br>

1.05551:311 1.699

<br>

A740

<br>

1.734

<br>

1.729

<br>

1.725

<br>

1.721

<br>

1.717

<br>

1.315A706

<br>

1.714

<br>

1.708

<br>

1.684

<br>

1.671

<br>

t.975

<br>

1.664

<br>

0.025

<br>

1.660

<br>

0.05

<br>

1.646

<br>

12.71

<br>

4.303

<br>

3.182

<br>

2.776

<br>

2.571

<br>

2.447

<br>

2.365

<br>

2.306

<br>

2.262:

<br>

2:228

<br>

2.201

<br>

2.179

<br>

2.160

<br>

2.145

<br>

1.711 2.064

<br>

2.131

<br>

2.086

<br>

2.080

<br>

2.074

<br>

2.069

<br>

2.060

<br>

2.056

<br>

2.021

<br>

t,99

<br>

2.000

<br>

0.01

<br>

1.990

<br>

1.984

<br>

0.02 0.01

<br>

31.82

<br>

1.962

<br>

6.965

<br>

4.541

<br>

80% 90% 95%

<br>

Confidence Level

<br>

3.747

<br>

3.365

<br>

3.143

<br>

2.998

<br>

2.896

<br>

2.821:

<br>

2.718

<br>

2.681

<br>

2.650

<br>

2.624

<br>

2.093 2.539 2.861

<br>

2.602

<br>

17462120 2.583 2.9213.6864015

<br>

21102.5672.898 3.6463965

<br>

2.1012.552 2.878 3.610 3922

<br>

3.579 3.883

<br>

3.5523850

<br>

2.764t3.169

<br>

2.528

<br>

2.518

<br>

2.508

<br>

2.500

<br>

2.492

<br>

2.485

<br>

t,g95

<br>

0.005

<br>

2.423

<br>

4.604

<br>

2.390

<br>

4.032

<br>

2.374

<br>

2.364

<br>

3

<br>

2.330

<br>

355

<br>

3:250

<br>

63.66

<br>

9.925 22.327 31.599

<br>

5.841 10.215 12.924

<br>

8.610

<br>

3.106

<br>

3.055

<br>

37075,208

<br>

2499

<br>

3.012

<br>

2.977

<br>

2.947

<br>

2.845

<br>

2.831

<br>

2.819

<br>

2.807

<br>

2.797

<br>

2.787

<br>

t

<br>

-999

<br>

2.479 2.779 3.435

<br>

2.052 2.473 2:771 3.421

<br>

2.704

<br>

0.001

<br>

0.002

<br>

2.660

<br>

2.639

<br>

1.0551310.A6972.0422457:2.750 3.385 3.646

<br>

2.626

<br>

7.173

<br>

5.893

<br>

2.581

<br>

318.31 636.62

<br>

4.785

<br>

3.527

<br>

4.5

<br>

501

<br>

4.297 4781

<br>

4T444.587

<br>

3.505

<br>

3.485

<br>

t.9995

<br>

4.025 4.437

<br>

3.930 4.318

<br>

3.852 4.221

<br>

3.467

<br>

0.0005

<br>

3.787 4.140

<br>

3.450

<br>

2.048 2467. 2.763 3.408 3.674!

<br>

2.045 2.462 2.756 3.396

<br>

0.001

<br>

3.733 4.073

<br>

6.869

<br>

3.307

<br>

5.959

<br>

3.232

<br>

5408

<br>

3.195

<br>

3.174

<br>

5.041

<br>

3.819

<br>

3.792

<br>

3.768

<br>

3.745

<br>

3.725

<br>

3.707

<br>

3.690

<br>

3.659

<br>

3.551

<br>

3.460

<br>

3.416

<br>

3.390

<br>

4.0361282164519602.3262.5763,0903291!

<br>

3.098 3.300

<br>

98% 99% 99.8% 99.9%

<br>



Total No. of Pages 2

<br>

IlSEMESTER

<br>

END SEMESTER EXAIMINATION

<br>

PAPER CODE MGT 24

<br>

Time: 3:00 Hours

<br>

Roll NO...

<br>

MBA

<br>

May/JLne-2019

<br>

TITLEOF PAPER Business Environment

<br>

Allquestions carry equal marks.

<br>

Note : Q.6 is compulsory. Attempt any three out of the|

<br>

remainingquestions.

<br>

Max. Marks : 60

<br>

1. (a) Examine the criticality of the factors of internal and external

<br>

business environnent with respect to changing situations.

<br>

(b) What is the purpose of Business Environmental Scanning? How

<br>

will you overcome the uncertainties involved in it?

<br>

2. (a) What are the common threats that challenge any economy?

<br>

(b) What types of PoliticalRiska business is likely to face in a foreign

<br>

country? Explain in detail.

<br>

3. (a) What is a business cycle? Draw a hypothetical graph showing the

<br>

various phases .of business cycle. Explain taking example of any

<br>

business firm.

<br>

India.

<br>

(b) What issues should a business person consider while doing business

<br>

in a cross-cultural environment?

<br>

4. (a) What are the motives behind MNC's entering into another

<br>

country? What measures can be taken to restrict dumping by MNC's?

<br>

(b)Do you think that the recent developments in the US politics such as

<br>

the election of the new President and their policies will have adverse

<br>

impact on Global Outsourcing?

<br>

5. (a) What is the role of WTO in settling disputes regarding trade

<br>

policies of any country?

<br>

(b) Discuss the financing policies of World bank and its assistance to

<br>



-13
<br>

Ottcore Consultancy Services 'is in the IT sector. It is currently facing

<br>

portage of skilled manpower and is fuelling a hike in the employee

<br>

Dularies, which has been boosting a 10% to 40% growth during the last

<br>

upie of years, While there is an abundance of trainable human

<br>

ourCes, a dearth in the slcilled labour is being felt across the industry

<br>

and that has resulted in a hike in salaries.

<br>

Typically, salary jumps hajppen not only in the conventional manner of

<br>

PB promoted but also because of professionals changing jobs more

<br>

Tequently. The increase in salaries varies from job to job, and ranks

<br>

ghest in the IT sector where emplovees get ahike of over 40% when

<br>

ey join a new establishunent. There is no dearth in the entry level

<br>

numan resources as there is a large supply, but a severe shortage is felt in

<br>

the middle level positions.

<br>

According to M:. Raj. the CEO of Software, many new captive and third

<br>

party off-shore facilities that are being setup in the country have led to a

<br>

Competition for skilled human resources that are already scarce. This is

<br>

also leading to an ever-widening, demand-supply gap and a rise in the

<br>

average salary of all positions, apart frompushing up the attrition in the

<br>

existing facilities, he said.

<br>

There is a new trend of employees moving to MNCs abroad for higher

<br>

salaries and global experience. The salary package and the working

<br>

environment factor are far better in countries like United States as

<br>

compared- to India. Then returning to' India with a global experience

<br>

paves a way for a higher pay and better position.This is also one reason

<br>

for the shortage of skilled manpower and hike in employee salaries in

<br>

the IT sector.

<br>

Questions

<br>

a. What are the problems that the Software is facing? Suggest some

<br>

remedies for the same.

<br>

b. Do you support Globalization? Give reasons for the same.

<br>



Total No. ofPages( 2)

<br>

2nd SEMESTER.

<br>

END SEMESTER EXAMINATION

<br>

PAPER CODE : MGT-25 &

<br>

Time: 3:00 Hours

<br>

ENoteThere is

<br>

MBA (East Campus)

<br>

May:2018.

<br>

Roll No. .

<br>

TITLE OF PAPER: Knowledge and Intellectual Capital Management

<br>

Edtedyith tiie trlol v

<br>

Foxlt Advancod PDFI

<br>

To rericHehus notíce

<br>

(a)Describe the benefit of the Balance Scorecards. [5)

<br>

Max. Marks: 60

<br>

is choice in question seven only. Write neatly

<br>

preciselv:

<br>

.Highlight the keywords.

<br>

Q.1) The Royal Botanical Gardens has been established for more than 120 years

<br>

and has the following mission statement: "The Royal Botanical Gardens belongs to

<br>

the nation, Our mission is to increase knowledge and appreciation of plants, their

<br>

importance. and their conservation, by managing and displaying living and

<br>

preserved collections and through botanical and horticultural research." Located

<br>

towards the edge of the city, the gardens are visited regularly throughout the

<br>

year by many local families and are an internationally welI known tourist

<br>

attraction. Despite charging admission,it is one of.the top five visitor attractions

<br>

in the country. Every year it answers- many thousands of inquiries from

<br>

universities and research establishments, including pharmaceutical companies

<br>

from all over the world and charges for advice and access to its collection.

<br>

Inquiries include requests for access to the plant collection for horticultural work,

<br>

seeds for propagation or samples for chemical analysis to seek novel

<br>

pharmaceutical compounds for commercial exploitation. It receives an annual

<br>

grant in aid from Central Government, which is fixed once every five years. The

<br>

grant is due for review in three years' time. The finance director has decided that,

<br>

in order to strengthen its case when meeting the government representatives to

<br>

negotiate the grant, the management board should be able to present a balanced

<br>

scorecard demonstrating the performance of the gardens. He has asked you, the

<br>

senior management accountant,to hep him. Many members of the board, which

<br>

consists of eminent scientists, are unfamiliar with the concept of a balanced

<br>

SCorecard.

<br>

(b) Discuss the process you would employ to develop a suitable balanced

<br>

scorecard for the Royal Botanical Gardens and give examples of measures that

<br>

would be incorporated within it. [5]

<br>



Q2) Describe the codification and personalization strategy in knowledge

<br>

management.Explain the various methods used by Danone to enable KM in the

<br>

organization. [5+5=10]

<br>

Q.5) Describe Intellectual Capital, Relational Capital, Structural Capital, Social

<br>

Capital taking OLA as example. [2.5+2.5+2.5+2.5 =10 J

<br>

Q.4) WVhat is the role of RSCin a customer relationship ? What does an RSC ofTer

<br>

that is not already contained in client's SLÁS ? What opportunities and challenges

<br>

involved in building an RSC ? [3+3+4 =10]

<br>

Q.5) Critically analyse that whether Al be ultimately taking over the human

<br>

intelligence ?[5]

<br>

15
<br>

Q.6) What barriers knowledge manager faces while implementing the KM in the

<br>

organization ?[5]

<br>

Q.7)Explain any two of the following

<br>

a.) Peer Assist

<br>

b.) ERP

<br>

c.) Knowledge Map (5+5=10]

<br>



Total No. of Pages 3

<br>

IISEMESTER

<br>

END SEMESTER EXAMINATION

<br>

PAPER CODE MGT-26 &

<br>

Roll No...

<br>

Time: 3:00Hours

<br>

TITLE OF PAPER Operations and Supply Chain Management

<br>

|Note: Assume suitable missing data, if any.
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<br>

Q1. Short Answer Question's

<br>

(Attempt any 5 parts from (a)- (), 4 Marks each)

<br>

Read thè Instructions Carefully with each question

<br>

b. Inventory is a necessary evil. Explain.

<br>

Max. Marks: 60

<br>

(20)

<br>

a. Briefly describe the alternative methods of capacity build-up?

<br>

Discuss the advantages anddisadvantages of Expansionist versus

<br>

Wait-and-See expansion strategy.

<br>

C. Briefly discuss four dimensions of quality a consumer looks for in

<br>

manufactured products.

<br>

d. State the fundamental objective of a firm's location strategy.

<br>

Discuss two major factors that determine the selection of location

<br>

by an industrial goods-producing firm.

<br>

e. Define Supply Chain. What is the primary objective of a supply

<br>

chain? List the key attributes of an effective supply chain

<br>

management and important flows in the supply chains.

<br>

f. Briefly explain primary functions and relations between the

<br>

operations & supply chain management and marketing function of

<br>

an organisation.

<br>



L. Long Answer Questions

<br>

(Attempt any 3 parts from (a)- (d), 6 Marks caclh)

<br>

a. Describe the TQM philosoplhy and identify its major

<br>

characteristics. Why is Total Ouality'Managcmcnt
mucl more

<br>

effective than end ofproduction line inspcction?

<br>

b. What do you mean by facility layout planning? State any two

<br>

objectives of facility layout decision. Briefly dcscribc proccss and

<br>

product layout, giving an example of a suitable industry to whiclh

<br>

it is applicable.

<br>

C. Define Procurement. Discuss two functions of procurcment.

<br>

Different between the transactional and collaborativc supplier

<br>

relationship management.

<br>

d. What do you understand by selective inventorycontrol? Discuss

<br>

the ABC classification of inventory with an example.

<br>

Q3. Applications based questions

<br>

(Attempt any 2 from part (a) -(c))

<br>

i

<br>

a. A company is designing a product layout for a new product. It

<br>

plans to use this production line 8 hours a day in order to meet a

<br>

schedule of400 units per day. The tasks necessary to produce this

<br>

product are detailed in the table below.

<br>

Task Predecessor Time (seconds)

<br>

A

<br>

B

<br>

C

<br>

D

<br>

B, D

<br>

C, E

<br>

50

<br>

36

<br>

26

<br>

22

<br>

(18)

<br>

70

<br>

30

<br>

(22)

<br>

i. Draw the network diagram describing the precedence relation

<br>

given in the above table.

<br>

Without regard to a production schedule, what is the

<br>

minimum possible cycle timne (in seconds) for this situation?

<br>

What is the required cycle time (in seconds) in order to mect

<br>

the schedule?

<br>

b.

<br>

i.

<br>

i.

<br>

iii. Balance this linc with 4 work stations. Compute the

<br>

utilization ofcach workstation.

<br>

1

<br>

2

<br>

Discuss one application for both short-range and long-range

<br>

forccasts in operations and supply chain planning.

<br>

Sample

<br>

3

<br>

Use exponential smoothing with a = 0.2 to calculate

<br>

smoothed averages and a forecast for period 7 from the data

<br>

below. Assume the forecast for the initial period is 7.

<br>

Calculate the mean absolute parentage error for the

<br>

developcd forecasted model.

<br>

6

<br>

Period

<br>

|Demand

<br>

c. Webster Chemical Company produces mastics and caulking for the

<br>

construction industry. The product is blended in large. mixers and

<br>

then pumpcd into tubes and capped. Webster is concerned whether

<br>

the filling process for tubes of caulking is in statisticai control. The

<br>

process should be centered on 8 ounces per tube. Six samples of

<br>

eight tubes each are taken and each tube is weighed in ounces.

<br>

Draw control chart for range and conclude on process variability.

<br>

(Given D4= 1.864, D; =0.136)

<br>

1

<br>

7.98 8.34

<br>

7.89

<br>

8.24

<br>

2

<br>

8.23 8.12

<br>

7.87

<br>

1

<br>

8.13

<br>

8.18

<br>

8.13

<br>

8

<br>

3

<br>

8.14

<br>

Observations

<br>

4

<br>

8.02 7.94

<br>

8.44 7.68 7.81 8.11

<br>

7.98

<br>

8.41 8.31 8.18 7.99

<br>

8.06

<br>

7.77 7.91 8.04 8.00 7.89 7.93 8.09

<br>

7.838.05 7.90 8.16

<br>

7.97 8.07

<br>

7.927.99

<br>

8.10 7.81 8.14 7.83

<br>

8.11 8.13 8.14 8.12 8.138.14

<br>

12

<br>

6

<br>

6

<br>
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Q.1. Super Toys Ltd manufactures low-range mechanical toys. Fixed

<br>

costs amount to 27,00,000 per year. Variable costs per toy are 230,

<br>

and the average price per toy is 500.

<br>

a. How many toys must Super Toys sell to break-even?

<br>

b. If Super Toys sells 16,000 toys in a year, what is the operating

<br>

income?

<br>

a

<br>

C. If Super Toys' variable costs decrease to 200 per toy while the price

<br>

and Fixed costsremain unchanged, what is the new break-even point?

<br>

Q.2. Sagar Ltd. has outsourced the manufacturing of 20,000 units of a

<br>

particular spare part at the rate oft 35 per unit. There is a proposal that

<br>

the product be produced in the factory itself. For this purpose,

<br>

units

<br>

additional machine costing 5,00,000 with a capacity of 30,000 un

<br>

and a life of 5 years will be required. The firm will have to acquire funds

<br>

for this machinery and interest payable on the loan is 18% p.a. A

<br>

foreman with a monthly salary of 20,000 per month will have to be

<br>

engaged. The cost of materials required will be 6 per unit and wages

<br>

4.50 per unit. The variable overheads are 150% of labour and fixed

<br>

expenses will be recovered (a@ 200% of wages.

<br>

The existing Fixed costs of the firm are 1,00,000.

<br>

Advise the firm on whether to accept the proposal or not.

<br>



2.3. Deluxe Company produces a popular candy bar called Shiva. The

<br>

candy is produccd in India and exDOrted to the United States. Recently

<br>

tne company adopted thc following standards for one 5-ounce bar of the

<br>

candy:

<br>

Direct material (5.5 ouncc @t 40).

<br>

Direct labour (0.0S hour @t 26).

<br>

Standard Prime Cost

<br>

• Bars produced : 1,00,000

<br>

During the first week of operation, the company experienced the

<br>

following actual results:

<br>

• Direct labour:5200 hours at 25.50

<br>

• Ounces of Direct material purchased : 5,70,000ounces @t 45

<br>

There are no beginning and ending inventories of direct material

<br>

a) Compute price and usage variance for direct material

<br>

Administrative

<br>

expenses

<br>

b) Compute the rate variance and the efficiency variance for direct

<br>

labour.

<br>

Office salaries

<br>

Q.4. A department attains a sale of 60,00,000 at 80o of its normal

<br>

capacity and its expenses are asfollows:

<br>

General expenses

<br>

Depreciation

<br>

Rates and taxes

<br>

Amount )

<br>

F 220

<br>

9,00,000

<br>

2% of sales

<br>

1.30

<br>

T 221.30

<br>

75,000

<br>

87,500

<br>

Selling Costs'

<br>

Salaries

<br>

Travelling Expenses

<br>

Sales office expenses

<br>

General Expenses

<br>

Amount )

<br>

8% of sales

<br>

2% of sales

<br>

1% of sales

<br>

1% of sales

<br>

The distribution costs are wages- T 1,50,000; Rent-1% of sales; and

<br>

other expenses 4% of sales.

<br>

Draw up a flexible administration overhead, selling and distribution

<br>

overhead costs budget, operating at 80%, 100% and 110% of normal

<br>

capacity.

<br>



Q.5. Riverdale Printing firm has following data relating to one product,

<br>

Art OfDesign Book and the ABC cost pools:

<br>

Annual Production

<br>

Direct Material per unit

<br>

Direct Labour per unit

<br>

Cost Pool

<br>

Material ordering

<br>

Manufacturing Overhead cost pools:

<br>

Material

<br>

Inspection

<br>

Equipment setup

<br>

Quality Control

<br>

Other

<br>

Cost()

<br>

840000

<br>

525000

<br>

2500000

<br>

1000000

<br>

25000000

<br>

five cost pools.

<br>

40000 units

<br>

E37

<br>

T8

<br>

(a)Zero based budgeting

<br>

Cost Driver

<br>

No. of purchase

<br>

orders

<br>

No. of receiving

<br>

report.

<br>

No. of setups

<br>

No. of inspections

<br>

Direct Labour Cost

<br>

(b)Responsibility accounting

<br>

Q.6. Write short notes on any three)

<br>

AllBooks

<br>

120000 orders

<br>

2100 receiving

<br>

reports

<br>

125 setups

<br>

5000 inspections

<br>

12500000

<br>

Art of Design

<br>

1200

<br>

(c)Role of Management accountant in an organisation

<br>

(d)Sunk cost, Semi-variable cost and Irrelevant cost

<br>

(e)Fixed and flexible budget

<br>

315

<br>

(a)Calculate the overhead rate per unit of activity for each of the

<br>

1

<br>

500

<br>

(b)Calculate the total overhead assigned to the production of the

<br>

Art Of Design.

<br>

DirectLabour

<br>

7320000

<br>



Total No. ofPages 1

<br>

2nd SEMESTER

<br>

END SEMESTER EXAMINATION

<br>

PAPER CODE:MGT-28 &

<br>

Time: 3:00 Hours

<br>

Full Names

<br>

anctTOnes

<br>

IJTLEOF PAPER: Information Technology and Innovation

<br>

Management

<br>

Robert PhilI

<br>

Note Attempt any six questions from Q.2 to Q.8.

<br>

All questions from Q.2 to Q.8 carry equal marks.

<br>

RobertPhil

<br>

21

<br>

Q.1)Normalize the below table in third normal form [12]

<br>

Physical

<br>

Address

<br>

3e Street 34

<br>

First Street Plot Pirates of the

<br>

Caribbpan,

<br>

ESth Avenüe

<br>

Movies rented

<br>

examples.[6]

<br>

Cashofthe Titans

<br>

Forgettng Sarah

<br>

Marshal,

<br>

Daddy's Little Girls

<br>

Clashof

<br>

the Titans

<br>

Roll No.

<br>

MBA (East Campus!

<br>

Ms.

<br>

May-2019

<br>

Mr.

<br>

Q.5) Describe various data warehouse schemas [6]

<br>

Salutation

<br>

ME

<br>

0.2) Describe the ETL process."Name any two open source ETL Tools [6]

<br>

Max. Marks : 60

<br>

Category

<br>

Edtod with the trisi virsior

<br>

Fzis Advaced PUF Eto

<br>

To rorsg this ncasGe, ýizt

<br>

Romance,

<br>

Romance

<br>

1Action, Action

<br>

Action

<br>

Q.3) Describe S curve in the case of technological progress in the telecom industry by citing

<br>

Q.4) Apply Teece Model to predict the profitability of Apple iPhone in future. Suggest any

<br>

changes in iPhone model [6]

<br>

O.6) Explain how credibility lever will help in driving large level change in the organization. [6]

<br>

'0.7) Draw As-is process swimlane diagram of the Training and Placement process at USME and

<br>

write proper assumptions.[6]

<br>

o.8) Draw a blockchain conceptual schema of any one of the following and explain with proper

<br>

labelling the different entities
:

<br>

auto part supply chain managementof any automobile company or Performing KYCinanv

<br>

finance industry [6]

<br>



Total No. of Pages: 4

<br>

Course:

<br>

Max. Marks: 60

<br>

MBA

<br>

Subject/Paper: Project Management

<br>

i)With the

<br>

a. scoring

<br>

b. window-of-opportunity

<br>

Question 1: Give the best fit answer for each of 20 sub-questions in a table:

<br>

d. criteria-based

<br>

b

<br>

Delhi TechnologicalUniversity

<br>

Questions 1 to 3 are compulsory. Attempt any one of remaining from questions 4 and 5.

<br>

c. discovery-driven planning

<br>

approach model, enough funds are allocated to the project to determine ifthe initial

<br>

assumptions concerning costs, benefits, etc. were accurate. When the funds are gone, the

<br>

assumnptions are re-evaluated to determine what to do next.

<br>

C.

<br>

a. exclusively to the budget

<br>

End Semester Examination May 2019

<br>

USME, East Delhi Campus

<br>

ii)Effective Project Portfolio Management attempts to link the organization's projects

<br>

to the human resource constraints

<br>

a. An analytical approach

<br>

22

<br>

directly to thegoals and strategy of the organization

<br>

d. directly to the corporate culture

<br>

C. A systems approach

<br>

b. His or her positional power

<br>

d. A departmental approach

<br>

iii)As compared to the functional manager, the project manager should more often use what approach

<br>

to solving problems?

<br>

Semester: IV

<br>

c. Problem-solving ability, technical skills, modest opinion of self

<br>

Sub/Paper Code: MGT-41

<br>

Max Time: 3 Hours

<br>

iv)Which of the following choices represent the best mix of skills and attributes for Project Team

<br>

Members (PTMs)?

<br>

a. High technical skills, problem-solving ability, political sensitivity, goal orientation, high self

<br>

esteem

<br>

b. High technical skills, willingness to take orders from PM, self-control

<br>

d. Ability to take orders, good work habits, individual contributor

<br>

v)The process of managing risk in aproject is:

<br>

a. done at the beginning of the project planning cycle.

<br>

b. selected by the management team.

<br>

C. not part of the PMBOK.

<br>

(1x20 Marks)

<br>

d. a dynamic process throughout the project life cycle.

<br>

Page

<br>



vi)What is the RACImatrix?

<br>

ix)The

<br>

vi)One well-known effort to improve project management is the creation of a formal

<br>

Organizations, which is responsible for the evaluation and improvement of an organization's project

<br>

management "maturity" or skill and experience in managing projects.

<br>

e

<br>

a.

<br>

vii)The largest amount of effort applied to a project is during the

<br>

b.

<br>

C

<br>

a. Resource Allocation & Cost Inventory matrix

<br>

C

<br>

b. Matrix of Responsible and Certified Individuals

<br>

c. Responsible, Accountable, Consult & Inform matrix

<br>

d. Recentiy Added Control Incident reporting matrix

<br>

a. project management office

<br>

b. program management office

<br>

a.-schedule

<br>

C. project management consortium

<br>

d. Chief Project Manager position

<br>

a. conception

<br>

C. Organization chart

<br>

d. PERT Chart

<br>

b. planning,scheduling, monitoring, and control

<br>

C. selection

<br>

d. evaluation and termination

<br>

x)Which of the following is strongly recommended for managing projects?

<br>

C

<br>

budget

<br>

d

<br>

C.

<br>

Microsoft Project

<br>

The Normal Distribution

<br>

Simulation

<br>

Xi)Whena project is crashed it

<br>

is the key input for establishing the monitoring and control systems for the project.

<br>

b. is completed in less time.

<br>

is damaged badly.

<br>

-23

<br>

No single tool is always recommended. The PM should investigate several appropriate tools.

<br>

costs less.

<br>

d. has fewer activities

<br>

xii)Resource Levelling aims to minimize variations in resource usage by:

<br>

a Keeping resources constant

<br>

b. Shifting tasks within their slack allowances.

<br>

Eliminating slack

<br>

d. Signing fixed-cost contracts.

<br>

xii)A good project monitoring system will require

<br>

systems:

<br>

a) Greater up-front planning time & investment.

<br>

b) LeSs cost.

<br>

c) More time & money, but reduce risk to zero.

<br>

d) Outside consultants to manage them.

<br>

b. The 0-100 percent rule.

<br>

xiv)Percent completion is important in EVAand its calculation is estimated by:

<br>

The 50-50 rule.

<br>

phase.

<br>

The critical input use rule.

<br>

in many

<br>

as compared to commonly used

<br>

There is no universally accepted calculation for percent completion.

<br>
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<br>
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<br>
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Instructions :

<br>

Q.I[a]

<br>

[b]

<br>

Q.2[a]

<br>

[b]

<br>

Q.3[a]

<br>

[b]

<br>

Q.4[a]

<br>

[b]

<br>

Q.5[a]

<br>

-24
<br>

[b]

<br>

MBA (USME East pelhi Gampus)

<br>

May/June-2019

<br>

TITLE OF. PAPER: Entrepren eurship Development

<br>

Max. Marks :60

<br>

Answeralquestion (Total 5 questions, having a and b parts)

<br>

All questions carry equalmarks

<br>

Assume suitable missing data,if any.

<br>

How entrepreneurship is important for economic growth of the any

<br>

country?

<br>

Explain various Traits and Qualities of an Entrepreneur. Differentiate

<br>

between Manager, Administrator and Entrepreneur.

<br>

Differentiate between Entrepreneurs and Intrapreneurs and support your

<br>

answer with suitable example.

<br>

What should be various considerations which an entrepreneur considers

<br>

before launching any new business venture/ enterprise? Support your

<br>

answer with suitable example.

<br>

Explain various aspects of Business Feasibilities. How business

<br>

feasibility exercise by any entrepreneur affects their business success.

<br>

How business plan is formulated? Support your answer with suitable

<br>

example ofyour choice.

<br>

Explain' the role of Small and Medium Enterprises (SMEs) in the

<br>

economic development of India.

<br>

Explain various managerial issues in running SMEs.

<br>

What are the various institution and organisation which -supports

<br>

Management of Small Business in India, support your answer with

<br>

suitable example of your choice of only one such institute/organisation.

<br>

Why innovation is very important for any entrepreneur in free market

<br>

economy of any country? Support your answer with suitable example.

<br>
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Sunny

<br>

Outloolk

<br>

Sunny

<br>

Q1.Consider tlhe following datasct, where cach record represents the weather condition

<br>

and the class attribute shows whether people generally play sports in that weather

<br>

condition or not. Constnuct decision tree classifier using ID3 algorithm. Also, write

<br>

vatious rulc.

<br>

[10+2]

<br>

Sunny

<br>

NOTE: All Qnestions

<br>

Suitnble missing data
,

if any

<br>

Sunny

<br>

Sunny

<br>

Overcast

<br>

Rain

<br>

Overcast

<br>

Rain

<br>

Rain

<br>

Rain

<br>

Overcast

<br>

Rain

<br>

Overcast

<br>

Temperaturc(°F)

<br>

80

<br>

85

<br>

72

<br>

69

<br>

72

<br>

75

<br>

83

<br>

64

<br>

81

<br>

71

<br>

65

<br>

75

<br>

68

<br>

70

<br>

Max. Marks: 60

<br>

compulsory. Attempt any five questions. Assume

<br>

IIumidity (%)

<br>

70

<br>

90

<br>

85

<br>

95

<br>

70

<br>

90

<br>

78

<br>

65

<br>

75

<br>

80

<br>

70

<br>

80

<br>

80

<br>

96

<br>

May-2019

<br>

Busincss Intclligcnce

<br>

Windy

<br>

Truc

<br>

True

<br>

p.10.

<br>

False

<br>

False

<br>

False

<br>

True

<br>

False

<br>

Truc

<br>

False

<br>

True

<br>

True

<br>

Rul/Nu.

<br>

False

<br>

False

<br>

False

<br>

Class

<br>

Play

<br>

Don't Play

<br>

Don't Play

<br>

Play

<br>

Play

<br>

Play

<br>

MBA

<br>

Play

<br>

Play

<br>

Don't Play

<br>

Don't Play

<br>

Don't Play

<br>

Play

<br>

Play

<br>

Play

<br>

Q2. (i) Data warehousing is the only viable means to resolve the information crisis

<br>

and to provide strategic information. List two reasons to support this assertion and

<br>

[6]

<br>

explain them.

<br>

(ii) What are the three major types of metadata in a data warehouse? Briefly mention

<br>

the purpOse of each type. Also, give examples supporting each type of meta data.[6]

<br>

Q3. (i) Why is data integration required in a data warehouse, more so there than in an

<br>

operational application? Also, explain why data in data warehouse requires time

<br>

[61

<br>

element.

<br>

(ii) You are the data analyst on the project team of an insurance company. You are

<br>

buildinga data warehouse for a business intelligence system of thecompany. List the

<br>

possible data sources from which you will bring the data into your data warehouse.

<br>

Stateyour assumptions.

<br>

[6].

<br>



Q4. (i) BigBook, Inc. is a large book distributor with domestic and international

<br>

distribution channels. The company orders from publjshers and distributes publications

<br>

to allthc lending booksellers. Initially, you want to build a data warehouse to analyze

<br>

shipments that arc made from the company's many stores. Detrmine the metrics or

<br>

facts and the business dimensions. Prepare an information package diagram.

<br>

(i)-Explain the classification process with the help of a schematic diagram.

<br>

Record

<br>

RI

<br>

Q5. (i) Consider the following data set consisting of the marks the of two subjects of

<br>

seven individuals. Use k-ncans clustering two clustersthe following dataset.

<br>

Subject

<br>

2

<br>

R2

<br>

R3.

<br>

R4

<br>

R5

<br>

RG

<br>

R7

<br>

26

<br>

Trans D

<br>

2

<br>

6

<br>

7

<br>

9

<br>

Subject 1

<br>

1.0

<br>

2.0

<br>

4.0

<br>

7.0

<br>

5.0

<br>

5.0

<br>

4.5

<br>

Item ID

<br>

A,B,C.

<br>

B,D.

<br>

B,C

<br>

A,B,D

<br>

(ii) Explain any thrce adyantages off the STAR schema. Also describe the composition

<br>

of the primary keys for the dimension and fact tables.

<br>

A,C

<br>

B,C

<br>

Q6.(i) What do you understand by association rule mining? Apply Apriori algorithm

<br>

to the following dataset to find strong association rules. Assume min sup-25%

<br>

and min conf=80%.

<br>

A,C

<br>

A,B,C,E

<br>

A,B,C

<br>

1.0

<br>

(ii) Differentiate between OLAP and OLTP.

<br>

1.5

<br>

3.0

<br>

5.0

<br>

-END

<br>

3.5

<br>

4.5

<br>

[8]

<br>

3.5

<br>

[4]

<br>

[6]

<br>

[6]

<br>

[6]

<br>

[6]

<br>

Q7.() Why is the entity-relationship modeling technique not suitable for the dat=

<br>

warehouse? How is dimensional modeling different?

<br>

(ii)Explain how do you compute the dissimilarity between objects described by th

<br>

following type of variables: (a) Numerical variables (b) Asymmetric binary variable

<br>

(c) Symmnetric binary variables (d) Ratio scaled variables (e) Ordinal variables. [6]

<br>



Ramchandran

<br>

In the light of above statement, define potcntial appraisal and also

<br>

mention the rationale behind it. How is an cmploycc's potential

<br>

appraised? You can also explain your answer with some real-life

<br>

examples from corporate India.

<br>

QN. 6. What are the reasons for work-life imbalance of Indian

<br>

women professionals? Reflect on the evils of work-life imbalance on

<br>

women professionals in India. Suggest how to balance between work

<br>

life and home life of women professionals in India.

<br>

QN. 7. Who are Generation - Y employees? Highliglht their

<br>

salient characteristics, What are the key issues involved in managing

<br>

Generation Y employees?

<br>

---0--

<br>

Total No. of Pages: 04

<br>
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<br>

END SEMESTER EXAMINATION Ma -2019

<br>

MBA- BA

<br>

PAPER CODE: MB 201 & TITLE OF PAPER: Human

<br>

Resource Management

<br>

Time: 3:00 Hours

<br>

Max. Marks : 60

<br>

|Note: (i) Answer in allFIVE questions including Question Number 1

<br>

on Case study which is compulsory.

<br>

(i) Question no 1 on Case Study carries 20 marks and

<br>

question

<br>

Nos. 2 to 7 carry 10marks each.

<br>

QN. 1. Go through the following Case Study and answer the

<br>

questions given at the end of the study:

<br>

XYZ Limited is a public sector undertaking with a staff strength

<br>

of around 1,200 including 300 officers. As per the recruitment policy

<br>

of the Company, most employees join as. trainees and post

<br>

completion of training, are absorbed at the lowest level. Thus, most

<br>

start as Technician/Operator Trainees, and officers, as Management

<br>

Trainees. The company avoided the direct recruitments for higher

<br>

positions and endorsed the idea of internal job promotions and did

<br>

soonly in case of urgent requirements which could not be filled by

<br>

eligible candidates from within the organization..

<br>

In eighties, the company urgently needed one Junior Engineer

<br>

(Instrumentation) to take charge of one of its plants. At that timne,

<br>

the company had four Junior Engineers (JEs) in position who had

<br>

joined as Management Trainees and had been regularized just the

<br>

previous year. Immediately above them was an Assistant Engineer,

<br>

-27

<br>



-2%

<br>

who in turnreported to theProject Manager. The company released

<br>

an advertisement for the post of JE, seeking applications from those

<br>

with at least two years' experience in the field. One Mr. Ramesh

<br>

Chaudhari, who had four years' experience in a private concern

<br>

applied and was selected. He found the terms of appointment

<br>

lucrative and joined the company in September 1983. As four JES

<br>

were already working in the company, Chaudhari became the Junior

<br>

most JE. As per the promotion policy of the company; the four JES

<br>

would become eligible.for promotion to the post of 'Assistant

<br>

Engineer in 1986 (on completion of four years' service) and

<br>

Chaudhari in 1987.

<br>

InOctober 1984, the Assistant Engineer left his job and hence,

<br>

the company decided to fill the vacancy by direct recruitment. In the

<br>

advertisement it was stipulated that the applicants should have a

<br>

minimum of five years' experience. Chaudharimet the specification

<br>

since he had four years previous experience plus one year in XYZ Ltd.

<br>

Therefore, he applied for the post through proper channel. The

<br>

company decided to call the eligible candidates for interview.

<br>

Accordingly, Chaudhari was also called along with the external

<br>

candidates. He performed exceedingly well in the interview and was

<br>

found suitable for the post.The General Manager (GM), who was

<br>

chairman of the selection committee, congratulated Chaudhari and

<br>

told him that he had been selected.

<br>

However, the GM changed his mind subsequently and asked

<br>

appointment letter to

<br>

the Personnel Officer not to issue the

<br>

Chaudhari. He gave the following reasons for reverting his decision:

<br>

1. Mr. Chaudhari would get a higher post after completion of just

<br>

over one year's service in the organization as against the

<br>

normal requirement of four years.

<br>

2. When Mr. Chaudhari joined, he was junior to the four JEs by

<br>

about one year. If he was offered the higher post, he would

<br>

suddenly become their boss. Thi would demoralise the JEs-in

<br>

2

<br>

fact they had already decided to seek jobs elsewhere if

<br>

Chaudhari became Assistant Engineer.

<br>

The GM was convinced that he could not afford to lose four JEs

<br>

and therefore, he chose not to appoint Chaudhari.

<br>

Questions

<br>

1. If Chaudharihad been an external candidate, would he have

<br>

got the job? As an internalcandidate, did he deserve to be

<br>

treated in a different way?

<br>

2. Did the management make a mistake in calling Chaudhari for

<br>

an interview and selecting him,when he was "too junior" in

<br>

the organization?

<br>

QN. 2. "f Ihave six hours to chop down a tree, Iwould spend

<br>

the first four sharpening the axe."

<br>

-Abraham

<br>

Lincoln

<br>

In the light of this statement, appreciate the importance of human

<br>

resource planning (HRP) in modern day organizations. Also delineate

<br>

the HRP process generally followed by Indian business organizations.

<br>

QN. 3. What are the objectives of employee training?

<br>

Distinguish between training, development and education. Discuss

<br>

the steps involved in conducting a training programme in a

<br>

systematic way.

<br>

QN.4. ldentify the causes of employee grievance. Justify the

<br>

need for grievance redressal. Also, outline the grievance redressal

<br>

procedure followed by Indian organizations.

<br>

QN. 5. People are like icebergs. What you see. above the

<br>

surface (i.e. performance) is only a small part. A large part of the

<br>

attributes needed to perform excellently in a future job, which I call

<br>

potential, is not immediately visible. It is hidden below surface." - K.

<br>

3

<br>
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<br>

Time: 3:00 Hours

<br>

Note A auestions are compülsöFy

<br>

a) Time value of money

<br>

b) Profitability Index

<br>

Q.1 Write short notes on any three of following:

<br>

c) Wealth maximization

<br>

d) Trading on Equity

<br>

END SEMESTER EXAMINATION May/June-2019

<br>

Initial cost

<br>

Excellent

<br>

Good

<br>

I| SEMESTER, MBA(BA)

<br>

Average

<br>

Poor

<br>

MB-203 FINANCIAL MANAGEMENT

<br>

Q.2 A. Certainty Enterprises is considering two projects A and B with initial outlays ofR50,00,000o

<br>

and K60,00,000. The inflows of the projects are sensitive to the economic conditicns that are

<br>

expected to prevail over 10 years; the life of each of the project. The cash flows for the 4 different

<br>

economic conditions of Excellent, Good, Average and Poor with their respective probablitias are

<br>

as below:

<br>

Probability

<br>

Required rate of return is 15%.

<br>

-29

<br>

Certain

<br>

0.30

<br>

0.20

<br>

0.30

<br>

0.20

<br>

A

<br>

-50

<br>

15

<br>

12

<br>

10

<br>

Max. Marks: 60

<br>

(5 Marks each)

<br>

b) What NPV you expect for each of the project (ENPV)?

<br>

Cash Flows (RLakhs)

<br>

-60

<br>

18

<br>

14

<br>

12

<br>

a) What is the net present value of theprojects under the different economic conditions?

<br>

(6 Marks)

<br>

(2 Marks)

<br>

c) If the life of both projects was only 1 year, what would be risk associated with the project

<br>

(4 Marks)

<br>

based on standard deviation and coefficient of variation?

<br>



D. Tne mahagement of Capital Choosers Ltd has 5 projects A, B,; C, D and E on hand. The

<br>

initial outlays, annual cash flows and life of projects is given below:

<br>

Initial Outlay (RLakhs)

<br>

Expected annualcash flow

<br>

(RLakhs)

<br>

Life of project years

<br>

Project A

<br>

100

<br>

22

<br>

10

<br>

Plan A: To have full money from issue of equity

<br>

Project B

<br>

150

<br>

Output in Units

<br>

34

<br>

Plan C: To have full money from borrowings at 10% p.a.

<br>

Fixed costs

<br>

Variable cost/unit

<br>

Project C

<br>

175

<br>

Interest on borrowed funds

<br>

Selling price per unit

<br>

a) Find NPV and Profitability Index of each project assuming the cost of capital to be 15%.

<br>

b) Rank project on basis of Pl criteria. Which project will be chosen if there is a budget

<br>

constraint of R500 lakh and projects are divisible?

<br>

(3 Marks)

<br>

The company has present earnings of F150,000. The corporate tax rate is 50%.

<br>

4

<br>

Q.3.A. Bhaskar Manufacture Ltd. has eguity share capitalof K500,000 (face value ofR 100). To

<br>

meet the expenditure of an expansion program, the company wishes to raise 300,000 and is

<br>

having following alternatives as sources of funds:

<br>

6

<br>

a) Calculate EPS for all plans & advise the most suitable plan to raise required funds.

<br>

PlanB: To have 100,000 from eguity shares and 200,000 from borrowings from financial

<br>

institution at 10% p.a.

<br>

A

<br>

Project D

<br>

180

<br>

43

<br>

70,000

<br>

0.2

<br>

Q.3.B. Calculate the degree of operating leverage and degree of financial leverage according to

<br>

the datagiven below for companies A and B:

<br>

(3X2 = 6 marks)

<br>

10,000

<br>

5,000

<br>

0.6

<br>

Q.3.C. Financial leverage is a double-edged sword. Do you agree, why?

<br>

Project E

<br>

B

<br>

135

<br>

25,000

<br>

37

<br>

13,000

<br>

7

<br>

((3x 2)+2=8Marks)

<br>

1.5

<br>

18,000

<br>

(5 Marks)

<br>

5

<br>



Q.3

<br>

Probability

<br>

Brightways Ltd. faces three possible economic conditions very poor, poor, normal and good.

<br>

Brightways' possible level of sales and operating expnses with their probability of occurrence

<br>

are given in table below:

<br>

Sales

<br>

Costs:

<br>

Variable cost

<br>

Fixed cost

<br>

Total Cost

<br>

EBIT

<br>

ROI

<br>

0.10

<br>

The tax rate of 50%.

<br>

Expected Sales, EBIT, ROIl with associated probabilities

<br>

Normal

<br>

660

<br>

330

<br>

280

<br>

610

<br>

50

<br>

10%

<br>

Poor

<br>

OR

<br>

Poor

<br>

0.15

<br>

710

<br>

355

<br>

280

<br>

635

<br>

75

<br>

15%

<br>

The company is considering two financial plans:

<br>

3)

<br>

0.35

<br>

800

<br>

400

<br>

280

<br>

b) Prepare schedule of loan amortization

<br>

680

<br>

120

<br>

24%

<br>

0.30

<br>

880

<br>

c) Financial leverage is a double-edged sword. Do you agree?

<br>

440

<br>

280

<br>

720

<br>

160

<br>

32%

<br>

a) What are the effects of alternative plans on shareholders' earnings?

<br>

Good

<br>

0.05

<br>

1160

<br>

580

<br>

280

<br>

1. Raise entire funds by issuing 50,000 ordinary shares at 10 per share

<br>

2.Or to raise. 250,000 by issuing 25,000.shares of K10 each.and borrow 250,000 at 15%.

<br>

860

<br>

300

<br>

60%

<br>

b) Does state of economy have a bearing on choice of financial plan, please state in context

<br>

(3 marks)

<br>

of information given about Bright ways.

<br>

(2 Marks)

<br>

(10marks)

<br>

Q.4 A. Mr Sunil takes a loan of INR 100,000 at 14% rate of interest for purchasing ácar. The loan

<br>

has to be repaid over the next 5 years.

<br>

a) Estimate the equal annual instalment to be given by Mr Sunil to repay his principal plus

<br>

interest in the 5 years.

<br>

(3 Marks)

<br>

(5 Marks)

<br>

Q.4 B. How much amount should be invested now so that Mr Sunil receives INR 100,000 each

<br>

(2 Marks)

<br>

year in perpetuity at an interest rate of 10%?

<br>



eriod

<br>

5

<br>

4

<br>

6

<br>

7

<br>

8

<br>

11

<br>

10

<br>

13

<br>

14

<br>

17

<br>

Period

<br>

15

<br>

1

<br>

10

<br>

14

<br>

12

<br>

13

<br>

15

<br>

17

<br>

16

<br>

18

<br>

19

<br>

6

<br>

8

<br>

20

<br>

3

<br>

4

<br>

7

<br>

25

<br>

5

<br>

30

<br>

3 0.864

<br>

5%

<br>

0.952

<br>

0.907

<br>

en vaue interestfactor of an (ordinary)annuity of $1 por period at i% for n periods, PVIFA(i,n).

<br>

7%

<br>

0.935

<br>

1.808

<br>

19 0.396

<br>

3.387

<br>

4.767

<br>

2.624 2.577

<br>

3.312

<br>

5.389

<br>

5.971

<br>

4.100 3.993

<br>

6.515

<br>

7.024

<br>

7.499

<br>

7.943

<br>

8.358

<br>

8.745

<br>

9.108

<br>

9.447

<br>

9.763

<br>

10.059

<br>

10.336

<br>

10.594

<br>

9% 10% 11% 12% 13% 14% 15% 16% 17% 18% 19% 20%

<br>

0.917 0.909 0.901 0.893 0.885 0.877 0.870 0.862 0.855 0.847 0.840 0.833

<br>

1.759 1.736 1.713 1.690 1.668 1.647 1.626 1.605 1.585 1.566 1.547 1.528

<br>

2.531 2.487 2.444 2.402 2.361 2.322 2.283 2.246 2.210 2.174

<br>

2.140 2.106

<br>

3.240 3.170

<br>

3.102 3.037 2.974 2.914 2.855

<br>

3.890 3.791 3.696 3.605 3.517 3.433

<br>

4.486 4.355 4.231 4.111 3.998 3.889

<br>

5.033 4.868 4.712 4.564 4.423 4.288

<br>

5.146 4.968 4.799 4.639

<br>

5.537 5.328 5.132 4.946

<br>

5.650 5.426 5.216

<br>

5.938 5.687 5.453 5.234

<br>

5.029

<br>

6.194 5.918 5.680 5.421 5.197

<br>

6.424 6.122 5.842 5.583 5.342

<br>

6.628 6.302 6.002 5.724 5.468

<br>

6.811 6.462 6.142 5.847 5.575

<br>

7.379 6.974 6.604 6.265 5.954 5.668

<br>

7.549 7.120 6.729 6.373 6.047 5.749

<br>

8.201 7.702 7.250 6.840 6.467

<br>

8.365 7.839 7.366 6.938

<br>

8.514 7.963

<br>

9.077 8.422

<br>

11.258 10.274 9.427 8.694

<br>

0.926

<br>

0.505| 0.442

<br>

8%

<br>

1.783

<br>

4.623

<br>

5.206

<br>

5.747

<br>

6.247

<br>

6.710

<br>

7.139

<br>

7.536

<br>

7.904

<br>

8.244

<br>

8.559

<br>

8.851

<br>

6% 7%

<br>

0.943 0.935

<br>

0.890 0.873

<br>

0.840 0.816

<br>

0.823 0.792 0.763

<br>

0.784 0.747 0.713

<br>

0.746 0.705 0.666

<br>

9.122

<br>

9.372

<br>

9.604

<br>

0.530 0.469 0.415

<br>

0.350 0.296

<br>

0.331 0.277

<br>

20 0.377 0.312 0.258

<br>

25 0.295

<br>

0.233 0.184

<br>

5.535 5.335

<br>

5.995 5.759

<br>

6.418 6.145

<br>

6.805

<br>

7.161

<br>

7.487

<br>

7.786

<br>

9.818 9.129

<br>

11.654 10.675 9.823

<br>

12.409

<br>

8.061

<br>

8.313

<br>

8.756

<br>

8.950

<br>

6.495

<br>

8.544 8.022

<br>

7.824

<br>

5.889

<br>

6.814 6.492

<br>

7.103 6.750

<br>

7.367 6.982

<br>

7.606 7.191

<br>

6.207

<br>

32->

<br>

0.149

<br>

0.092

<br>

0.124

<br>

0.074

<br>

3.352

<br>

3.784

<br>

0.711 0.665 0.623 0.583 0.547 0.513 0.482| 0.452 0.425 0.400 0.376 0.354 0.333

<br>

.0.677

<br>

0.314

<br>

0.627 0.582 0.540 0.502 0.467 0.434 0.404 0.376 0.351 0.327 0.305 0.285

<br>

0.645

<br>

0.266

<br>

0.592 0.544 0.500 0.460

<br>

0.424 0.391 0.361 0.333 0.308 0.284 0.263 0.243 0.225

<br>

0.614 0.558 0.508 0.463 0.422 0.386 0.352 0.322 0.295 0.270 0.247 0.227 0.208

<br>

0.585 0.527

<br>

0.191

<br>

0.475 0.429

<br>

0.176

<br>

0.388 0.350 0.317 0.287 0.261 0.237 0.215 0.195|0.178

<br>

12 0.557 0.497 0.444 0.397

<br>

0.162 0.148

<br>

0.356 0.319 0.286 0.257 0.231 0.208 0.187

<br>

0.152

<br>

0.368

<br>

0.137

<br>

0.326 0.290 0.258 0.229 0.204 0.182

<br>

0.130

<br>

0.388 0.340 0.299 0.263 0.232 0.205 0.181

<br>

0.481 0.417 0.362 0.315 0.275 0.239 0.209 0.183 0.160

<br>

16 0.458 0.394 0.339 0.292 0.252 0.218 0.188 0.163 0.141

<br>

0.436 0.371 0.317 0.270 0.231 0.198 0.170 0.146 0.125

<br>

18 0.416

<br>

0.250 0.212 0.180 0.153 0.130

<br>

0.232 0.194 0.164 0.138

<br>

0.2150.178

<br>

0.146 0.116

<br>

4.160

<br>

4.487

<br>

0.116 0.098

<br>

4.772

<br>

0.104 0.087

<br>

5.019

<br>

0.059 0.047

<br>

6.550

<br>

7.469 7.025 6.623 6.259 5.929

<br>

7.843 7.330 6.873 6.464 6.097

<br>

8.055 7.496 7.003 6.566 6.177

<br>

2.798 2.743 2.690 2.639 2.589

<br>

3.199 3.127 3.058 2.991

<br>

3.589 3.498 3.410 3.326

<br>

4.039 3.922 3.812 3.706 3.605

<br>

4.207 4.078

<br>

3.954 3.837

<br>

Present value interest factor of $1 per period at i% for n periods, PVIFí,n).

<br>

3.274

<br>

3.685

<br>

6.128 5.818

<br>

8% 9% 10% 11% 12% 13% 14% 15% 16% 17%

<br>

0.926 0.917 0.909 0.901 0.893 0.885 0.877 0.870 0.862 0.855

<br>

0.857 0.842 0.826 0.812 0.797 |0.783 0.769 0.756 0.743 0.731

<br>

0.794 0.772 0.751 0.731 0.712 0.693 0.675 0.658 0.641 0.624

<br>

0.735 0.708 0.683 0.659 0.636 0.613 0.592 0.572 0.552 0.534

<br>

0.681 0.650 0.621 0.593 0.567 0.543 0.519 0.497 0.476 0.456

<br>

0.630 0.596 0.564 0.535 0.507 0.480 0.456- 0.432 0.410 |0.390

<br>

4.344

<br>

6.198 5.877

<br>

0.111 0.095

<br>

4.607

<br>

0.123

<br>

4.833

<br>

0.108

<br>

0.083

<br>

0.073

<br>

0.163

<br>

0.160 0.141

<br>

0.140

<br>

4.451 4.303

<br>

4.163 4.031

<br>

4.6594.494 4.339 4.192

<br>

4.836 4.656 4.486 4.327

<br>

4.988 4.793 4.611 4.439

<br>

5.118 4.910 4.715 4.533

<br>

5.229 5.008 4.802 4.611

<br>

5.324 5.092 4.876 4.675

<br>

5.405 5.162 4.938 4.730

<br>

5.475 5.222 4.990 4.775

<br>

5.534 5.273 5.033 4.812

<br>

5.584 5.316 5.070 4.843

<br>

5.628 5.353 5.101 4.870

<br>

5.766 5.467 5.195 4.948

<br>

5.829 5.517 5.235 4.979

<br>

0.123

<br>

0.107

<br>

0.168

<br>

0.145

<br>

18% 19%

<br>

0.847 0.840

<br>

0.718| 0.706

<br>

0.125

<br>

0.108

<br>

0.093

<br>

0.0930.080

<br>

0.069

<br>

0.081 0.069 0.059 0.051 0.044

<br>

0.070 0.060 0.051 0.043 0.037

<br>

0.061

<br>

0.051

<br>

0.043 0.037

<br>

0.031

<br>

0.038 0.030 0.024 0.020 0.016 0.013

<br>

0.111

<br>

0.609 0.593

<br>

0.516 0.499

<br>

0.437 0.419

<br>

0.370 0.352 0

<br>

0.116

<br>

0.296

<br>

0.249

<br>

0.099

<br>

0.209

<br>

0.124

<br>

0.104

<br>

.0.088

<br>

0.095 0.084

<br>

0.074

<br>

0.081 0.071 0.062

<br>

0

<br>

0.060 0.052

<br>
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Q1. Answer all the followinig questions:

<br>

TITLE OF PAPER- Dáta Warchousing and Data Mining

<br>

Max: Marks: 60

<br>

Note: Write your Roll no. on the top of this question paper.

<br>

Marks are indicated against ech question. Parts of a. question must be answered together.

<br>

33

<br>

b) Differentiate betwèen OLAP and OLTP systems.

<br>

a) Describe the characteristics of different categoriesof clustering algorithms.

<br>

d) What is principal component analysis?, Explain the steps involved.

<br>

c) Explain the architecture of a data mining syster with the help of a schematic diagram.

<br>

Q2.Attempt any fourout of the following:

<br>

Describe ROLAP and MOLAP models.

<br>

Cases.

<br>

e) Explain the representation of text documents; weightingscheme and retrievål of documents using

<br>

vector-space model with an example.

<br>

Roll No.

<br>

(5*4 marks =20marks]

<br>

Define data cube.Explain the operations of data cube with suitable examples.

<br>

c) Explain the different t

<br>

types of data transformation methods with exarmple.

<br>

Q3. Attempt any threeout of the following questions:

<br>

d) What is data discretization? Give two methods of concept hierarchy generation for numeric datá.

<br>

e) Describe indetail thie application ofdata mining in retail or financé setor by taking two scenario

<br>

[4* 4 marks =16 marks]

<br>

(i) Drawa'snowflake schema diagrám for the data warehouse.

<br>

a) Suppose that a data .warehouse for Big University consists of th following four dimensions:

<br>

student, course, semester,. and instructor, and two measures count and avg grade. When .at the

<br>

löwest conceptuál, level (e.g., for a given student, course, semester, and instructor combination),

<br>

the avggrade measure stores the actualcourse grade of the student. At higher conceptual levels,

<br>

avg grade stores the average grade for the given combination.

<br>

c) Explain different types of data mining functionalities with examples.

<br>

[3*6 marks= 18 marks]

<br>

(ii) Starting with the base cuboid [student; course;-semester; instructor), what speciflç OLAP

<br>

operations (e.g., roll-up from semester to year) should one perform in order to list the average

<br>

'gradeofCS courses for each Big University student.

<br>

b) Describe the k-means clustering algorithm in detail and give its limitations.

<br>



) Find the clusters from given.cuclidean distance matrix of six points by using single link

<br>

hierärchical clustering algorithm and draw the dendrogram.

<br>

Pi

<br>

P2

<br>

P3

<br>

P4

<br>

P5

<br>

:P.

<br>

0

<br>

a) What is data warehouse?

<br>

PlP2

<br>

0.24

<br>

Q4. Answer any three out of the following questions:

<br>

c) Describe binning with an example.

<br>

P3 P4: P5. P6

<br>

34
<br>

0.22:0.37 :0.34 .0.23

<br>

0.15 0.20 0.14 0.25

<br>

0.15 0.28 0.11

<br>

0

<br>

b) Discussthe issues tobe considerëd during data integration

<br>

d) Explain the types of sampling with anexample:

<br>

0.29.0.22

<br>

0.39

<br>

-0

<br>

[3* 2 marks = 6.marks]

<br>
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<br>

Lauren Home collcction. At n lowerprcepoint, nolo blue Inbels hnve becn developed,

<br>

and will be distributed exclusively in TRL stores in the USA, hnd in specialty stotes in

<br>

Europe, Asin and Australin. In nrangement with its licensce in department stotes, the

<br>

company has developed Lauren for women and Lauren bedding and bath prodncts.

<br>

The recently acquied club Monaco concent (formerly n fincen category Canadinn

<br>

company) has been ationalized to three cntegories ofmen's twomen's hnd nccessories.

<br>

This brand extension strategy has required and will continue to require, a very large

<br>

advertising budget. The company ses n combinntion of telcvision ond multi page

<br>

magazine advertising intends to illustrate the luxurious aspect of the brands.

<br>

Advertising expenses in 2002 amounted to almost $80 million, or approximately 4

<br>

percent ofnet sales.

<br>

The global strategy

<br>

Based on a belief that there are enormous opportunities in Westem Europe the

<br>

company has plans to open new Ralph Lauen stores in Europe through the next

<br>

several years. similarly development is planned in Asia, specifically in Japan, Hong

<br>

Kong and Korea, these latter countries being managed by licensed partners.Currently

<br>

, the USA accounts for almost 73 percent of company sales. Europe and Japa

<br>

represent approximately 10 percent cach, and Canada, Korea, Australia and other

<br>

small markets account for the remaining 7 percent of sales. Thus in the past Lauren

<br>

has relied heavily on US sales. Much of this has come fromn department stores.

<br>

Case Questions

<br>

What is the company's growth strategy, mention in brief ?

<br>

[6]

<br>

Company targets which segment of consumers for its lifestyle brands and why

<br>

do you think they select segment give reasons from firm's perspectives ? [8]

<br>

[iii] Company has major sales from US market i.e. 73%. Is it too much dependent

<br>

on one market and should it focus extensively on other market as well. Justify

<br>

your answer.

<br>

[6]

<br>

11100000000000R
<br>

Q.1

<br>

COURSE: INTERNATIONAT, MARKETING

<br>

SURITCT CODE. : MR -205

<br>

MAX MARKS:60

<br>

Q.2

<br>

Q.3

<br>

Q.4

<br>

DELIIT TECIINOLOGY UNIVENSITY

<br>

Q.5

<br>

USME, CAST DELII CAMPUS

<br>

END-TRM EXMINATION -2018-19 -

<br>

Sen -1D

<br>

ALL OUESTIONSARE COMPULSORY IN PARTA& B

<br>

PART A 5 QUESTIONS Org MARKS EACH

<br>

PART-A

<br>

Mcy- Jeyne

<br>

END SEMISTR

<br>

MAX TIME -180 MIN.

<br>

"Reduction in import tariffs has resulted in bringing up new non-tariffs

<br>

marketing business by developed countries". Critically examine the statement

<br>

with the help of illustrations from trade.

<br>

"Effective international marketing research is crucial to present marketing

<br>

failures". Justify the 1 statement with suitable examples.

<br>

As the international marketing manager of Avon bicycles, identify alternative

<br>

channels ofdistribution for bicycles in African countries. Develop criteria for

<br>

appropriate marketing channels.

<br>

"Communication is crucial to a fim's success in international markets".

<br>

Justify statement with suitable illustration from commercial movies.

<br>

Critically evaluate India's rise on the global stage and identify international

<br>

marketing opportunities in India.

<br>

(td

<br>

35

<br>
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<br>

SECTION-D (20 MARKS)

<br>

CASE STUDY (COMPULSORYY

<br>

PLANET RALIH: THE GLOBAL MARKTTING STRATEGY OF rOLO RALPiLAUREN

<br>

Dcirdre Bird, Providencc Collegc, and IIclen Caldwell, Providencc College

<br>

Polo Ralph Lauren PRL) is a highly succcssful US comnpany. Thc thirty-fifth

<br>

anniversary of the company has been covered in glowing terms across the globe. For

<br>

example, Ralph Lauren was interviewed for the prestigious British Broadsheet, The

<br>

Sunday Times, followed by a lecture at the British Museum in London. Vogue

<br>

magazine profiled Lauren as "The man behind the Mega-Brand" while making the

<br>

cover of both GQ (as a Man of the year) and Architcctural Digest. Timc magazine

<br>

presented Ralph Lauren as "A Bronx Cowboy in Europe," Outlining Lauren's rise

<br>

from Bronx kid Ralph Lifschitz to world famous designer Ralph Lauren.

<br>

Today's world of luxury in fashion

<br>

The primary customers for luxury products tend to be women aged between 30 and 50

<br>

in the upper income brackets
,

where the household earns over $ 100,000. In the USA

<br>

,
this categorization accounts for over fifeen million households. In the upper middle

<br>

category (with houschold incomes of $ 75,000 to $ 100,000), there are an additional

<br>

twelve million households. However, in what has come to be termed the

<br>

the

<br>

"democratization of Juxury, " people in all income brackets want to participate

<br>

luxury market, even if that means buying nothing more than a $4-chai latte at

<br>

Starbucks, or a $20 scarf at Gucci. Ralph Lauren recognized this himself when he

<br>

described the desire for luxury as "aspirational".

<br>

Approximately thirty five companics share 60 perccnt of the luxury goods market.

<br>

The six top competitors, one of which is Polo.Ralph Lauren, have annual revenues

<br>

greater than $1 billion; fifteen to twenty companies have revenues between $500

<br>

million and $1 billion. And ten have revenues between $100 nillion and $500

<br>

million. These companies tend to have a product focus and thus do not all compete on

<br>

cqual terms in the various luxury categories. For instance, Richemont, a Swiss

<br>

conglomerate, deals largcly in watches, jewclry, and writing instruments, with brands

<br>

such as Cartier, Piaget, and Mont Blanc. Hermes focuses on leather goods, selling

<br>

ladies' bags for upwards of $4000. LVMH is the industry leader in luxury goods,

<br>

followed by Richemont, and Gucci Group. Coming in fourth in the industry is Polo

<br>

Ralph Lauren.

<br>

The Polo Ralph Lauren Concept

<br>

PRL isa family controlled company, in that it's Chairman and CEO is designer and

<br>

founder Ralph Larucn. However, the company is quoted publicity on the New York

<br>

Stock Exchange. The company derives its revenues from three sources : retail,

<br>

wholesale and licensing The retail segment operates over 236 outlet and full price

<br>

stores, including the magnificent flagship stores in Manhattan, London, Paris, Boston

<br>

and Brusseles. Retails sales contributed almost $1 billion to revenue in 2002. The

<br>

wholesale segment consists of two units, Polo Brands and collection Brands, with

<br>

cach unit selling its own discrete brands to department and specialty stores, and to

<br>

PRL OWned and licensed retailstores. This segment is responsible for the majority of

<br>

the corporation's net sales (almost S1.2 Billion in fiscal yea 2002). The licensing

<br>

segment accounts for almost 10 percent of total sales, generating revenue from

<br>

royalties through licensing alliances, whereby the licensee is granted the right to use

<br>

the company's trademarks in connection with manufacturing and sales of certain

<br>

products in specific geographical areas. As a result of a corporate strategy of

<br>

increasing its global presence. PRL acquired its Italian licensee, Poloco S.A.S. thus

<br>

allowing for greater integration of its European wholesale operations.

<br>

The Polo Ralph Lauren strategy

<br>

PRL intents to grow by brand extension and by globalization. In its brand extensions
,

<br>

the company aims to expand by "creating luxury and lifestyle brands that inspire

<br>

people to live their dreams". The company has developed apparel labels which

<br>

segment the upper end of the luxury market into Prple Label, Women's collection

<br>

and black label, and in its home furnishings division it has developed the Ralph

<br>
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<br>

b. Inventory is a necessary evil. Explain.

<br>

C.

<br>

Ql. Short Answer Questions

<br>

(Attempt any 5 parts from (a) -(), 4 Marks each)

<br>

Read the Instructions Carefully with each question

<br>

Max. Marks: 60

<br>

a. Briefly describe the alternative methods of capacity build-up?

<br>

Discuss the advantages and disadvantages of Expansionist versus

<br>

Wait-and-See expansion strategy.

<br>

(20)

<br>

Briefly discuss four dimensions of quality a consumer looks for in

<br>

manufactured products.

<br>

d. State the fundamental objective of a firm's location strategy.

<br>

Discuss two major factors that determine the selection of location

<br>

by an industrial goods-producing firm.

<br>

e. Define Supply Chain. What is the primary objective of a supply

<br>

chain?

<br>

List the key attributes of an effectiye supply chain

<br>

management and important flows in the supply chains.

<br>

f. Briefly explain primary functions and relations between the

<br>

operations & supply chain management and marketing function of

<br>

an organisation,

<br>

-37
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Q2. Long Answcr Questions

<br>

(Attempt any 3 parts from (a)-(d), 6Marks cach)

<br>

a. Describc thc TM philosophy and identify its major

<br>

charactcristics. Why is Total Quality Managcmcnt much morc

<br>

cffectivc than cnd of production line inspectio?

<br>

b. What do you mean by facility layout planning? State any two

<br>

objectives of facility layout decision. Bricfly describe process and

<br>

product layout, giving an cxample of a suitable industry to which

<br>

it is applicablc.

<br>

C. Definc Procurement. Discuss two functions of procurement.

<br>

Different between the transactional and collaborative supplier

<br>

rclationship managcment.

<br>

d. What do you understand by selective inventory control? Discuss

<br>

the ABCclassification of inventory with an Cxample.

<br>

Q3. Applications based questions

<br>

(Attempt any 2 from part (a) - (c))

<br>

|Task Predecessor Time (seconds)

<br>

a. A company is designing a product layout for a new product. It

<br>

plans to use this production line 8 hours a day in order to meet a

<br>

schedule of 400 units per day, The tasks necessary toproduce this

<br>

product are detailed in the table below.

<br>

A

<br>

D

<br>

E

<br>

F

<br>

A

<br>

B, D

<br>

C, E

<br>

S0

<br>

36

<br>

(18)

<br>

26

<br>

22

<br>

70

<br>

30

<br>

(22)

<br>

i. Without regard to a production schedule, what is the

<br>

i. Draw the network diagram describing the precedence relation

<br>

given in the above table.

<br>

minimum possible cycle time (in seconds) for this situation?

<br>

What is the required cycle time (in seconds) in order to meet

<br>

the schedule?

<br>

b.

<br>

ii. Balance this line with 4 work stations. Compute the

<br>

utilization of cach workstation.

<br>

i.

<br>

ii

<br>

Discuss one application for both short-range and long-range

<br>

forccasts in operations and supply chain planning.

<br>

Usc cxponcntial smoothing with a = 0.2 to calculate

<br>

smoothed averages and a forecast for period 7 from the data

<br>

below. Assume the forecast for the initial period is 7.

<br>

Calculate the mean absolute parentage error for the

<br>

developed forecasted model.

<br>

Period

<br>

|Demand 10

<br>

Sample

<br>

1

<br>

2

<br>

3

<br>

5

<br>

C. Webster Chemical Company produces mastics and caulking for the

<br>

construction industry. Thc product is blended in large mixers and

<br>

then pumped into tubes and capped. Webster is concerned whether

<br>

the filling process for tubes of caulking is in statistical control. The

<br>

process should be centered on 8 ounces per tube. Six samples of

<br>

eight tubes each are taken and each tube is weighed in ounces.

<br>

Draw control chart for range and concude on process variability.

<br>

(Given D4= 1.864, D, =0.136)

<br>

6

<br>

1

<br>

8

<br>

8.23

<br>

3 4

<br>

7

<br>

3

<br>

7.87 8.13

<br>

Observations

<br>

5

<br>

5

<br>

12

<br>

8.12 7.98 8.41 8.31

<br>

7.89 7.77 7.91 3.04 8.00

<br>

8.24 8.18 7.83 8.057.90

<br>

6

<br>

6

<br>

7.98 8.34 8.02 7.94 8.44 7.68 7.81

<br>

9

<br>

8.11

<br>

8.187.99 8.06

<br>

7.39 7.93 8.09

<br>

8.16 7.97 8.07

<br>

7.92 7.99 8.10 7.31 8.14 7,38

<br>

8.13 8.14 | 8.11| 8.13| 8.14| 8.12 8.13 8.14

<br>
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<br>

0.1fa] Differentiate betwecen classification and regression algorithms in

<br>

machine learning.

<br>

(6)

<br>

174 161 167 171 163 141 147 154

<br>

[b] The average room prices (in US$) paid at hotel "Homeaway '" by

<br>

various nationalities while travelling abroad (away from their

<br>

home country) in 2018 were recorded as follows:

<br>

i)

<br>

ii)

<br>

MBA(Bustnoss Analytiesi

<br>

ii)

<br>

ii)

<br>

Roll No...

<br>

Compute Z score. Are there any outliers? Explain.

<br>

Describe the shape of the above data set.

<br>

Number of workers

<br>

Variances

<br>

Q.2[a]What is the difference in calculating average value through the

<br>

various measures of central tendencies (mean, median and mode)?

<br>

What are the advantages and disadvantages of each?

<br>

(6)

<br>

[b] Analysis of the monthly wages of twofirms gives the following

<br>

data:

<br>

Firm A Firm B

<br>

500

<br>

81

<br>

Average Wages (in INR) 186

<br>

Which firm pays out a larger wage bill?

<br>

600

<br>

100

<br>

175

<br>

(3)

<br>

In which firm does greater variability occur?

<br>

(3)

<br>

(2)

<br>

(2)

<br>

What is the avernge wage if firm A and firm B are

<br>

combined?

<br>

(2)

<br>

Q.3 An agent foT a residential real estate company in a suburb located

<br>

outside of Washington, DC; has the business objectives of

<br>

developing more accurate estimates of the monthly rental cost for

<br>

apartments. Towards that goal, the agent would like to use the size

<br>

-39

<br>



of an apartnent, s defined by squarc footage to predict the

<br>

monthly rental cost. The agent collects the following data of 7 onc

<br>

bedroomn apartmcnts:

<br>

i)

<br>

size(in'00sq.f.)

<br>

monthly rental cost(in'000$)698|11|4|

<br>

Construct a scatter plot.

<br>

Use least square method to determine the regression modcl

<br>

for the above problem.

<br>

ii) Interpret thc mcaning of tegression coefficicnts b, and b, in

<br>

this problem.

<br>

iv) Prcdict the monthly rent for an apartment that has size as 800

<br>

sq. ft.

<br>

Source

<br>

Regression

<br>

Eror

<br>

i)

<br>

Q.4ja] The residuals for 10 consecutive time periods are as follows:

<br>

78 9 10

<br>

Time Period 12 3 4|5 6

<br>

Residual -S4-3-2| -1|+1|+2 +3|+4| +5

<br>

Compute Durbin-Watson statistic to check the autocorelation

<br>

among theresiduals.

<br>

Total

<br>

ii)

<br>

[b]The following ANOVA summary table is for multiple regression

<br>

model with twoindependcnt vaiables. Complete the table and find

<br>

(6)

<br>

Adjusted R':

<br>

(3)

<br>

Degree of frecdom Sum of squares Mean

<br>

2

<br>

18

<br>

20

<br>

(3)

<br>

60

<br>

120

<br>

180

<br>

[b]Consider the following logistic regression equation:

<br>

(3)

<br>

Ln (Estimatedodds ratio)=0.1 +0.5x +0.2 x,

<br>

(3)

<br>

Q.5[a] A prospective MBA student wanted to predict starting salary

<br>

upon graduation, based on.progran per- year tuition. If RSS=21.8

<br>

and TSS-64 for this problem; determine the -coefficient of

<br>

(6)

<br>

determination R and interpret its meaning.

<br>

Squares statistic

<br>

(6)

<br>

If x=2and X,=1.5, compute the estimated odds ratio.

<br>

Interpret the meaning of the above logistic regression

<br>

coefficients.

<br>

(2)

<br>

(2)

<br>

ii) On the basis of results of (i), compute the estimated

<br>

probability of ancvent of interest.

<br>

(2)

<br>

0.6 Consider tlhe following correlation matriX, related to thrce.

<br>

variables with unitics in tie diagonal spaces:

<br>

Jariables

<br>

Variables

<br>

B

<br>

AI0000.7090.204

<br>

B0.709| 1.0000.051

<br>

c0204 0.051|1.000

<br>

Use the Principal Component Method of factor analysis

<br>

determine the factor lo:gsthe first Principal Coiponent for t

<br>

above natrix.

<br>



Total no. of Pages:01

<br>

2nd SEMESTER

<br>

END SEMESTER EXAMINATION

<br>

Time: 3:00 Hours

<br>

PAPER CODE :MB 208

<br>

Note: Answer any five questions.

<br>

TITLE OF PAPER: Changing Paradigm in Leadership

<br>

Allquestions carry equal marks. (5+5 = 10)

<br>

Roll na......

<br>

MBA (Analytics)

<br>

May/June-2019

<br>

Q.1 fa] What arc the different kinds of social Power?

<br>

[b]Discuss their suitability for different situations.

<br>

Mx. Marks: 50

<br>

Q.2 [a] What are the 7 constituent elements of a State according to the

<br>

Arthashastra?

<br>

Q.5 [a] How can --

<br>

goals

<br>

[b] Enumerate the essentials of Foreign Policy according to

<br>

Chanakya.

<br>

Q.3 [al Discuss Ethos, Pathos and Logos as means of persuasion.

<br>

[b] What are Inductive Reasoning and Deductive Reasoning?

<br>

Delaying

<br>

Q.4 fa] Highlight Creative tools that leaders can use for idea generation

<br>

to solve problems.

<br>

[b] Discuss the Benefits of Innovation in the organistional context

<br>

Gratification help a leader reach his

<br>

[b] Discuss i) the dark side of Charisma, ii) unethical persuasion

<br>

Q.6 [a] Explain the dimensions of Transformational Leadership

<br>

[b]Enumerate the differences between Transformational Leadership

<br>

and Transactional Leadership

<br>



6.1.a) Calculate intercept and slope parameters using MLB for the

<br>

following model.

<br>

6.1.b) Why MLE cannot be used for estimation in ARCH/GARCH

<br>

model?

<br>

6.2) (5 marks)

<br>

6.2.a) A coin is flipped 100 times. Given that there were 40 heads, find

<br>

the MLE for the probability p ofheads.

<br>

6.2.b) For exponential distribution, there were 10 observations as

<br>

described below:

<br>

Q7

<br>

X

<br>

Find MLE estimate for A.

<br>

(i)

<br>

Value 2

<br>

(ii)

<br>

3

<br>

7.1) (5 marks) Define following:

<br>

Multicollinearity

<br>

ARCH-in-mean

<br>

(iii) Unbiased estimates

<br>

3

<br>

(v) Type-1 error

<br>

|*

<br>

|

<br>

4

<br>

1

<br>

(iv) Log-Log transformation and interpretation

<br>

Xg 10

<br>

3

<br>

1

<br>

7.2) (5 marks) Define SLR for two variable model (y andx), next

<br>

define MLR using a three-variable model (y and x, X). When does

<br>

SLR and MLR estimates on slope estimate ofx, are equal? Define and

<br>

derive omitted variable bias for slope estimate of x, and use this

<br>

explain positive and negative bias.

<br>

(

<br>

Total No. of Pages4

<br>

IV SEMESTER

<br>

ENDSEMESTER EXAMINATION

<br>

PAPER CODE: MGF-08

<br>

Time: 3:00 Hours

<br>

TITLE Of Paper: Financial Modeling and Analysis

<br>

Note: Answer any 6 out of 7 questions

<br>

Q1)

<br>

All questions carry equal marks. (10)

<br>

Assume suitable missing data, if any.

<br>

Q2)

<br>

AX, = 31.03 –

<br>

Roll No.

<br>

1.1) (5 marks) What is meant by weak stationarity? Please write the

<br>

properties of integrated series.

<br>

se = (12.50)

<br>

((=)r

<br>

May/June-2019

<br>

1.2) (5 marks) From the U.K. private sector housing starts (X) for the

<br>

period 1948 to 1984, Terence Mills obtained the following

<br>

regression results:

<br>

0.188X,

<br>

(0.080)

<br>

MBA

<br>

(-2.35)

<br>

Max. Marks : 60

<br>

Note: The 5 percent critical t value is -2.95 and the 10 percent

<br>

critical t value is -2.60.

<br>

1.2.a. On the basis of these results, is the housing starts time

<br>

seriès stationary or nonstationary?

<br>

Alternatively, is there a unit root in this time series? How do you

<br>

know? (3 marks)

<br>

1.2.b. If you were to use the usual t test, the observed t value

<br>

statistically significant? On this basis, would you have

<br>

concluded that this time series is stationary? (1 mark)

<br>

1.2.c) What is meant by a trend-stationary process (TSP) and a

<br>

difference-stationary process (DSP)? (1 mark)

<br>

2.1) (5 marks) What is the eror correction mechanism (ECM)? What

<br>

is its relationship with cointegration?

<br>



2.2.a) (3marks)What is a random walk (model)? "Tor a random walk

<br>

stochastic proccss, the varianccis infinitc." Do you agrcc? Why?

<br>

2.2.b)(2 marks) What is the conncction bctwccn cointegration and

<br>

spurious regression?

<br>

Q3)

<br>

2.2) (5 marks)

<br>

3.1) (5 marks) For dependant variable Y, thrce models were estimated.

<br>

The results are given below:

<br>

Constant

<br>

X1

<br>

X2

<br>

X3

<br>

|X4

<br>

AdjustedR?

<br>

|F value

<br>

Model 1

<br>

39.4380 (20.2392)

<br>

0.0054 (4.4417)

<br>

0.2833 (9.9599)

<br>

0.7741

<br>

140.5332

<br>

4.1) (5 marks)

<br>

Model 2

<br>

40.5082 (20.8204)

<br>

0.0016 (3.4848)

<br>

3.1.a) Which model will you choose and why?

<br>

0.2499 (8.0803)

<br>

-6.28E-08 (-2.4060)

<br>

0.7892

<br>

101.0906

<br>

y=11.12 + 0.0713x, + 0.0202x,

<br>

(0 0125)

<br>

Model 3

<br>

43.1662 (10.0172)

<br>

0.0014 (2.6836)

<br>

0.1491 (1.0010)

<br>

-5.54E-08 (-1,9612)

<br>

0.0008 (0.6918)

<br>

3.1.b) On the basis of restrictedF test decided between nodel 1 and 2.

<br>

0.7904

<br>

3.2) (5 marks) List and explain desirable properties ofgood estimator.

<br>

Q4)

<br>

75.4496

<br>

4.1.a) What is the difference between t-test and F-test?

<br>

4.1.b) Using a data, following two regression results wereobtaincd

<br>

(Parenthesis include standard error of the estimator):

<br>

y= 11.19 + 0.0689x, + 0.0126x, + 0.00098x + 0.0144x, + 0.0108x5

<br>

(0.0161)

<br>

(0.00110)

<br>

(0.0026)

<br>

(5.21) (0.0121)

<br>

N=353, SSR = 183.186, R' = 0.6278

<br>

(0.0072)

<br>

N=353, SSR = 198.311, R2 = 0.5971

<br>

Test the statistical significance of x1,x, and x, individually and jointly.

<br>

While doing so, also write down the degrees of frecdom for test statistic

<br>

utilized to test the significance.

<br>

4.2) (5 marks)

<br>

4.2.a) Describe the nature of stochastic error term (2 marks)

<br>

4.2.b) What of goodness of fit? How appropriate is the game of

<br>

maximizing R²? (3 marks)

<br>

Q5)

<br>

5.1) (5 marks) State the linearity property of slopeparameter (B), state

<br>

the properties of linearweight parameter (k;). For the following data, find

<br>

out slope parameter (B) and k;s and using these prove the linearity

<br>

propcrty for slope parameter:

<br>

95

<br>

85

<br>

80

<br>

70

<br>

60

<br>

85

<br>

95

<br>

70

<br>

Q6)

<br>

65

<br>

70

<br>

5.2) (5 marks)

<br>

5.2.a) Write down the ARCH and GARCH models. What is the

<br>

condition of stationarity ofARCH and GARCH models?

<br>

S.2.b) Describe the steps involved in LM testing procedure in testing

<br>

for ARCH effects.

<br>

6.1)(5 marks)

<br>



Total No. of Pages:01

<br>

4th SEMESTER

<br>

END SEMESTER EXAMINATION

<br>

Time: 3:00 Hours

<br>

PAPER CODE: MGH-07

<br>

Note: Answer any five questions.

<br>

Roll No.....

<br>

TITLE OF PAPER:Performance Management

<br>

Allquestions carry equal marks. (6+6 = 12)

<br>

MBA

<br>

May/June-2019

<br>

Max. Marks: 60

<br>

Q.1 [a]What are the stepS needed to build an effective workforce for an

<br>

MNC?

<br>

[b] What factors should be considered in the selection of an

<br>

expatriate (person staying outside native country)?

<br>

Q.2 [a] Define HRM and outline its Objectives and Features.

<br>

[b]Why has the HRM function increased in stature and influence in

<br>

many organisations?

<br>

Q.3 [a] What are the Objectives of Compensation Planning system?

<br>

[b] How do organisations conduct Wage and salary surveys?

<br>

Q.4 [a] What are the characteristics of an Effective Performance

<br>

Appraisal System?

<br>

[b]Discuss i) 360 degree Feedback System; and i) Confidential

<br>

Report evaluation method

<br>

Q.5 [a] Enumerate the benefits of Training for Employees and the

<br>

benefits to Employers

<br>

[b] How are Training and Development different from one another?

<br>

Q.6 [a] What are the factors influencing Compensation Levels?

<br>

[b] Discuss the reasons for Wage Differentials in organisations.

<br>



Total No. of Page: 2

<br>
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<br>

4tl Semester MBA

<br>

END SEMESTER EXAMINATION- May 2019

<br>

PAPERCODE: MGH-08

<br>

PAPER-Training and Development

<br>

Time: 3:00 Hours

<br>

All Questions are compulsory.

<br>

Max. Marts: 60

<br>

(6*5=30 Marks)

<br>

1. Comment on following real life business problems.

<br>

a) Assume that you have to prepate older employees with little

<br>

computer experience to attend a training program on use of internet.

<br>

How will you ensure their high level readiness for training? How

<br>

willyou determine their readiness for training?

<br>

b) Assume that you are training a group of employees to repair a loose

<br>

wire in an electrical socket. After demonstrating the procedure, you

<br>

let the trainee to do it. Trainee correctly demonstrate the process and

<br>

repairs the connection in first attempt. Has lerning occurred?

<br>

c) There is an increase in number of complaints by various departments

<br>

regarding delays in filling up of vacancies: Long recruitment cycle.

<br>

You as the head of the department want to identify the reason for

<br>

this issue. Identify the dimensions that you would explore in order

<br>

to nip the problem being expressed.

<br>

d) Assume that you are working as Training Manager in

<br>

manufacturing company. Management hassignificantly reduced the

<br>

training budget for the year. Discuss how would you utilize the

<br>

technology-based training methods to address the issue of resource

<br>

constraint.

<br>

e) A company has recently hired 100young employees to head its 100

<br>

branches. These branches are already manned by employees in their

<br>

late forties and fifties. As head of Learning and Development

<br>

departnent, what type of management development program will

<br>



46

<br>

you introduce to help young recruits to gain acceptance and

<br>

appreciation ofmore experienced and aged employees.

<br>

2. Assessment of training need is the first and most important step in

<br>

designing a training program'. Elaborate the statement? How e-learning

<br>

is poised to revolutionize the domain of trainingand development in India.

<br>

(3+7=10 Marks)

<br>

3. Why should we consider age and generationaldifferences as part of

<br>

need assessment? Discuss the relevance of self-efficacy in training need

<br>

assessment.

<br>

(5+5=10 Marks)

<br>

4. Discuss various models of training and development. Discuss

<br>

significance of pre-training preparation for trainer and trainee both.

<br>

(6+4=10 Marks)

<br>
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<br>
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<br>
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47

<br>

MBA (East Campus)

<br>

Roll No,

<br>

Q.1)Explain the StrategicImportance of Collaboration in E-Governance [6]

<br>

Note: Attempt any one question in between Q.6 and 0.7

<br>

Q.4)Explain the SAP-LAP framework with an appropriate example [12]

<br>

May-2019

<br>

Q.2) Explain the significance of Feedback system in improving E-Governance Performance [6]

<br>

Max. Marks: 60

<br>

Q.3) Describe how the competence level of actors influence the E-Governance Project [12]

<br>

Q.5)Expiain the drivers.of E-Governance project performance indetail [12])

<br>

Q.7)Conduct Environment Analysis for any E-Governance project [12]

<br>

Q.6)Draw the Hypothesis for measuring performance parameters in NAM project and explain with

<br>

logic (micro and macro variables) why particular hypothesis is taken [12]

<br>



IVth SEMESTER

<br>

END SEMESTER EXAMINATION

<br>

MGI-1O

<br>

Time: 3:00Hors

<br>

Q1. Answer the questions following:

<br>

()

<br>

NOTE: Question 1 is compulsory. Attempt any 5 questions from the

<br>

remaining. Assume Suitable missing data,if any

<br>

(i)

<br>

(iii)

<br>

(iv)

<br>

Id

<br>

Customer

<br>

2

<br>

3

<br>

4

<br>

5

<br>

6

<br>

Q2. a)Consider the following dataset for a credit card promotion company. The credit

<br>

card company has authorized a new life insurance promotion. We are interested

<br>

in building a classification model for deciding whether to send the customer

<br>

promotional material. Build a Naive Bayes classifier and predict the label of the

<br>

[6]

<br>

following record. X= (MP=Y WP=Y,CCI=N, S-F).

<br>

7

<br>

9

<br>

10

<br>

What do you understand by cross-validation? Explain its types. [31

<br>

Why accuracy is not a suitable performance metric to evaluate a classifier

<br>

developed from imbalanced data.

<br>

Magazine

<br>

Differentiate between tacit and explicit knowledge.

<br>

Differentiate between data, information and knowledge with the help of a

<br>

example.

<br>

Promotion

<br>

(MP)

<br>

Y

<br>

E-Learning and Knowledge Management

<br>

Max. Marks: 60

<br>

N

<br>

N

<br>

Y

<br>

N

<br>

Watch

<br>

Promotion

<br>

(WP)

<br>

N

<br>

N

<br>

Y

<br>

N

<br>

N

<br>

N

<br>

Credit card

<br>

Insurance

<br>

(CCI)

<br>

May-2019

<br>

N

<br>

N

<br>

Y

<br>

zzzz

<br>

ABA

<br>

M

<br>

M

<br>

M

<br>

Gender (G) Life Insurance

<br>

F

<br>

M

<br>

[3]

<br>

M

<br>

M

<br>

[3]

<br>

[3]

<br>

Promotion

<br>

N

<br>

zz>zz

<br>

Y

<br>

N

<br>

N

<br>

Y

<br>

b)Explain with the help of an schematic diagram various steps to develop a prediction

<br>

model.

<br>

[6]

<br>

Q3. Perform a complete forward and backward sweep of the feedforward network

<br>

shown below using the back-propagation algorithm. The activation function in all

<br>

the neurons are log-sigmoid functions. Assume target output =0.9, T= 0.25. [12]

<br>



+1 b,e01

<br>

X =0.1

<br>

X0.9

<br>

+1

<br>

W, -0.2

<br>

at0.I

<br>

W,,= 0.3

<br>

b,= 0.1

<br>

1

<br>

Instance

<br>

3

<br>

Q4. a) How the knowledge is created in an organization? Explain the steps involved in

<br>

knowledge creation. Also, cxplain the Knowledge Managemcnt System Lifc Cycle. [6]

<br>

b) What is the problem of learning with the imbalanced data? What are the various ways

<br>

to dal with this problem? Explain any one techniquc with the help of an example.[6]

<br>

5

<br>

Q5. a) What is bias and variance? Also, discuss bias-variance trade-off with the help of

<br>

an exanple.

<br>

b) Describe the various components of knowledge management.

<br>

6

<br>

7

<br>

9

<br>

Q6. a) What do you understand by unsupervised learning? Explain any two examples of

<br>

unsupervised learning.

<br>

[6]

<br>

b) Consider the following data points. Al(2; 10); A2(2; 5); A3(8; 4); BI(5; 8); B2(7; 5);

<br>

B3(6; 4); C1(1; 2); c2(4; 9). The distance function is Euclidean distance. Use the k

<br>

means clustering to cluster the above data sct (use k =2).

<br>

al

<br>

n

<br>

T

<br>

na

<br>

Q7.a) Consider the training examples shown in the table for a binary classification

<br>

problem.

<br>

T

<br>

F

<br>

F

<br>

W,o.2

<br>

T

<br>

F

<br>

W,,a
0.3

<br>

a2

<br>

T

<br>

F

<br>

T

<br>

F

<br>

a3

<br>

1.0

<br>

6.0

<br>

5.0

<br>

4-1

<br>

4.0

<br>

|b,-o.2

<br>

7.0

<br>

3.0

<br>

8.0

<br>

7.0

<br>

y.

<br>

5.0

<br>

[6]

<br>

Target class

<br>

[6]

<br>

+

<br>

[6]

<br>

[6]

<br>

(i)What is the entropy of above collection of traíning examples w.r.t the +ve class?

<br>

(ii) What are the information gain ofal and a2 relative the these training cxamples?

<br>

b)How the knowlcdge is created in an organization? Explain the steps involved in

<br>

knowlcdge creation.

<br>

END

<br>

[6]

<br>



Course: MBA

<br>

Subject: Marketing of Services

<br>

Maximum Marks: 60

<br>

Case:

<br>

50

<br>

Note: Answer allthree questions. Some questions have å choice and each answer must be

<br>

marked with the appropriate question number for the choice of question attempted.

<br>

Questions have to attempted based on the case situation given below:

<br>

The hassle of buying: A customer interview

<br>

Semester: IV

<br>

Subject code: MGM09

<br>

Maximum Time:3hours

<br>

The shop floor design of the Scandinavian home goods stores forces you to walk through every

<br>

single display area. You have to spend hours there, even ifyou just want to buy a single piece of

<br>

furniture. Customer services are very limited, and once you've selected items from the huge

<br>

storage area, managed to put them in or on your cart, waited in the long queue to check out and

<br>

arranged any delivery and installation, you stillwait for another week to get your furniture fixed

<br>

and ready for use. There's even another stop ifyou need an official invoice ofyour purchase., It is

<br>

an inconvenient and time-consuming in-store experience.

<br>

Every

<br>

time Ishop at this store I swear I won't be back again. But Ikeep coming back.

<br>

"Peak-end rule"

<br>

In what has come to be known as his "peak-end rule," Noble prize-winning psychologist Daniel

<br>

Kahneman pointed out people could remember only two things during an experience process:

<br>

how we feel at the peak (no matter whether the ultimate experience was good orbad) and at the

<br>

end. These peak-end feelings summarize our whole experience process and are stored in our

<br>

brain at a subconscious level. These feelings will eventually direct ournext buying decisions;

<br>

whereas, theproportion and duration of pleasure orpain throughout the whole experience

<br>

process do almost nothing to ourmemories. We rememberonly the peak and the end.

<br>

Think about my experience at this store. Though my disappointments make absolute sense, it's

<br>

actually mypeak-end experience that takes charge and drives me to go back again. So what's my

<br>

peak-end? To me, it's the value ofthe products for the moneyIpay, the free-to-trial shopping

<br>

experience and the effective display that
demonstrates practical and efficient use ofthe products.

<br>

What's more, the canteen is good, as is the 10-cent ice-cream Ibuy at the exit counter! In my

<br>

case, mypeak-endmemoriesoverrideany unpleasant feelingsand evolve into apositive

<br>

experience that drivesme back.

<br>

There are threeessential elements: the peak and end (most
memorable)

experiences; brand

<br>

values; and
consumer needs. Iwould expect any brand that wants to get my business would have

<br>

todeliveryourmostunique brand valuesand meet (orexceed) the mostcriticalneeds and

<br>

expectations ofyour target
çustomers throughpeakand end

experiences.

<br>
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<br>

Q1. Which theory of services domain would help frame an effective experience for this

<br>

customer, as described in the first paragraph of the case?

<br>

a) Name the theory and its broad characteristics 12 marks

<br>

b) Describethe relevant partsof that theory which relate to the situation in this paragraph 12

<br>

marks

<br>

Q2. f you were to design a store experience for the above situation, describe the following:

<br>

a) How would you create aservice blueprint or servicescape? Describe the process and key

<br>

elements. 12 marks

<br>

Or

<br>

b) What is the process of creating a new serviceproduct? Describe all stages brieflyl2

<br>

marks

<br>

Q3.Answer any two of the following questions, in terms of your managerial response to the

<br>

above situation:

<br>

a) What would be the key aspects of mapping service touchpoints when designing the

<br>

experience for above situation, given the "peak end" experience framework? How does

<br>

thisrelate to identification ofkey attributes, using the quality theory/practices? 12 marks

<br>

b) How would Russell's framework help design such a service? How does that help design

<br>

delight points and manage expectations? 6 + 6 marks

<br>

c) What isthe concept of service value? How does the concept explain why the customer

<br>

would keep going back to the store? 6+6 marks

<br>

d) Explain through the gap model, which service gap areas the store should focus on if they

<br>

want to create aservice delivery that exceeds expectations at every service touchpoint at

<br>

all stages of the customer journey through the store.

<br>



TotalNo, ot Page 2

<br>

PAPER.CODE: MGM 10

<br>

Time: 3:00 Hours,:"

<br>

ÜSME, DTU Last Campus

<br>

4th Semcster MBA

<br>

END SEMESTEREXAMINATION- MAY2019

<br>

Note: Wirite your Rollno. on the top of this question' påper:

<br>

Marks arie indicated against cnch question: Parts of a.question must be answered together.

<br>

QI.Diferentiatë bètiveei the following with the helpof suitable exampls:

<br>

(Atteimptany fouroof the following)"

<br>

TTLEOF PAPER- Digital Märketing

<br>

Max. Marks:60.

<br>

44marks16marks]

<br>

a) Hoûse of Brands and Branded Housestrategis in thcontextofthe virtual medium

<br>

offered bytheinternet. Üecorporateexamples to illustrátethe point,

<br>

b) Explicit and.implied cosuner online behaviour

<br>

c) Creativity driven challenges and Solution-drivn challenges in the contextof branded

<br>

challenges on niche crowd-sourcing önline platforms.

<br>

) Operational, Analytical and Collaborative ÇRM

<br>

ej Determinitic and Non-deterministi Targeting?

<br>

pages. :

<br>

importance.

<br>

consumr co-creation modelbasd on Metcalf law.

<br>

RollNo.

<br>

Q2. Attenpt any fiveout öfthefollowing questions:

<br>

a) What is Metcalf Law? Discuss how- comimunity network value is determined using

<br>

b) Apply random surfer nodelon the. folloying figure to determin thë page iank, the:

<br>

most and'the leást important webi pages amongst the followingA,B,C;and D web

<br>

Conitrást these reults with theone that üses total :degree as the. web page

<br>

B

<br>

D

<br>

[5*4marks-20 marks

<br>

c) Describe themodel to neasure campaign effectiveness usingquantitativetag analysis:

<br>

(TE-BF). Howwould youmeasure theinter-campaigi similarity

<br>

d) Explaii any twoimiportantBlackHt Tactics with éxamplés.

<br>



a publisher thèCPMrats ärc Rs60 and CPC is RS 6:Theàveräge CTR of display

<br>

ads is 0.2 per cent. Discuss the implicatiohs, of CTR.on CPC and CPM and. which

<br>

buying nödel would bebetter for-the marketer in this case., In gneral, which of the two,

<br>

models-CPabd CPM; is morejpreferable forbrandbuilding

<br>

iirposé and which one is

<br>

Fori

<br>

peferable forthe loestdelivering highest ROI?

<br>

Discuss the wèbsit dimensiöis ihat contribute to' the brand in online space through

<br>

trafic building and giv some imetrics fof each diriension.

<br>

Q3. Attempt any threeout ofthe following questions:.

<br>

a) ustrate with an example theuseof keywordfunhel (using the'AIDA franework) for

<br>

a newsnartphoneentrant in a competitive market.

<br>

b) :Whàt are thedifferent $EO-phases? Explain website .auditand.its main elements fo

<br>

SEO.

<br>

)Explain how Ad Rank is computed in Ad. Auction Model? What are the primacy.

<br>

effectsonAdRank?

<br>

d) Write short note ön the, following:

<br>

)Netnography:

<br>

Folksonomies

<br>

(iii) Cyberbranding

<br>

.Q4. Answer all the.following questions:.

<br>

3*"6-márks=18 mrks]:

<br>

a) Describe the rolëof coökies inonline CRM:

<br>

b)What are thefators that affëctEdgRänk on facebook?

<br>

c) What are CRM processes?

<br>

3*2 marks 6 marks)

<br>
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<br>
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<br>
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END SEMESTER EXAMINATION May/June-2019
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<br>
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<br>

MGS-07 Supply Chain Strategy & Innovation

<br>

Note : Answer any 6 questions

<br>

Allquestions carry 10 marks.

<br>

Assume suitable missing data, if any.

<br>

Max. Marks :60

<br>

Q.l[a] Assume a new iPhone is expected to hit the market. Briefly de

<br>

scribe its demand and supply characteristics throughout the prod

<br>

uct life cycle.

<br>

(5)

<br>

[b]Ryder Dedicated Logistics is a 3PL provider with a 7 year contract

<br>

to design manage and operate all of Whirlpool Corporation's in

<br>

bound logistics. What are the advantages and disadvantages of this

<br>

arrangement?

<br>

(5)

<br>

Q.2[a] Apply the Ansoff matrix to organizational supply chain' strategies.

<br>

Briefly explain the model with relevant examples.

<br>

[b]Compare efficient and responsive supply chains.

<br>

(5)

<br>

(5)

<br>

Q.3[a] Briefly describe the challenges to achieving and maintaining

<br>

strategic fit. Provide examples where relevant.

<br>

(5)

<br>

[b] i) My hairdresser provides free wifi and tea while waiting for an

<br>

appointment. What strategy does she follow? Briefly describe the

<br>

strategic activities necessary to keep her store operational. (2.5)

<br>

i) What strategy does Walmart follow? Briefly describe the strategi

<br>

activities necessary for the strategy.

<br>

(2.5)

<br>



Q.4[a] Reva Cars is planning to enter into a stratcgic alliancc with P'ark

<br>

Supplics Ltd. What parameters should Reva car's consider to de

<br>

(5)

<br>

termine the appropriatencss of the strategic alliancc.

<br>

[b]Why do you think a tailorcd supply chain is ncccssary? What arc

<br>

the different ways a supply chain may be tailorcd. Givecxamples

<br>

where relevant.

<br>

Q.5[a] What challenge docs mass customisation posc to rctailers and

<br>

supplicrs? Using women's clothing as an cxample represcnt with

<br>

the help of a diagram the spcctrum of markct opportunty against

<br>

(5)

<br>

the dimcnsions pricc and supply chain structurc.

<br>

b]. Globalisaion has helpcd many countrics have acccss to unintcr

<br>

rupted fresh food supplics. How has this cffected local suppliers?

<br>

What kind of supply chains do we nccd to support and devclop as

<br>

globally responsible citizens? Be innovative in your answers and

<br>

(5)

<br>

give exanples where relcvant.

<br>

(5)

<br>

Q6 [a] Explain the differcnce betwccn implicd demand uncertainty and

<br>

demand uncertainty using the example of iPhone 6 Plus.

<br>

[b]What do you cxpect the level of implied demand uncertainty to

<br>

be for jasmine rice produced by Thailand at a supermarket? How

<br>

would this impact margins, supply ?

<br>

pen ifproraotions are not jointly planned?

<br>

[d] Explain how dell is an example of mass customisation.

<br>

(2)

<br>

[c] Walmart and P&G plan promotions jointly. What is this an exam

<br>

ple of? What are the benefits of this approach? What would hap

<br>

Q7[a] Briefly list 3PL implementation issues?

<br>

(2)

<br>

(4)

<br>

(2)

<br>

(4)

<br>

[b] Why do fims offer product choice with limited variability. Explain

<br>

with example.

<br>

(4)

<br>

[c] Wherc would you pláce i!<br>

spectrum

<br>

1) Local mom and pop store

<br>

2) Fcdex

<br>

3) Tata Stecl plant

<br>

4) India Post

<br>

(2)
<br>
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<br>

Subject: Operations Rescarch and Strategy Subject code: MGS-10E

<br>

Maximum Marks: 60 Marks

<br>

Maximum Time:3.0hrs.

<br>

Printouts of the following cases are attached:

<br>

Answer ALL questions.

<br>

Roll No:

<br>

1. Case: Wal-Mart China: Sustainable Operations Strategy

<br>

2. Case: Trouble at Tessei

<br>

Semester: IV

<br>

Notes and textbooks NOT permitted in the exam.

<br>

Assume suitable missing data, if any.

<br>

Question 1:

<br>

The maximum word limit for each question is 750 words.

<br>

What are the characteristics of emerging ecosystems like that of

<br>

AppleTV+, Amazon Prime and Netflix? The traditional supply

<br>

chain concept may not be appropriate to manage operations in such

<br>

ecosystems. Discuss and suggest what possible theory you would

<br>

apply to manage such ecosystems strategically.

<br>

(10 marks)

<br>

PTo

<br>



Question 2:

<br>

What steps can betaken to cnsure coupling of opcrations to strategy

<br>

plans? Explain the 6 Stage framework useful for a closed-loop

<br>

managcment systcm to link strategy andoperations. Mention some

<br>

tools that are uscful at cach stage.

<br>

(20 marks)

<br>

Question 3:

<br>

-57

<br>

Based on the Case: Trouble at Tessi, what are the key operational

<br>

challenges that Yabe is facing? What concepts in service can lead to

<br>

a turnaround and what steps would you recommend?

<br>

(10 marks)

<br>

Question 4:

<br>

Based on the Case: Walmart China, what are the distinguishing

<br>

features of Walmart China's distribution system? What initiatives

<br>

has Walmart China taken to implement sustainability? How can

<br>

Walmart improve sustainability in its distribution and retail

<br>

operations?

<br>

(20 marks)

<br>
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Trouble at Tessei

<br>

9-615-044

<br>

REV:OcTOBER 20, 2015

<br>

Teruo Yabe, the newly appointed Director and General Manager of Tessei, walked Tokyo Station's

<br>

quarter-mile Platform 21 enroute to his office. It was August 2005, and Yabe knew that his office.

<br>

located just below the tracks, would provide respite from the afternoon heat and a chance to reflect.

<br>

Number 21 was one of four platforms where Tessei's Tokyo employees cleaned Shinkansen ("bullet'")

<br>

trains (Exhibit 1). From arrival to departure, each train was only in the station for twelve minutes.

<br>

Providing time for passengers to disembark and board left Tessef only seven minutes per train to

<br>

complete its work (Exhibit 2).

<br>

A subsidiary of the East Japan Railway Comparny.

<br>

(R East), Tessei was struggling. As of 2004, safety

<br>

issues, operational mistakes (including crews failing to finish their work in seven minutes), customer

<br>

complaints, and employee trnover were allafor near historic highs. As JR East continued to increase

<br>

the frequency of departures in Tokyo, it needd morefromTéssei, but it kept getting less.

<br>

Earlier in 2005, Yabe had reached retirement àge after a distinguished 39-year career at JR East in

<br>

safety, operations, and marnagement (Exhibit). In traditional Japanese comparies like JR East, upon

<br>

reaching retirement age, senior managrs with'siuccessful careers were often offered senior positions at

<br>

subsidiaries, a practice called Amakuda ("desent from Heaven"). Working with JR East staff, Yabe

<br>

had been considering positions at two.prestigious subsidiaries when the Vice Chairman suddenly

<br>

called him directly and asked him to lead a turnaround at Tessei. With no background in cleaning,

<br>

Yabe had mixed feelings, ešpecially giyen Tessei's negative reputation within JR East.

<br>

Trning around Tessei would not be easy. Tessei's work represented one of the most complicated

<br>

clearing operations in the world. Clèaring a Shinkansen train in exactly seven minutes was the

<br>

equivalent to cleaning sixBoeing 737s in less than half the typical time it took.to clean one. Japanese

<br>

customers, who paid as inüch toride the Shinkansen as they would pay to ride an airplane, demnanded

<br>

perfect, on-time cleanlness,So every mistake was costly.

<br>

Meañwhile,rcruiting talented, motivated individuals to Tessei was very difficult in Japar, where

<br>

train cleaning, was considereda "3K" job: kitanai (dirty), kitsui (difficult), and kiken (dangerous). During

<br>

his first month Yebe had worked alongside many of Tessei's front line employees, speaking with them

<br>

abouttet experiehces on the job, and learning how the work took its toll (Exhibit 4). Many who had

<br>

come towork at Tessei haddifficulties finding other jobs, due to unfavorable career histories (Exhibit

<br>

5). "In a way, they have 'drifted' to Tessei," Yabe thought, ending up there almost as unintentionally

<br>

as he had.

<br>

As he descended beneath the platform, Yabe knew it was time for action. He wondered which

<br>

leves -operational and organizational-he should pull first to get Tessei back on track.

<br>

Professors Ethan Bernstein and Ryan W. Buell prepared this case. The authors gratefully acknowledge the

<br>

HBS Japan Research Center in conducting the field research for this case. This case was reviewed and approved bef

<br>

of Mayuka Yamazaki and the

<br>

designate. Funding for the development of this case was provided by Harvard Business School and not by the company. HBS cases are developed

<br>

before publication by a company

<br>

solely as the basis for class discussion. Cases are not intended to serve as endorseents, sources of primary data, or illustrations of etfective or

<br>

ineffective management.

<br>

Copyright 201S President and Fellows of Harvard College. To order copies or request permission to reproduce materials, call 1-800-545-768S,

<br>

write Harvard Business School Publishing, Boston, MA 02163, or go to www.hbsp.harvard.edu. This publication may not be digitized, photocopied,

<br>

or otherwise reproduced, posted, or transmitted, without the permission of Harvard Business School.

<br>
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Trouble at Tessei

<br>

Tetsudo Seibi Kabushiki Kaisha (a railway maintenance company, commonly called Tessei) was

<br>

founded in 1952 to clean train cars on Japanese National Railways ((R). When JRWàs ptivatized and

<br>

split into six regional companies in 1987, Tessei became a subsidiary of JR East.

<br>

Ihe company's primary objective was to clean JR East's Shinkansen trains,EWith a maximum

<br>

operating speedof 320 kilometers per hour (200 miles per hour), Shinkansen ratns were commonly

<br>

referred to as bullet trains in English, due to their bullet-like shape and high speed. In 2005, over 325

<br>

million passengers rode the Japanese Shinkansen system, making it themost ridden high-speed rail

<br>

network inthe world, and JR East accounted for 39% of this volume (Exhbit 6).1 Owing to the exacting

<br>

demands of travelers and the complex logistics of coordinating azhighly:uilized railway system

<br>

(Shinkansen trains šometimes operated only threeminutes apart eten when traveling at 320 kilometers

<br>

per hour),Shinkansen trains adhered to strict schedules. In 2003 for example, Shinkarnsen trains had an

<br>

average arrival time of within six seconds of schedule.2

<br>

Tessei's prinipal revenue source was fees from JR East Managerialmisconduct in the early 2000s

<br>

had led to a reduction in the commission fees paid to Tessei by JR East. Consequently, from 2001 to

<br>

2005, company revenue had declined 12%, while the nümber ofca

<br>

er

f carscleaned had increased by the same

<br>

percentage (Exhibits 7 and 8). In response, the company soughtfo cutcosts by increasing its proportion

<br>

of part-timeemployees. As of 2005, the majority:f Tassei'semtoyees worked part time (Exhibit 9).

<br>

The average worker was 53 yearsold, had heldaiumberof previous jobs, and often had encountered

<br>

difficulties on their career path.

<br>

Working at Tessei

<br>

Turnover was a major challenge. Tessei hired:20-30part-time employees per month, as many

<br>

proved unable to endure the hard workithe job entailed. Safety was another important issue. The

<br>

number of on-the-job accidentseported by:Tessei employees had risen sharply from 2001 to 2005

<br>

(Exhibit 10). Complaints from Customers were also on the rise. Commonly reported issues included

<br>

untidy bathrooms and forgotten items left behind on the Shinkansen that were not returned.

<br>

There were four stations at which Tessei cleaned Shinkansen trains including: Tokyo, Ueno, Oyama,

<br>

and Tabata. The largest of thešejas Tokyo station where Tessei crews cleaned 120 trains (with a total

<br>

of 120,000 seats) each shift, and up to 168 trains a day during the high season. Crews worked two 8.5

<br>

hor shifts per day, from 6:00 am to 11:00 pm. Each crew typically had 22 members and cleaned 20

<br>

trains a day. k

<br>

The process by which Tessei employees cleaned Shinkansen trains was highly standardized. The

<br>

cleaning operatiori in ëvery car included collecting garbage, cleaning the floor, wiping dirty tray tables,

<br>

cleaning the bathrooms, exchanging seat covers (in business and first class cars), and retrieving lost

<br>

items. For passenger comfort, the crew was also tasked with rotating seats 180-degrees, since

<br>

Shinkansen trains reversed direction rather than turning around between arrival and departure.

<br>

In seven minutes, one person cleaned a regular 100-seat car, three people cleaned a business-class

<br>

car, four peopleclearned a first-class car, and three people cleaned all of the bathrooms, all under the

<br>

superyision of a team Jeader. The train-cdeaning process was complicated by a variety of façtors. First,

<br>

.Part-time employees earned ¥1,050 per hour ($9.50 USD), whereas full-time employees earmed ¥910 per hour ($8.23 USD).

<br>

However, full-time employees also earmed benefits'and bonuses, such that their total annual salary was 1.2 times higher than

<br>

that of part-time employees.

<br>
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<br>

Shinkansen trains were not standardized. In order to accommodate more destinations with limited

<br>

platform capacity, JR East would often pair trains in the sta tion, so that different routés with corimon

<br>

tracks could share a platform. Depending on their destination and whether theý. had been paired,

<br>

Shinkansen differed in length, ranging fromn 6-car to 17-car configurationss (Exhibit,11). The mix of

<br>

coaches also varied among rains, including regular, first-class, business-cláss, and two-story varieties

<br>

(Exhibit 12). Finally, trains arrived and departed from different platforms; and from different locations

<br>

on each platform, depending on the train length and coach configuratiorn. Because of the limited time

<br>

available to complete each clearing, employees needed to be in the right place when a train arrived.

<br>

Owing to the exacting demands of the cleaning process and the dangers inherent in the workplace,

<br>

Tessei trained employees to work "appropriately," stressing the importance of working efficiently,

<br>

providing clean trains, improving service quality, and not getting injüured. Tessei's Cleaning Manual,

<br>

which was given to each new hire, provided detailed descripions of eäch work process, as well as

<br>

guidelines governing the state of employees' physical coñdition, lothing, and cleaning supplies

<br>

(Exhibit 13). Each new hire also received on-the-job.trairing fröm Tessei's more experienced

<br>

supervis ors.

<br>

At the beginning of each day, employees would change into their uniforms and clock in. Next, they

<br>

would verify and confirm their assigned work roles, nottheir assigned group and cleaning tasks for

<br>

the day, and review the details of each assignment, which included model-specific instructions,

<br>

arriving train nümbers, arrival times, track númbers, and track positions. Employees were expected to

<br>

complete these preparations in time to participate in the groiip warm-up exercises before the cleaning

<br>

day began.

<br>

The Cleaning Process

<br>

During their shifts, employees came to the platform three minutes prior to the scheduled arrival of

<br>

an assigned train. Once there, they would empty the platform's garbage cans and stand in a position

<br>

thatcorrespornded with the stoppingposition of their assigned car door (Exhibit 14). Employees would

<br>

stand in this position until all'passengers had disembarked from the train. After the last passenger

<br>

exited, employeeswould check the forbidden movement indicator, a signal above the platform, which

<br>

confirmed it was safe to board the train. Prior to boarding, employees would point at this indicator and

<br>

shout "Ok!" for confirmation, From this moment, employees had seven minutes to board the train,

<br>

complete their

<br>

r cleaning,assigments, and exit.

<br>

A crew supervisor would secure each entry door in an open position for the employees and hang a

<br>

"cleaning inprogtessšign, to prevent customers from boarding the Shinkansen while Tessei's work

<br>

was underwayOnce aboard the train, bathroon cleaners would begin moving through the bathrooms

<br>

in each Eoächlening toilets and washbasins, restocking toilet paper, and emptying trash. Those

<br>

assigned to clean the main cabins pf particular cars would set out their tools, which included a flexible

<br>

broom, dustpan, and bag of supplies. Tools were organized and positioned in their designated places,

<br>

in the frontöfeach car on the far side of the train deck, where they would not obstruct walkways.

<br>

**With tools in position, cabin cleaners would begin by putting on gloves and removing garbage.

<br>

Checking the cabin's overhead racks, the area beneath each seat, and the netting in front of first class

<br>

seats; cabin cleaners would collect any foreign objects that they found. Larger refuse and forgotten

<br>

items (which at the conclusion of the cleaning process would be taken to the station's lost and found)

<br>

were to be collected by hand, while smaller debris was to be swept up using a flexible broom.

<br>

Employees were trained to move forward while picking up garbage, rather tharn collecting it while

<br>

facing backwards, and were instructed to take extra care not to spill leftover drinks while collecting

<br>

them. After finishing the main section of the cabin, employees would empty the garbage room and

<br>

3

<br>
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<br>

Verity that its door was left completely closed. Enplovees would then remove and store their glóves,

<br>

in order to keep the seat upholstery and headrest cover cloths clean.

<br>

Next, employeeswere required to rotate the seats. Completing this part of the.pröcess required

<br>

veritying that all tray tables and footrests were stowed in their upright positiófs. Dépnding on the

<br>

yPe or car, rotation was an automated or manual process. With automation; therotation took place at

<br>

the push of a buton. Before pushing the button, employees called "Rotating seät to prevent the injury

<br>

of their colleagues. Manual rotation required a pårticular posture to prevent baCK

<br>

With seats rotated, employees would begin the process of cleaning table trays. Each'tray was opened

<br>

45-degrees to check for stains. Stained and spotted trays were thoroughl wiped, as were all window

<br>

fTames. Once trays were clean, emnployees would turn their attention to cleaning the floor. A floor cloth

<br>

femove debris. Emnployees

<br>

was used to wipe up badly soiled areas, followed by a flexible bromt

<br>

were taught how to lightly press and sweep so that the bristle tops did notris above the floor. Broom

<br>

bristles would primarily collect dust balls and hair, which employees would remove in the break room

<br>

between cleaning assignments with special combs. Employees were requiedto sweep the inside of the

<br>

train, including the washrooms, from left to right, movingforward, and sweeping in three directions

<br>

to collect debris in the deck. Employees used dust pans tocollect debris in most cars, and cordless

<br>

vacuuns to colect it in first-class cabins.

<br>

With floors cleaned, employees.would changeeach seat's.disposable headrest cover (called a

<br>

motare), which was affixed to each headrest with velcro Depening on the type of seat, this activity

<br>

sometimes involved manually raising or lowering the headrests. Furthermore, motares came in

<br>

different sizes, and it was up to each employee:to make sure they had supplies that were compatible

<br>

with their assigned train.

<br>

With headrest covers changed;'employees would raise the blinds at each seat, and double-check

<br>

that blind hooks were in their specified poitiörs. Next, employees would move from the back of the

<br>

car to the front, pushing on eachbackrest toensure that every seat was properly locked. Then, standing

<br>

at the front of the car, the empiöyee wouldonduct a visual check, pointing and calling out, "Motare!

<br>

Blind! Seating direction !" to ensurecompleion ofall tasks. Finally, the employee would gather their

<br>

clearing supplies and exit the train, to make way for oncoming passengers.

<br>

Once the process wås complete, employees would return to the designated Tessei rooms-beneath

<br>

the platforn to prepare for their nextassignments (Exhibits 15 and 16).

<br>

Mind the Gap

<br>

Yabe reflected on the challenge he had inherited. Tessei's mandate was to provide clean trains and

<br>

improve the service experiences of JR East's customers, but the company appeared to be falling short

<br>

onboth dimensions.Its quality,timeliness, customer and employee satisfaction, and safety records all

<br>

seemed subpar.

<br>

With an unrelenting seven-minute deadline for each assigrmment, there was little room for error; and

<br>

vet, being on the frontline for thirty days had revealed a laundry list of ineficiencies. Yabe believed

<br>

that Tessei could do better, but how?

<br>

Yabe weighed his options. The months ahead would present an opportunity for him to make a

<br>

significant change at Tessei, but which levers should he pull first?

<br>
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Exhibit 2 Sequencing of Train Arrival, Cleaning, and Departure

<br>
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<br>

Shinkänsen Platförm 22#

<br>
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Source: Company documents.

<br>

Exhibit 3 Teruo Yabe
.

<br>

A

<br>

23#

<br>

1966: Graduates high school; joins Japan National Railways

<br>

1966-1979:

<br>

planning

<br>

Source:

<br>

12

<br>

minutes

<br>

-63

<br>

Train crew, inspection, working at a local bureau of JNR

<br>

Then moved to Gperation safety division at JNR HQ.

<br>

As a person in charge of safety system, he got involved in system

<br>

developments and investigation and cause analysis of accidents.

<br>

1980: Deputy manager in charge of safety policy at Japan Railway East*

<br>

1995: Manager, transport dept., Tokyo branch

<br>

1998: Stationmaster, Tachikawa station

<br>

Involved in making the JR East's first safety plan and the plan on

<br>

investments for safety. He put focus not only systems but on

<br>

human factor.

<br>

2000:General manager of transport dept., Yokohama branch

<br>

2001: General manager, transport dept., Tokyo branch

<br>

Company documents.

<br>

ninutes,

<br>

2005: Joined Tetsudo Seibi (later renamed TESSEI) as a board member, general manager of corporate

<br>

Trouble at Téssei

<br>
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Exhibit 4 Quotes From Employees about Their Front Line Experiences

<br>

.Note:

<br>

Souce:

<br>

"Customers see me and say to their children, 'Look, if you do not listen to your parents, you will become

<br>

like them.' It is a world of discrimination."

<br>

615-044

<br>

"We are only allowed to do what we are told to do. It would be great iff could kelp customers when I

<br>

find them looking for help. I therefore asked my senior staff whether I could provide guidance to

<br>

customers, whether I could provide some help, I was told, 'As our compäny does not have such a

<br>

contract, you should not do such a thing.' I felt a bit disappointed. Iknew Icould not ho pe going closer

<br>

to customers. I should not think beyond what I amn told to do."

<br>

"The company has a culture like taiikukai-kei.ª If we deviate from what we are supposed to do even a

<br>

little, senior staffpoints that out. Senior staff are really scary and intmidating. They are years older than

<br>

me so they are exacting. We are scolded and yelled in the passage even with a minor mistake such as

<br>

being slow to push a bu tton to rotate chairs or picking up sömeone's broom. Of course there are some

<br>

who are kind but overall impression is scary.

<br>

"My parents do not tell others where their daughter is working as they think working at a cleaning

<br>

company would look shameful to others. They keep it secret."

<br>

"I found out thatI would be late ifI just followedthe rular procedures. The procedures said lifting

<br>

window shades, putting down armrests and then pushing the button. I however started to rush to push

<br>

the button as soon as I collected trashes on the flooAt was actually a deviation from what I was told to

<br>

do, but if Idid not deviate, I would have been yelled again. No other options. That was hard. I would

<br>

have been scolded if I had just followed.whatIiwastold to do. I had to think on my own what to do."

<br>

"Iam scared about customers asking me qustionS I have no confidence that I will be able to answer

<br>

properly, so I try best not to seecustomers' eyes."

<br>

"If we were a bit behind the schedule wüle thinking what to do, a chief would yell at us. The chief

<br>

passed by, telling us "You have x minutes" and I thought "So now she passes by me now, Ihave to

<br>

finish these things by the time she comes back." I applied myself only to cleaning during the seven

<br>

minutes. I was desperate."

<br>

"Ifelt offended and hurt when Iwas scolded and yelled. I started to observe a group of experienced

<br>

cleaners. Those whge

<br>

excelled stood out. Ibegan to benchmark these people."

<br>

"I was 40 whenIjoined the company and even so I got a reaction Such a young person has joined. As there

<br>

were many

<br>

Women, theyvalued teamwork, sort of, or how should Isay...people did not like to see

<br>

someone doing sométhing different from what others were doing. The culture was cohesive and very

<br>

much'disciplined, which might have been characteristics about a female group. Today, we have much

<br>

more younger ärid less experienced people. What we find challenging is how to train these less

<br>

iEexperiene

<br>

young staff and let them work."

<br>

"Headquarters is very strict on costs and they do not let us use soap. Soap bars run out very quickly as

<br>

there are so many of us but there is a quota on hoW many soap bars one team can use. Evern if we insist

<br>

that we

<br>

e úsed allsoap bars and want to have new ones, a person in charge of resource management does

<br>

not give us any, saying, We already gave you the allocated amount ofsoap bars. "

<br>

Casewriter interviews.

<br>

Interviewees were asked to reflect on their experiences prior to Teruo Yabe's arrival.

<br>

"A taikukai-kei is an organization with a strong command and control culture, where difference in years of experience matters.

<br>

7
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Exhibit 5 Profiles of Tessei Employees

<br>

Female, Joined in May 2005, at age 55

<br>

1965: Graduated from Arakawa Junior High

<br>

School

<br>

• 1965: Joined Niki no Kashi, a confectionary

<br>

company (customer service)

<br>

. 1970: Quit Nikino Kashi in order to prepare for

<br>

marriage

<br>

• 1977: Joined Takahisa Industry, a maker

<br>

(assistance to machine operation, product

<br>

finalization)

<br>

• 1980: Quit Takahisa Industry as her revenue

<br>

went down due to shorter working hours

<br>

• 1981: Joined Suzuko Transport (as a driver)

<br>

1984: Suzuko Transportation bankrupted

<br>

1984: Joinëd Nisho Transport (as a taxitriver)

<br>

1985: Quit Nisho Transport for childbirth

<br>

preparations

<br>

• 1986: Joined Kazuhiro Seisakusho, a maker

<br>

(inspection and product finalization)

<br>

• 2004: Kazuhiro Seisakusho bankrupted

<br>

• 2004: Joined Sango Nibankan, a nursing hose

<br>

(support and cleaning)

<br>

• 2005: Quit Sango Nibankan as wages were.

<br>

lower than the first offer

<br>

• 2005: Joined Tessei

<br>

Female, Joined in March 2002, at age 48

<br>

• 1972: Graduated from Mizumoto High School

<br>

1972: Joined Ikebukuro storë Tobu Department

<br>

Store

<br>

•1976: Quit Tobu Department Store

<br>

• 1977: Joined Fujibo Logistics Center

<br>

1978: Quit Fujibo Logistics Center

<br>

• 1993: Joined Ikeguçhi Dental Clinic

<br>

1995: Quit lkeguchi Dental Clinic

<br>

1995: Joined Hinode Oil Sales

<br>

2001: Quit Hinöde Oil Sales

<br>

2001: UNIQLO Joined Chiba Newtown Store

<br>

2002: Quit UNIQLO (after three months)

<br>

Source: Casewriter interviews.

<br>

Male, Joined in December 2004afage50

<br>

• 1969: Graduated from Nishi-tóýamajunior high

<br>

school

<br>

1971: Graduated from

<br>

Vocational School

<br>

Chiyöda Electronic

<br>

• 1974: Quit Pioneer

<br>

Trouble at Tessi

<br>

• 1971: Joined Omori Factory, Pioneer

<br>

Corporation (electronics)

<br>

• 1974: Joined Metro Müfual Support Association

<br>

1996: CQuit Metro Mutual Support Association

<br>

1997: Joind TokýoSeibi Corporation, a building

<br>

management/mnaintenance company (in

<br>

charge of operating room of a hospital)

<br>

2000; Quit Tokyo Seibi Corporation

<br>

2001Joined Hitotsubashi Hospital as a helper

<br>

2002Quit Hitotsubashi Hospital

<br>

2002: Joined Kimura Makizumi Hospital as a

<br>

helper

<br>

2003: Quit Kimura Makizumi hospital

<br>

2004: Joined Kobayashi hospital as a part-time

<br>

helper

<br>

Male, Joined in November 2000; at age 54

<br>

• 1961: Graduated fromn Daisan Kameido Junior

<br>

High School

<br>

•1961: Joined Kameido factoy of Hitachi as a

<br>

technical staff

<br>

1966: Transferred to Hitachi Seiko

<br>

• 1974: Quit Hitachi Seiko when the factory moved

<br>

1975: Joined Ito Warehouse

<br>

1980: Joined Phoenix Contact (his department at

<br>

Ito Warehouse was transferred to

<br>

Phoenix)

<br>

1987: Quit Phoenix Contact

<br>

• 1991: Joined Tokyo King

<br>

• 1994: Quit Tokyo King as the company was

<br>

bankrüpted

<br>

• 1995: JoinedJR Tokai Passengers

<br>

• 1996: Transferred to JR Tokai Logistics

<br>

• 2000: Quit JR Tokai Logistics

<br>



Line

<br>

Akita

<br>

Tohoku

<br>

Joetsu

<br>

x Nagano

<br>

Source:

<br>

NJgans

<br>

Yamagata

<br>

Trouble at Tessei

<br>

Exhibit6
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Exhibit 7 Commissions Received by Tessei (2001-2005)
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1
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Exhibit 10 Number of Accidents Among Tessei Employees (2001-2005)
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Exhibit 11 Cleaning Different Types of Trains at Tokyo Station
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Exhibit 12 Seating Configurations in Regular, First Class and Business Class Shinkansen Cars

<br>

Business Class

<br>

5

<br>

6

<br>

Wndow

<br>

22

<br>

22

<br>

22

<br>

22

<br>

STotal 242 m

<br>

Trouble at Tsei

<br>

First Class

<br>

Window

<br>

Aisle

<br>

Window

<br>
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<br>

Exhibit 13 Excerpts from the Tessei Cleaning Manual

<br>

The purpose of appropriate wotk:

<br>

Eliminate unreasonableness, inconsistency, and waste and do good work

<br>

1) Work efficiently, in good order, with less waste, and accurately

<br>

Provide clean trains

<br>

2)

<br>

3)

<br>

1)

<br>

2)

<br>

3)

<br>

4)

<br>

5)

<br>

Physical condition:

<br>

1)

<br>

2)

<br>

3)

<br>

4)

<br>

Clothes:

<br>

1)

<br>

2)

<br>

b

<br>

Don't get injured

<br>

2)

<br>

b

<br>

Providing clean trains to the customer is our duty and responsibility.

<br>

JR also expects us to improve the quality of our service.

<br>

4)

<br>

5)

<br>

Injury-cauUsing accidents affect not only the worker and his/her.farnily, but also the workplace.

<br>

Keep in good physicalcondition for work

<br>

It'simportant that everyone maintains a good working environment, be careful not to get hurt and

<br>

not let anyone get injured.

<br>

Sleep well and always approach work with a refreshed feeling

<br>

Don't put anything on clothes, except for the prescribed nametag etc.

<br>

5) Don't wear working shoes with soles thatare worn out and slippery

<br>

1)

<br>

Come to work well ahead of time

<br>

It is prohibited to come to work under the influence of alcohol

<br>

Participate actively and properly in the warm-up exercises.

<br>

Cleaning supplies:

<br>

Work in the prescribed clothes

<br>

Don't be disheveled

<br>

Always keep clean

<br>

Clockirgin:

<br>

Cleaning supply inspection

<br>

a. Flexible broom

<br>

1) Punchthe

<br>

Confirm

<br>

C.

<br>

Source:

<br>

b

<br>

i.

<br>

i.

<br>

Take caution handling cleaning supplies when entering and leaving the platform.

<br>

aning supplies never touch the customers on the platform.

<br>

cleaning supplies in their designated places.

<br>

clocking out:

<br>

Check for problems and that the broomstick is well attached

<br>

Bröom bristle tips are aligned and not bent

<br>

ii. Broom bristle tips are not getting thin

<br>

3).; Butthe pesonal card into the folder marked with the assigned group and assigned car.

<br>

iv. Change,defeçtiv brooms to new ones immediately

<br>

Bag: Check for Cieanliness

<br>

Dustpan: Check for cleanliness and damage

<br>

Persocard (timecard) with the time clock on the counter in the administrative office.

<br>

off today's assigned work roles with the daily manpower report on the counter.

<br>

615-044

<br>

Find the iñstrütionsheet on the counter for your assigned group and cleaning tasks and take a copy.

<br>

Comparing the model-specificassignment sheet (manual) and the group-specific cleaning task instruction

<br>

sheet; check them'against the following items that you confirmed on the daily manpower report: the arriving

<br>

train number, arrival time, arriving track number, and seat facing, and then write down the assigned car

<br>

number on the group-specific cleaning task instruction sheet.

<br>

After the end of workceremony, confim and check off tomorrow's tasks in the daily manpower report

<br>

* 2) Punch the personal card with the time clock.

<br>

Company documents

<br>

13

<br>
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<br>

Exhibit 14

<br>

Tessei Employee at Tokyo Station

<br>

Source: Company documents.

<br>

Exhibit 15 Supplies Room under the Platförm

<br>

Source:

<br>

Casewriter photos.

<br>

Trouble at Téssei
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Exhibit 16

<br>

Employee Space below the Platform

<br>

61
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The crowds following the path of the Olynpic torch through the booming Chinese metropolis of Shenzhen

<br>

were ecstatic. Following seven years of planning, the 2008 Summer Olympics were less than 100 days

<br>

away and even foreigners were feeling the pride associatedwith hosting the event. Among those was Jens

<br>

Martin Fertsch, a German expatriate who.had moved to China in late 2005 to take up a merchandizing

<br>

position at the Wal-Mart China headquartersan Shenzhen.

<br>

Like everyone else, Fertsch's mind was contemplating the upcoming sporting events in Beijing, but he

<br>

couldn't help ponderirng another event in the Northern Capital" a three-hour flight away for in

<br>

October Wal-Mart would host its first sustainability summit in China. Lee Scott, the global CEO, Would

<br>

gather with around one.thousand:senior representatives from global and domestic partners to discuss his

<br>

vision for the futureonejncreasingly tied to the notion of sustainability.

<br>

A 12-year Wal-Maitiyeteran, Fertsch had just been appointed to the new position of senior director for

<br>

sustainability for:Wal-Mart China (retail) and Global Procurement. The dual nature of his role

<br>

demonstrated the closelinks between China and global operations and was also reflected in his reporting to

<br>

both Shawn Gray (vice-president (VP) of operations for Wal-Mart China) and Edwin Keh (chief operating

<br>

officer (CO0)Global Procurement). The responsibility had previously been shouldered by Gray, but

<br>

rapid growth in Chinaoperations had necessitated the creation of a dedicated position.

<br>

Fertsch' was preoccupied with ensuring that Wal-Mart China's five "Strategic Value Networks" (SVNS),

<br>

which were tasked with leading sustainability change within the organization and now directly involving

<br>

some14) associates, continued to build momentum in ways that would lead to broader acceptance among

<br>

the various stakeholders. To'that end, there had been literally hundreds of possible projects that had been

<br>

Suggested, but he and his five SVN leaders urgently' needed to cull this to a handful with which to move

<br>

forward. Scott would accept nothing less than innovative solutions that could both cut costs as wellas lead

<br>

"to more sustainable operations. More pressingly, Fertsch knew that he would need to find projects that

<br>

could communicate real value within the Chinese context, a market known for its high price sensitivity.

<br>
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<br>

WAL-MART'S 2005 SUSTAINABILITY VISION

<br>

e cioCk Was now running, as a cogent case for cach proicct selected would need to be provided in

<br>

for the ctober meeting.

<br>

1.

<br>

75 --

<br>

By the fall of 2005, Wal-Mart was on track to excced annual worldwide revenues öf US$280 billion (see

<br>

Exhibit 1). The company had grown significantly from its humble beginnings in Bentonville, Arkansas, to

<br>

become a retail operation spanning thirteen countries, with over 7,000 stores, 68,000 suppliers and two

<br>

million associates (see Exhibit 2), All of this had been achieved in justöver four decades and was built

<br>

around an unwavering commitment to low price and great service thatcomprised the foundtion of Wal

<br>

Mart's culture. Sam Walton, the founder, stated it this way: Our-custömers are the reason we're in

<br>

business, So we should treat them that way. We offer quality merchandise at thë lowest prices, and we do it

<br>

with the best customer service possible. We look for every opportunity where we can exceed our

<br>

customers' expectations. That's when we're at our very best." THe:combination of this formula of value

<br>

and service along with.innovative operational strategies literally remapped the retail landscape in the

<br>

United States (see Exhibit 3).

<br>

This growth, however, had not been without cost. AIonrwih the low prices that the company offered,

<br>

Wal-Mart had been drawing an increasing amount of:public criticism and legal battles ranging from

<br>

contention over low health benefits for its workers to accušations f gender discrimination when it came to

<br>

internal promotions. Compounding these issues Was the public's growing realization of just how much

<br>

power had been consolidated in one company. Even simple facts such as the company's status as the

<br>

largest private user of electricity in the United Stätès (Supercenter (SC) electricity consumption averaged

<br>

1.5 million kilowatt-hours per year, per store seemed to paint the company in a negative light.

<br>

9BÖ8po09

<br>

It was in this context of historically massive business growth and increasing public concern that CEO Scott

<br>

announced what was to becomea paradigmshift for the company as well as its stakeholders.In short, Scott

<br>

believed that it was critical for Wal-Mart to begin leveraging its core competencies to transform itself into

<br>

a worldwide leader in the area of sustainäble operations. He felt that there was no intrinsic contradiction in

<br>

being able to offer Wal:Mart's low prices and excellent service to its customers while at the same time

<br>

reducing the company's ccological footprint. To prove how serious he was about these changes, in a

<br>

speech broadcast throughout all ofitsoperations in November 2005, Scott earmarked $S00 million towards

<br>

sustainability projects and set the following goals:

<br>

Eliminate 30 per cent of the energy used in stores.

<br>

Increase the efficiencý of its vehicle fleet by 25 per cent over the next three years and double

<br>

efficiency in 10 years.

<br>

Reduce solid waste from U.S. stores by 25 per cent in three years.

<br>

me

<br>

1 M. Gunther, "The Green Machine,"FORTUNE, July 31, 2006.

<br>

Some within Wal-Mart perceived the initiative as simply a cosmetic change that could provide positive

<br>

public relations at a time when the company was under fire. However, over the ensuing year it became

<br>

Wal-Mart Sustainability Progress to Date: 2007-2008,

<br>

*B,Ecological footprint (EF) analysis is a measure of human demand on the earth's ecosystems and natural resOurces. First

<br>

proposed by Wiliam Rees in 1992, its concept and .calculation were developed by Mathis Wackernagel ("Ecological

<br>

Footprint and Appropriated Carrying Capacity: A Tool for Planning Toward Sustainability," Ph.D. The sis, School of

<br>

.Communityand Regional Planning, University of British Columbia, 1994).

<br>

http://walmartfacts.com/reports2006/sustainability/environmentFootprintClimate. html, accessed June 10, 2008.

<br>
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<br>

clear, nccording to Fertsch, that the initiative was truly implanting something green into (Wal-Mart's)

<br>

DNA."

<br>

Wal-Mart organized its efforts in the United States into 14 sVNs that included cate gories suchi as store

<br>

operations, clectronic products and packaging (see Exhibit 4). While Wal-Mart began to ray,widely upon

<br>

many outside resources for recommendations and ideas, there were only a few associates'tasked full-time

<br>

with developing these SVNs. Instead, the company put the networks togethr; by giving top-performing

<br>

managers the responsibility of integrating the sustainability initiatives alongside their current workload.

<br>

Ideas for projects were categorized in three ways. "Quick wins" were projects thät the business and

<br>

stakeholders could begin immediately. This meant that the concepts wonld be quickly understood and the

<br>

project would result in a short-to-imnmediate payback period. "Innovation projects" were to combine

<br>

recently available technologies and methodologies that would resultin paybackperiods ranging from one

<br>

to three years. Finally, "game changers" would be pursued on an ongoingbasis and were paradigm shifts

<br>

intended to result in radical departures from traditional business pactice.

<br>

By 2007, significant changes had occurred throughout the,çompany. Many of the internal goals that Scott

<br>

had put forth were well on their way to completion. Wal-Mart had become the largest seller of organic

<br>

milk andthe largest purchaser of organic cotton. There, had bëen large changes in product selection within

<br>

the categories of seafood, electronics and textiles,

<br>

along

<br>

gwith major changes in the ways that Wal-Mart's

<br>

suppliers were scored and selected. From a publicståndpoint, the company had successfully partnered with

<br>

GE to sell over 110 million compact fluorescentlighting (CFL) units in the United States that year.Despite

<br>

the fact that it would effectively cannibalize its içandešcent product sales, the greater efficiencies anc

<br>

Jonger bulb life meant that Wal-Mart's customersyoüld save well over $3 billion, conserve 55 billion tons

<br>

of coal and keep 1.1 billion incandescentlight bulbs out öf landfills. It was with these initial wins in the

<br>

United States that Wal-Mart's executive tëam begañ to gear up for Wal-Mart's intermational sustainabilit

<br>

initiative.

<br>

Wal-Mart China's associates, cüstomers, supplier base and the surrounding communities were significantl

<br>

different from the stakeholders ofther intërnational operations. As such, the solutions and standards th

<br>

had been pioneered in other regions coüldprovide direction to Wal-Mart China's sustainability initiativ

<br>

but would not necessafily.fesult in immediate wins. Instead, its SVNs and associated projects would nee

<br>

to be contextualized to the niquechallenges and values of the China market.

<br>

THE CHINA RETAL ENVIRONMENT

<br>

In 1994, Wal-Marthad begun to investigate what would be needed to launch retil operations in China.

<br>

first Sewas openedinthe southern city of Shenzhen in 1996. Expansion continued for Wal-Mart China

<br>

a hobbledarate due to the lengthy application processes necessary for each new location that requi

<br>

authorizatior by. both local and central government agencies. Coupled to these applications were sev

<br>

restrictions in th overall allowable store count per city as well as location. By mid-2008, Wal-Mart Ch

<br>

had- 106 SCs located throughout the country, 101 Trust-Mart stores (35 per cent stake acquired in 20

<br>

ind tw distribution centers (DCs) located in Shenzhen and Tianjin, with a third scheduled to open late

<br>

the year iñJiaxing, Zhejiang province.

<br>

While many of Wal-Mart's core values and rules had been directly translated into the Chinese cont

<br>

úch as the ten-foot greeting rule being changed to three meters, the company faced significant strat

<br>

changes necessitated by the operating environment. Third-party studies and internal research had sh

<br>

that Chinese customers were significantly more cost-sensitive than those in other countries and that t

<br>
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<br>

existed a strong. established culture of frequently shopping around to find the absolute lowest prices.n

<br>

some cascs, customers simply came just to look around the store as part of their daily walkStudies foúnd

<br>

thatcustomer satisfaction level greatly influenced customer loyalty in China. The greatest deteininant of

<br>

that satisfaction was made up of perceived value. This was followed by image, merchafdise and:shopping

<br>

environment. Service, check-out process and store policy were all less signifiant in affëotingcustomer

<br>

satisfaction, while store facilities and shopping convenience had nearly no impact on customer satisfaction

<br>

(see Exhibit 5). Wal-Mart's intemal studies, however, had identified conveniènce as being important to

<br>

overall customer satisfaction ikely related to the fact that the average custofner in China purchased

<br>

smaller quantities more frequently.

<br>

The cost sensitivity and smaller purchase amounts were compounded b,the restrictions on where Wal

<br>

Mart was allowed to locate. Most significantly, Wal-Mart was not,able,to achjeve the densities of around

<br>

200 stores per DC for which its normal saturation strategy was cofigured, Bcause of this, the company

<br>

was limited in how much it could leverage key operational strategies that allowed for the low prices its

<br>

U.S. customers enjoyed. While studies revealed above-average satisfactio with Wal-Mart's pricing, there

<br>

were questions as to whether Wal-Mart's current pricing tructure would attract customers in sufficient

<br>

numbers in China's smaller cities. In 2007, China's middledass represented a little over six per cent or 80

<br>

million Chinese out of a totalpopulation of over 1hillion(see Exhibits 6 and 7). Customers in this

<br>

category and more affluent categories were classified "bywa Mart as A and B customers. While the

<br>

Chinese government and McKinsey predictions etimatad that thigsegment would grow to 700 milion by

<br>

2020, Wal-Mart's experience had mainly been inihe largeeastei cities. It was unknown whether it could

<br>

extend its distribution network into the smallercentrall located cities and maintain prices that were

<br>

attractive to customers in the C and D income categoriës,.There were, however, indications that Wal-Mart

<br>

could soon leverage greater cost savings ith the fütl implënentation of World Trade Organization (WTO)

<br>

agreements, including significantlyioosened restrictions surrounding store placement decisions. Indeed,

<br>

SC numbers had almost doubled in the pastwo years, with infrastructure buildup indicating continued

<br>

growth.

<br>

WAL-MART CHINA SUSTAINABILTYFRAMEWORK

<br>

The sustainability effort fot Wal-Mart China had been initially overseen by Shawn Gray (VP Wal-Mart

<br>

China operations), butcoy, 2008 the effort had filtered throughout the high- and mid-level management

<br>

tiers. Antonio Lee (senior directorof supply chain) stated, "Sustainability has become a part of our DNA

<br>

both from apersonal,as wellas a business perspective. As a corporate citizen, it is our responsibility to do

<br>

our part in maing theworld a better place to work and live. Furthermore, Wal-Mart Sustainability is a

<br>

corporate direction nt just regionalized. The drive and commitment is not only at the top, but

<br>

throughoit the organization."

<br>

Moving forwad with sustainability in China necessitated the reorganization of the original 14 SVNs into

<br>

five that encompassed the original network teams while providing a simpler structure. The SVNs in use in

<br>

he Chineseoperations were as follows:

<br>

Measures for the Administration on Foreign Investment in Commercial Sector," the regulations on foreign investment in

<br>

Commerce, was issued by the Ministry of Commerce on April 16, 2004, and became effective as of June 1, 2004. The new

<br>

egulations eliminated limits on foreign investment in the retailing industry, covering territory, quantity and proportion of

<br>

shareholding. Foreign-funded commercial enterprises would be allowed and specific registered capital would no longer be

<br>

required.

<br>
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<br>

Sustainable stores and operations: Included Wal-Mart's DCs, its outsourced third party logisties ORL)

<br>

providers, retail stores and office spaces. Its goal was primarily to decrease the company'ssoverall

<br>

footprint of operations and to reduce cost. An example of this was Wal-Mart's rescarch nto energy

<br>

efficient lighting and its implementation throughout its operations.

<br>

the

<br>

9B08D009

<br>

Sustainable products: There were four primary categories in this SVN Mhích tepresentee the areas

<br>

where Wal-Mart felt that it could affect the most difference in its overall sustaiñability. The current

<br>

areas were food, electronics, textiles and product packaging.

<br>

Supply chain compliance and standards: Covered all of the standards Wal-Mart required for its

<br>

products as well as the compliance levels set by local governments. It also included oversight of

<br>

manufacturing processes. Some of the standards were unique to, Wal-Mart and others were local

<br>

standards that Wal-Mart then projected worldwide. An example f the latter was the Restriction of

<br>

Hazardous Substances (ROHS) code originating in the United Kingdomithat Wal-Mart had begun to

<br>

adopt as more and more retail markets worldwide strengthened their requirements for compliant

<br>

products.

<br>

WAL-MART CHINA'S OPERATIONS:GROUP

<br>

Supply chain efficiencies: Went beyond the standards for coäpliance that Wal-Mart imposed on

<br>

suppliers and looked at the entire supply chain to determine what actions would most improve

<br>

efficiency, reduce cost and reduce the footprint of the entire chain. This included areas like Fleet

<br>

Management best practices, which described how best toship products from the DC to stores, from

<br>

ports to the United States and from the U.S,ports tö BS DCs. Additionally, it included supplier

<br>

relationships and explored indirect ways Wal MMart could offerassistance to its vendors and the various

<br>

ways that it encouraged its suppliers to takesteps to reduce electricity usage.

<br>

Communications: Critical in making Wal-Matiggations and direction transparent to the outside

<br>

community, thecommunications SVNsoughtto implement best practices for communicating to all of

<br>

Wal-Mart China's stakeholders. The October 2008 meeting of key leaders in Beijing was considered to

<br>

be a critical test for this SVNEndemonstrating the ways Wal-Mart China was seeking to develop a

<br>

common vision and understanding among its stakeholders.

<br>

Merchandizing 9perations

<br>

Wal-Mart China's operations group was made up of senior directors and VPs under the COO that oversaw

<br>

Trust-Mart, Supercenter oprations, Supercenter merchandizing, Sam's operations, Sam's merchandizing,

<br>

marketing, supply chan änd logistics and private brands (see Exhibit 8).

<br>

All supplier Tëlationships for Wal-Mart China fell under the responsibility of Mimi Lam (VP Supercenter

<br>

merchandizng), who oversaw product and supplier selection as well as on-going evaluation. While Wal

<br>

Mart's international stores sourced from a well-established network of suppliers developed and managed

<br>

by the Global Procurement division, all domestic procurement was handled by Supercenter merchandizing.

<br>

Therexere two primary reasons for this seeming redundancy. Firstly, Chinese law required that companies

<br>

be licensed for either importexport or for domestic production. It was not possible to be licensed for both.

<br>

response, many multinational companies set up holding companies with both types of subsidiaries but

<br>

e common result was often two very different sales forces. Secondly, a large portion of the most popular

<br>

Chinese suppliers had yet to test foreign markets with its products and so was still unknown to Global

<br>

Piocurement. Customers coming to Wal-Mart stores in China would expect to see products that they were

<br>

familiar with at prices at or below those of the competition. Thus, Wal-Mart China's merchandizing group

<br>
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<br>

-was allowed to approach suppliers to facilitate cl0ser relationships with the SCs and toiiproye

<br>

performance.

<br>

As suppliers were responsible for delivering their product tó Wal-Mart's DQsoyin the casor some

<br>

products, directly to the SCs (Direct Store Delivery or DSD), the merchandižing group did not have to

<br>

involve the supply chain group in making decisions concerning product transportation to Wal-MMart

<br>

locations.

<br>

There were a number of programs to encourage best practices throughout Wal-Mrt China´s Supplier

<br>

network. One such example was the supplier collaboration group compised of its top vendors that had

<br>

been chosen to meet together to share leamed experiences. The top-Scoring companies from this group

<br>

comprised the board (Blue Moon, Johnson and Johnson, Kimberly-Cfäfk;,Kraft, P&G, SC Johnson,

<br>

Unilever and Colgate). Among the board members, P&G was an €Xamplof alarge multinational supplier

<br>

with a long-standing working relationship with Wal-Mart in otheparts ofthe world. Its size had resulted

<br>

in close scrutiny from environmental watchdog groups and thus grcater transparency on the part of the

<br>

company. It defined its commitment to sustainable development as "ensuring a better quality of life for

<br>

everyone, now and for generations to come" and had suštainability programs throughout its worldwide

<br>

operations. This could be compared to fellow boardmember: Blue Moon, a Chinese national chemical

<br>

products company supplying the number one hand soap, toilet,cleaner and floor cleaner in China, who

<br>

represented one of the few seats occupied by a domestic-only supplier. Begun in 1994, Blue Moon was a

<br>

relative newcomer but moved quickly to comply With internationly accepted standards such as ISO14001

<br>

certification. Its policy was that, "Protecting theenvironrifent is protecting all of us. Our products deliver

<br>

not only cleanliness but also protection to gu CÜstomers"To ensure this, Blue Moon used biodegradable

<br>

materials in its products with no aluminun or phošphate sèe Exhibit 9). Wal-Mart China also encouraged

<br>

participation among its suppliersingthird-party initatives such as the P2E2 (Pollution Prevention Energy

<br>

Efficiency) program that allowed suppliers toquickly and inexpensively equip their factories with cost

<br>

saving equipment (see Exhibit10).

<br>

DISTIBUTION CENTEROPERATIONS

<br>

Wal-Mart China's merchandizingigroupwas also continuing to build sustainability into the evaluation

<br>

tools it used for supplier selection and on-going evaluation of purchase quantities. However, moving

<br>

towards sustainability öftëin involved working with vendors over long periods of time to allow them to

<br>

make the changes necessaryto come into compliance. Government agencies as well as non-govermmental

<br>

organizations (NGOs)had stroglý encouraged Wal-Mart to not drop companies that failed standards but,

<br>

in light of China's*Harmonious Society" policy, to give its vendors the time needed to move towards

<br>

compliance,

<br>

Wal-Mart'shêw, 43,000-square-meter DCs had been specifically designed by wholly owned subsidiary

<br>

Gazeley as nex-generation sustainable logistics centers. While the Tianjin DC participated in standard

<br>

sustäinability practices such as helping its associates conserve fuel by busing them from predetenmined

<br>

slocatiorisin the city and reselling all of its used cartons, pallets and plastic sheeting, there were other

<br>

fundamental differences that set the facility apart. The lighting of warehouse areas was supplemented with

<br>

sday Aighting and TS energy saving light bulbs were used throughout the rest of the facility, resulting in

<br>

energy savings of 20 to 30 per cent. Air conditioning and heat recycling systems maintained consistent

<br>

tëmperatures with less waste. Ten solar energy water heaters provided 1.7 tons of hot water a day projected

<br>

tö save up to 25,550 kilowatt hours each year. Additionally, the DC prominently displayed two 20-square

<br>

meter-wide solar cells and two 10-kilowatt wind power generators that together could generate up to 7,300

<br>
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<br>

kilowatt hours per year. wal-Mart claimed that, as a whole, these systems helped each cdistribution ceter

<br>

reduce 31 tons of CO,emissions every year.

<br>

When asked about the concept of sustainability, however, staff downplayed its more tisible differences.

<br>

Connie Wu, assistant general manager of the Tianjin DC, stated, "When peoplë tall aböut sustainability,

<br>

they nomally first point to the systems that were designed into the facilitySustainability, however, goes

<br>

far beyond that. It includes the cartons that the material comes packed in aswell as the trucks that we

<br>

unload and load each day.'

<br>

In contrast t the United States, where over 90 per cent of total store sales passed through DCs, only 40 per

<br>

cent of Wal-MartChina's sales were supplied via its DCs. Fresh producis suchas bread, fish, vegetables

<br>

and fruit, along with some electronics goods and high-value itemsaweñesent directly to the SCs by

<br>

suppliers (DSD) (see Exhibit 11). These shipments from individug suppliers afrived at the SCs throughout

<br>

the day. One challenge was the lower-than-expected fill rates(order completeness) for some products

<br>

supplied to the DSD.

<br>

Products ariving at the DC were from vendors in the regon or were inter-DC shipments. Whereas Wal

<br>

Mart outsourced a standardized truckng eet aents incoming shipments from suppliers

<br>

of 81.5 meters cubed, equivalent to a 40

<br>

foot-"high"" container) for all of its DC-DC and

<br>

arrived ina diverse range of trucking and loadingonfgurationp While a far ey ffom the early years in

<br>

China when some goods arrived on the back ofbicycles the résponsibility of incoming goods transport

<br>

was left to local suppliers and resulted in differenteteucktypes, with high stacks of goods and little to no

<br>

use of pallets. All loading and unloading yas accomplished by hand using a 3PL provider. The cartons

<br>

were tagged with their routing numbers asfhey artiyed and palletized for transport within the facility. They

<br>

were then moved to either the "stable; inventory"part of Wal-Mart's safety stock that remained at the

<br>

DC for more than 30 days or were passed-int the "normal inventory," where it was hand-sorted and

<br>

then routed to either SCs or the Shenzhen DC in less than a day. Boxes were loaded onto trucks without

<br>

using pallets and seeking to maimize spaceutilization.

<br>

The Tianjin DC had about 70 doors on tach side for incoming and outgoing products. Thirty-two doors on

<br>

the outgoing side wer@Teserved for the SCs and the Shenzhen DC and 10 were reserved for Trust-Mart

<br>

stores. Goods traveling Bëtween the DCs accounted for approximately four to six trucks per, week

<br>

incoming from Shenzhenand one half to one truck per week outgoing to Shenzhen. Shipments to stores,

<br>

averaging 25 truckper daytook place when there was enough merchandise to fill an entire truck. Daily

<br>

four times that of the old DCopened in

<br>

capacity was;expeted to reach 330,000 cases in full operation

<br>

2003.

<br>

WhereaspSD4eadtimès were generally only a few days, shipments supplied via the DCs required several

<br>

weeks from the time the order was placed on the supplier. The average transportation time from DC-store

<br>

was about twö days, but could be higher due to poorer transportation infrastructure (e.g. from Shenzhen to

<br>

Kunming could takefour days) or the requirement for inter-DC movement (e.g. Shenzhen DC to Harbin

<br>

xja ihè TianjinDC took about two weeks).

<br>

he DCaso received six to eight truck loads (22 pallets per truck) per week of products returned from

<br>

stores düe to obsolescence, slow sales or in, some cases, quality problems. A returm to vendor program was

<br>

place to handle these situations. The DC normally reserved space for approximately 1000 pallets of

<br>
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Supercenter Operations

<br>

8/

<br>

goods waiting to be returned to suppliers. However, this ballooned to about one-sixth of wareliöusiný

<br>

space son after holidays such as the Chinese Spring festival.

<br>

9B08p009

<br>

or

<br>

Operationally, Wal-Mart China offered around 25.000 stock keeping units (skus)per store. While this

<br>

variety was only about a quarter of that provided in its U.S. stores, it was simila to that provided by its

<br>

foreign competitors and higher than that provided by most domestic competitors. Based on Wal-Mart's

<br>

intermal data, the company's in-stock rate was in the high 90s signíficantly higher than the industry

<br>

reported average of 90 per cent in 2003.° Wal-Mart's estimated inventr: consistent with the report's

<br>

estimate of a national average of 25 to 40 days.

<br>

In comparison to its DCs, Wal-Mart China had been much ore limited in opportunities to design

<br>

sustainability into its SCs. While it employed T5 energy efficienf light.blbs and there were initiatives to

<br>

reduce waste, it was a different situation to the United S tates, where most of Wal-Mart stores started as

<br>

greenfield projects. Instead, store managers felt their greatet contribution to sustainability came through

<br>

the types of products they promoted and the shopping behaviors they encouraged.

<br>

Product Inspectiön,

<br>

Baker Jiang, the Northeast Regional director of gßerations, comnented this way: "We see sustainability

<br>

issues in everything from the lighting that this store uses to the faç that we ask all of our associates to print

<br>

on both sides of a page of paper. For the higherlèyel mnagers there are also personal training sessions

<br>

where the company helps you to identify places-in yor personal life that, if changed, could result in a

<br>

more sustainable environment.

<br>

Reusable shopping bags was onë area whereWar-Mart China had sought to provide a more sustainable

<br>

alternative to its customers. The company pàrtnered with Unilever to design a 10 RMB cloth bag and then

<br>

defrayed 70 per cent of the cöst, only asking the customer to pay three RMB. Wal-Mart thn set up a

<br>

special express checkout line fo Customersusing the bags and gave prizes to those who used the bag five

<br>

times. These initiatives came prior tö"the Chinese government's announcement that as from June 2008

<br>

shops throughout the cöuntry would be prohibited from offering thin film bags and would have to visibly

<br>

charge a separate fee forthicker plastic bags (see Exhibit 12). In response to the change in legislation, Wal

<br>

Mart China was preparingfurtherinitiatives in this area that were likely to be unveiled at the October 2008

<br>

meeting.

<br>

When operations first began, the Wal-Mart DCs in China opened all of the cartons received from vendors.

<br>

However, withthe tightening of government regulations and improvements in supplier reliability, they had

<br>

moved to eithersampling or, in the case of worldwide partners such as P&G, to omitting the inspection

<br>

altogether. Currently, the only products that were fully inspected were those that needed to be taken out of

<br>

their iniial packaging and repacked into mixed shipments bound for SCs. These inspections were primarily

<br>

to compl with tight government regulations on disclosing the shipping contents of all cartons.

<br>

Inspection at the DC entailed both a cursory check upon arrival to see if the general amounts were correct

<br>

and whether there was any obvious damage anda subsequent check, for legal reasons, to confim that

<br>

6 H. Drinkuth. S. Yeung and F. Zheng, Supply Chain Excellence in Chinese Grocery Retailing, Roland Berger Strateay

<br>

Consultants, Shanghai, 2003.

<br>
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Return to Vendor

<br>

B2

<br>

quantities matched those listed on govermment-required documents. Stores inspected DSD shipmerits, but

<br>

did not inspect shipments from DCs. The trucking options and hand loading and unloacding tookatoll'on

<br>

the outer packaging, with many cartons visibly damaged by the time they arrived at the storëWal-Mart

<br>

China's experience, however, was that breakage prior to reaching the shelves was quite suall.

<br>

9B08DO09

<br>

It was common inChina for larger retailers to have negotiated agreements with suppliers allowing for the

<br>

return of goods that were slow to sell, had quality problems or had been retürned by customers in.unsalable

<br>

condition (Wal-Mart offered its customers a 90-day no questions asked. returm policy for sales of non

<br>

perishable goods). Although such return to vendor (RTV) progrAms were.costly, suppliers saw some

<br>

benefit in avoiding the erosion of product value which could follow pricë:discounting something more

<br>

common in the United States. Instead, the Chinese retai/vendorielationship often saw slow-selling items

<br>

enter a reverse logistics" process, with the product stored (at theaDor the store in the case of DSD

<br>

goods) until goods were reclaimed by suppliers or destroycd. In reality, the actual 14-day grace period for

<br>

collection was often stretched by supplierssome suppliers, appeared to view Wal-Mart's leniency as an

<br>

opportunity for free warehousing.

<br>

LOCALIZED SUSTAINABILITY

<br>

While Wal-Mart sought to sell its entire inventory, sometimeš using internal competitions and bonus

<br>

programs that rewarded SCs that sold the most:öf certain, typesöf products, the cost of reverse logistics

<br>

returns was still significant. As such, Wal-Mart was,s

<br>

as,seekiig to convince suppliers that discounting unsold

<br>

product may be preferable to reverse logisticsbut ithd not been able to find many suppliers willing to

<br>

provide a small discount in return for ending the RTV program.

<br>

Many of the most challenging questions ofsustainability concerned resolving the differences in standards

<br>

and values around the world. Wal-Marthad to account for the varying govermment regulations, levels of

<br>

developed infrastructute,nd customer preferences of the communities throughout its operations. For

<br>

instance, Wal-Mart had begyn to adopt ROHS compliance as a standard in some of its operations with

<br>

regard to the selectionof suppliers and their products. The company had also determined that it could

<br>

positively impact th global:çommunity by promoting CFL blbs. However, a seemingly simple question

<br>

like whether:to promote these light bulbs in its China region resulted in hours of discussions. The point of

<br>

contention lay in, the fact that each bulb contained a very small amount (less than five mg) of mercury.

<br>

That level'of mereury posed no significant danger by itself, but when multiplied by thousands of light

<br>

bulbs aländfilgitcreated a significant footprint if not recycled properly. Countries like the United States

<br>

and Germany already had much of the required recycling systems in place to handle this sort of product,

<br>

but China did not. With most bulb lifetimes being measured in years instead of months, the necessary

<br>

infrastructure cOuld possibly be developed after sales significantly picked up, as had been the case for

<br>

CEBSin much of the United States. However, while Wal-Mart could work with suppliers and govermment

<br>

agenciesto lower the mercury levels in the product and to incorporate recycling costs into the initial sales,

<br>

there was still the question of who was responsible if certain commitments were not met. However, after

<br>

muh:bate at Wal-Mart China and the successful sale of 110 million CFL units in the United States,

<br>

Wal-Mart China decided to begin working with local suppliers to promote the bulbs in its region. It was

<br>

able to offer two energy-efficient bulbs for the price of one and planned internal competitions to encourage

<br>

Stores to strongly promote the product. By the end of the promotion, Wal-Mart had sold the majority of its

<br>

initial stock, but a major increase in consumer purchasing had not materialized and many of its stores were

<br>
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<br>

left with excess inventory. Unlike in the United States, where sales took off, the China marketstillSeemed

<br>

to be too price-sensitive at the cash register to trust the long-term energy savings the prodyetsegmis

<br>

1he proper disposal of waste was not limited to light bulbs. Wal-Mart Chinahadalwaysaccepted

<br>

responsibility and the asociated costs of the safe disposal of fluids used by is quickpliöto development

<br>

centers, but determining who should pay for general battery disposal in Chína wasjanother challenging

<br>

question. Batteries placed in landfills leeched chemicals harmful to ground watet;and'so strong govermment

<br>

regulations existed surrounding their disposal. As a seller of many of these batteriësWal-Mart had chosen

<br>

to provide convenient drop-off locations where customers could leave ysed battefieš to be recycled. In

<br>

COuntries like the United States, these products were then sold back to recycling centers, defraying the cost

<br>

of the service. In China, however, interprovincial transport of used bätteries required costly licenses and

<br>

transporting used batteries with other goods was prohibited. These rogulations made

<br>

cost-prohibitive for

<br>

Wal-Mart to transport the batteries it collected and so the companý had to payfor a certified third party to

<br>

tranisport the batteries to recycling centers.

<br>

As a final example, some fims in China were unable to meet requirements set by the global sustainability

<br>

movement because they lacked government-provided intråstructure. For example, even in large urban

<br>

centers such as Beijing, sewage water treatment only,coyert30 per cent of the city as recently as 1996.

<br>

While the local govermment in Beijing had broadened sewageatr

<br>

teatment availability, many other areas in

<br>

China stillrequired significant infrastructure upgrades Btore localcompanies could comply with standards

<br>

such as ISO14001 and in many cases appropriafë, watert

<br>

teatmeiñt facilities would not be established for

<br>

several years. In situations where the supplieras 100 per cent compliant with Chinese laws and

<br>

regulations but not immediately in a position to changetomeet the broader sustainability standards, Wal

<br>

Mart generally chose to set a grace periodin whicht would look for growing compliance. To support this,

<br>

Wal-Mart China was continuing tordevelopsa scofëcard for its suppliers that measured areas like energy

<br>

efficiency and pollution. It had.already implemeited a packaging scorecard in which suppliers described

<br>

how they packaged goods. This allowedWal-Mart to caleulate their footprint and show them how to

<br>

improve. One example of this inyolved thepackaging of one of Wal-Mart China's apple suppliers. Wal

<br>

Mrt successfully worked with thésupplie to improve cube utilization and switch to single color printing.

<br>

The end result was a 13 per cent costreduction in the packaging, with no'negative impact on consumer

<br>

preference.

<br>

THE COST OF SUSTAINÄBILITY

<br>

Ultimately, Pertsch kiew he question of sustainability every firm had to answer was how much they

<br>

would be willingtosacrifice in order to achieve footprint and operational goals. He was certain that the

<br>

view thar sustainäble products and operations were always more expensive was simply incorrect. It was

<br>

his beliefhat there were a great many areas in Wal-Mart operations where the more sustainable option was

<br>

also the mofeleconomical one. Even in the cases where there would be an additional cost, it was often

<br>

insignificant and resultedin a significantly better footprint. Furthermore, his background in merchandising

<br>

led bin.to believe that if Wal-Mart approached the situation creatively with marketing, public relations and

<br>

Supplicršupport, the consumer would value the smaller footprint and would be more loyal in the long run.

<br>

HoWeve, Wal-Mart China also had to educate its stakeholders about its policies, products and services in

<br>

iegards to sustainability. Unfortunately, in the past many other companies had sought to portray

<br>

tihemselves in a more sustainable position than was actually the case. Their "sustainable solutions" were

<br>

later determined to have either resulted in little actual change or, in some cases, an even larger ecological

<br>

footprint.This kind of communication by non-compliant companies was referred to as "Green Washing"

<br>



Page 11

<br>

9B08D009

<br>

and had resulted in significant public backlash. Consumer confusion over mercury in CFL nitswasn

<br>

example of this danger. It was risky for Wal-Mart to make statements until there was more;certification of

<br>

sustainable standards. A European example of this kind of certification movement jvas Oeko-tex, an

<br>

from fibr to ready fabricBut until

<br>

organization in Germany that defined standards for textile products

<br>

a time in which these standards and certifications were more developed in China, Fertsh's.téam would

<br>

need to move forward carefully so that the communications it released toits suppliers, associates and

<br>

customers were both true and could stand the test of public scrutiny for years tö comë.

<br>

CHALLENGING DECISIONS

<br>

Jonathan Dong (director of public relations) said, "Sustainability will be a differentiating factor between' a

<br>

good enterprise and a great one. It takes vision, leadership, andcöuragesto commit to such a challenge.

<br>

All the environmental sustainability initiatives being implemented at Wal-Mart are not something we

<br>

do for public relations mileage. Rather, we are grasping an historiiopportnity to put Wal-Mart on a solid

<br>

footing for long-term, sustainable growth.

<br>

-History would ultimately look back and judge the fu!!_ effet that Wal-Mart China's sustainability focus

<br>

would have on its stakeholders. Fertsch and his team'Sinitial-challenge, however, was to lay out the next

<br>

steps for Wal-Mart China's SVNs and to clearly,demonstrate to their stakeholders at the October summit

<br>

that sustainability in the Chinese context couldoe not oily, bettef but also more profitable. In particular,

<br>

Fertsch wanted to identify a few of the many possible projects to serve as examples and to show summit

<br>

also,wanted to identify key facts that attendees fromn

<br>

participants the range of possibilities in ChinaaHe also

<br>

abroad would need to understand about Wal-Mart's China's situation and options. Finally, he wanted to

<br>

decidë which projects to pursue.

<br>

outline some principles that should:beusedto decid

<br>
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2008

<br>

2007

<br>

2006

<br>

2005

<br>

2004

<br>

2003

<br>

2002

<br>

2001

<br>

2000

<br>

1999

<br>

1998

<br>

1996

<br>

1995

<br>

1990

<br>

1985

<br>

1980

<br>

1975

<br>

Net Sales

<br>

1970

<br>

374,526

<br>

344,992

<br>

308,945

<br>

256,329

<br>

1997 99,627

<br>

204,001

<br>

180,787

<br>

281,488 216,832

<br>

112,005

<br>

229,616 178,299

<br>

89,051

<br>

78,338

<br>

WAL-MART FINANCIAL AND OPERATIONAL RESULTS

<br>

Cost of

<br>

Sales

<br>

6,401

<br>

286,515

<br>

156,249 121,825

<br>

1248

<br>

264,152

<br>

130,522 102,490

<br>

236

<br>

237,649

<br>

31

<br>

198,747

<br>

159,097

<br>

140,720

<br>

88,163

<br>

25,810 :20.070

<br>

70,485

<br>

61,929

<br>

4,722.

<br>

19

<br>

177:

<br>

Operating,

<br>

SG&A

<br>

3

<br>

70,288

<br>

64,001

<br>

55,739

<br>

50,178

<br>

44,909

<br>

78,897 T6,437

<br>

39,983

<br>

35,147

<br>

30,822

<br>

26,025

<br>

21,778,

<br>

18,83

<br>

13,s47

<br>

2,434

<br>

4,070

<br>

1,181

<br>

252

<br>

48

<br>

Exhibit 1

<br>

6

<br>

Net Income

<br>

12,73 1

<br>

11,284

<br>

11,23 1

<br>

10,267

<br>

9,054

<br>

7,955

<br>

6,5

<br>

5,324

<br>

,504

<br>

3,042

<br>

2,737

<br>

2,681

<br>

1,076

<br>

271

<br>

41

<br>

6

<br>

A financiaidala is in USS milions. Fiscal year ends January 31.

<br>

Number of

<br>

Stores

<br>

7,262

<br>

6,779%

<br>

6,037

<br>

5,289

<br>

909

<br>

4,672

<br>

4,398

<br>

4,172

<br>

3,983

<br>

3,591

<br>

3,394

<br>

3,054

<br>

2,943

<br>

2,784

<br>

1,525

<br>

756

<br>

276

<br>

104

<br>

18

<br>

Source: Wal-Mart'Ahnual Reports, htp://walmartstores.com/nvestors/7666. aspx.

<br>

Mart,

<br>

"China

<br>

stores

<br>

101

<br>

73

<br>

56

<br>

43

<br>

a

<br>

34

<br>

26

<br>

19

<br>

1

<br>

6

<br>

3

<br>

2

<br>
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<br>

China

<br>

ist

<br>

Mart

<br>

Stores

<br>

101

<br>
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Market

<br>

WAL-MART'S INTERNATIONAL, DATASHEET AS OF JUNE 2008

<br>

Mexico

<br>

Puerto Rico

<br>

Canada

<br>

Argentina

<br>

Brazil

<br>

China (*)

<br>

United Kingdom

<br>

Japan

<br>

Costa Rica

<br>

ElSalvador

<br>

Guatemala

<br>

Honduras

<br>

Nicaragua

<br>

-86

<br>

Exhibit 2

<br>

Wal-Mart International!

<br>

Source: Wal-Mart Stores, Inc. -Facts & Wews.

<br>

Retail Units

<br>

1,045

<br>

54

<br>

305

<br>

24

<br>

315

<br>

206.

<br>

344

<br>

3921

<br>

152

<br>

71

<br>

46

<br>

46

<br>

3,146

<br>

* Including a 35 per cent interest in Trust-Mart, which operate's 101 stores in China.

<br>

Date ofEntry?

<br>

Nov-9

<br>

küg:92

<br>

Nov-94

<br>

Aug-95

<br>

May-95

<br>

Aug-96

<br>

Jul-99

<br>

Mar-02

<br>

Sep-05

<br>

Sep-05

<br>

Sep-05

<br>

Sep-05

<br>

Sep-05

<br>

9BO8D009

<br>
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3 basic values

<br>

and beliefs

<br>

10-foot rule

<br>

(3-metre rule in

<br>

China)

<br>

Sundown rule

<br>

Wal-Mart

<br>

teamwork spirit

<br>

Respect for the Individual

<br>

Service to Our Customers

<br>

WAL-MART CULTURE AND RULES

<br>

Striving for Excellence

<br>

B7

<br>

Exhlbit 3

<br>

*1 promise that whenever I come within 10-feet of a customer, Iwill lookhim in

<br>

the eye, greet him, and ask ifI can help him."

<br>

Source.: Wal-Mart Stores, Inc - Culture

<br>

Why put off until tomoTOW what you can do today?" Whether it's a request

<br>

from a store across the country or a call from an associate down the hall, we do

<br>

dayservice.

<br>

our very best to give our customers, and eaçh other,

<br>

Sam Walton believed it's the teamwork
K that-makes Wal-Mart special.

<br>

What makes ordinary.people doextraordinary things?" Sam Walton once

<br>

asked. "Aren't we a group of ordinary folk$? Weaeally are. And I think we,

<br>

together as a team, have done extràordinar things. We've all growm, we've all

<br>

accomplished much more thân any öfus ever thought that we could,"

<br>

H

<br>

9BO8DO09

<br>
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<br>

UNITED STATES' SUSTAINABLE VALUE NETWORKS

<br>

Energy

<br>

Waste

<br>

Global Greenhouse Gas Strategy

<br>

Energy, Design Construction & Maintenance

<br>

Alternative Fuels

<br>

Global Logistics

<br>

Exhibit 4

<br>

Operations & Intenal Procurement

<br>

Packaging

<br>

Textiles

<br>

Electronics

<br>

Food & Agricultures

<br>

Forest & Paper

<br>

Chemical Intensive Prodcts

<br>

Jewelr

<br>

Seafood

<br>

China Vendors

<br>

Source: Shawn Gray, vice-presideinttoRRatar

<br>

9B08D009

<br>

,

<br>

eratiáns, Wal-Mart China, Wal-Mart current sustainability project introduction.

<br>
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<br>

Product price

<br>

Relative price

<br>

Promotions

<br>

Product variety

<br>

Product quality

<br>

About the survey:

<br>

Exhibit 5

<br>

CHINESE CONSUMER SATISFACTION SURVEY

<br>

Industry
Wal-Mart Carrefour

<br>

Average

<br>

70.37

<br>

68.42

<br>

89
<br>

64.84

<br>

74.94

<br>

74.33

<br>

74

<br>

71

<br>

65

<br>

78

<br>

79

<br>

71

<br>

67

<br>

78

<br>

73

<br>

Wu-Mart

<br>

69

<br>

68

<br>

64

<br>

73

<br>

73

<br>

9B08DO09

<br>

Adapted from: Wang Gao, Li Fei and Lu Qibin, Chinese SupermarketsiGustomer Satisfaction Research, School of

<br>

Economics and Management, Tsinghua University. Used with permission.

<br>

The data used in this survey is derived from the results of random sampling surveys in 2005 measuring

<br>

customer satisfaction with supermarkets, conduted with, a Computer Assisted Telephone Investigation

<br>

(CATI) system, by China Retail Research Centef,TsinghuaUniVersity.

<br>

The survey studied 20 large supermarkets in eightelarge cities and interviewed 5028 customers. The study

<br>

showed that there is only a small amount of difèrentiätion between supermarkets based on customer

<br>

satisfaction. However, among thdifferenes fou

<br>

fouñd, perceived value is the most important element in

<br>

customer satisfaction. Perceived value is composed of three sub-factors: product price, relative price to

<br>

other supermarkets and promoions. This was followed in importance by image, merchandise and shopping

<br>

environment. Service, check-öt process.and store policý are less significant in affecting customer

<br>

satisfaction. Shop facilities and shoppingiconvenience have nearly no impact on customer satisfaction. The

<br>

customer satisfaction leyel greatly influences customer loyalty.

<br>

The survey fournd that ali förign supermarkets ranked above average. Wal-Mart was ranked no. two in the

<br>

survey, while Carrefourwas no. seven and Wu-Mart was no. 17.

<br>
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<br>

The emnergnce of a middla class

<br>

Share ol uban housel:nlds hy tncone clacs, %

<br>

100

<br>

BG

<br>

Note: income in USS.

<br>

70

<br>

60

<br>

40

<br>

20

<br>

1€

<br>

CHINESE HOUSEHOLD INCOME BY CLASS

<br>

1985 1990

<br>

"Bass casr forecast, Qr s00G.

<br>

Actua

<br>

Exhibit 6

<br>

Forecast

<br>

1995 2000 2005

<br>

Source.: Mckinsey Quarterly. Used with permísslon.

<br>

Emercence cflcwer

<br>

middeclass' segment

<br>

Emcrgernçe of upper

<br>

misdle-clss segRei

<br>

Stxrce: National Barcait afSisties of Chins; KektsesSilobal Justítute analyss

<br>

2010201 2020 2025

<br>

Usper nunte tlass

<br>

Lovwer middle class

<br>

Poar i:25,000 rerninbij

<br>

iass alut

<br>

9B08DO09

<br>
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<br>

Cumulative

Percentage

of

Households

<br>

Depüty

<br>

100%

<br>

CO0

<br>

90%

<br>

80%

<br>

70%

<br>

60%

<br>

S0%

<br>

40%

<br>

30%

<br>

20%

<br>

10%

<br>

0%

<br>

VP-HR,

<br>

Integration,

<br>

Asset Protction &

<br>

Administration

<br>

VP

<br>

Operations

<br>

Supercenters/

<br>

2500

<br>

Markets

<br>

Source: adapted from Euromonitor International fôm IMF and National Statistics, 2006.

<br>

Söurce: Wal-Mart China.

<br>

CFO

<br>

HOUSEHOLD DISPOSABLE INCOME IN CHINA

<br>

5000

<br>

Household Disposable Income (Us$/year)

<br>

VP

<br>

Development

<br>

VP

<br>

Supercenters/

<br>

Neigbbourhood Neighbourhood

<br>

Merchandising

<br>

WALMART CHINAORGANIZATIONAL CHART

<br>

Markets

<br>

Exhibit 7

<br>

750010000

<br>

Exhibit 8

<br>

Sam's

<br>

Senior

<br>

CEO

<br>

Director

<br>

Operations

<br>

COo

<br>

12500

<br>

VP.

<br>

Afairs

<br>

General

<br>

Corporate
Counsel

<br>

Senior

<br>

Director

<br>

VP

<br>

Merchandising| Marketing

<br>

Sam's

<br>

15000

<br>

Director

<br>

Internal

<br>

Audit

<br>

Senior

<br>

Director

<br>

Supply

<br>

Chain and

<br>

Logistics

<br>

9BÖ8DO09

<br>

Director

<br>

Private

<br>

Brand

<br>
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<br>

Industry status:

<br>

Note: data compiled from CVSC-TNS Research (CTR).

<br>

Green policy:

<br>

-92

<br>

Exhibit

<br>

The brand awareness of Blue Moon is 88.74 per cent. Customer satisfactiöfi is 9740 per cent. In 2006.

<br>

Blue Moon ranked fourth in China's daily chemical industry. The market shares of its hand wash. toilet

<br>

cleaner and floor cleaner all ranked #1 in China.

<br>

BLUE MOON

<br>

Suppo

<br>

Blue Moon's environmental policy is, “Protecting the environment'isprotecting ourselves. Our products

<br>

deliver not only cleanliness but also protection to our customers." The ingredients Blue Moon uses are

<br>

biodegradable materials, with no aluminum and phosphate. thas promoted environmental awareness and

<br>

protection in China and has gained ISO14001 certification.

<br>

1.comCn

<br>

Source.: Blue Moon company website, htp:l/www.bluemoop.

<br>

9BÖ8DO09

<br>

ÈxhibitA0

<br>

P2E2

<br>

The P2E2 (Pollution Prevention Energy Efficiency) program based in Hong Kong is an environmental

<br>

on a Uñited States-China program that encourages environmental

<br>

finance business.model based
o:

<br>

cooperation. There are two key features ofthis program: (1) end users in mainland China that have either a

<br>

Hong Kong parent or ubsidiary company may obtain P2E2 technology upgrades to their factories, power

<br>

plants or. real estate deselopments from a Hong Kong-based *Environment and Energy Service

<br>

Company" (EESCO) withioupfront, or extra capital cost, and subject to a performance contract assigned

<br>

g companies; and (2) Hong Kong-based EESCOs are paid in hard currency in

<br>

between the two Hong Kong

<br>

Hong Kong for allP2E2 technical upgrade work done in Asian developing countries, including mainland

<br>

China. Finatcing foP2E2 projects is provided by Hong Kong commercial banks as working capital and

<br>

trade financeToans attbnefit from loan guarantees, loan syndications, direct investment and other

<br>

from the Asian Developmnent Bank and the International Finance Corporation of the World Bank

<br>

Groupnshort companies in China that have a Hong Kong parent are eligible for free upfront upgrades to

<br>

their curient,equipment through P2E2. In return, the companies agree to pay savings accrued from the

<br>

upgrades back-to the P2E2 investors over a given time period.

<br>

Source United States Commercial Service,

httpIwww.buyusa.govhongkong/en/about_p2e2.html

<br>
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<br>

Regional Suppliers

<br>

Local Suppliers

<br>

Exhibit 11

<br>

WAL-MART CHINA'S NORTHERN DISTRIBUTION MODEL

<br>

Tianjin Distribution Center

<br>

Direct Supply

<br>

ibitst

<br>

CHINA'SNEW PASTIC BAG POLICY

<br>

31 Supercenters

<br>

17 Cities

<br>

9B08p009

<br>

The China State Council issued a new fegulation on the utilization of plastic bags A Notice on .

<br>

Restraining of Production andUe of Plastic Shopping Bags. From June 1, 2008, the preduction, sale and

<br>

use of film plastic bags are prohibited.

<br>

Source: General,Office of the State Council of the People's Republic of China (translated).

<br>

The new regulation requires a nationwide prohibition of the production, sale and use of plastic shopping

<br>

bags thinner than 0.025 0n. All supermarkets, department stores and other markets in China will be

<br>

required to charge CIIstomersfortplastic shopping bags. No free plastic shopping bags will be

<br>

All retailers will hayeto post the price of the plastic shopping bags and the price of the plastic shopping

<br>

provided.

<br>

bags will haye tobe listediseparately from other items purchased by customers. The price of plastic

<br>

shopping bags.can not be merged into the aggregated price of other items purchased. The price of plastic

<br>

shopping bags should not be less than the net cost of the bags. Individuals and companies found to be non

<br>

compliantiwill:façe a maximum penalty up to RMB 20,000 (approximately US$2,800).

<br>



No. of Pages -One
<br>

DA (II)Beonomlon

<br>

END SEMESTER 1DXAMINAIION

<br>

Roll No

<br>

May/June-2019

<br>

PAPER CODE BA11.1- Introductory Macroeconomics

<br>

Time: 3:00Hours

<br>

Max. Marks: 75

<br>

Note: Answer 5 questions in all. Each question carries equal marks.

<br>

Make neat diagram. Only simple calculator allowed.

<br>

1. "Circular flows of inconc canbe cxplaincd by cconomic transactions

<br>

between Houscholds, Firms and the Government, in a closed economy".

<br>

Explain. What is the significance of injcctions and withdrawals in an

<br>

open cconomy?

<br>

2. (a) Dcmonstrate the relationship between various National Income

<br>

Aggregates.

<br>

(b) Derive National Income accounting for an Open Economy.

<br>

3. Discuss nature of inflation', accounting for inflation' and

<br>

"measurement of inflation'.

<br>

4. Define money, explain its functions and show how credit creation

<br>

takes place in an economy.

<br>

5. Explain the debate between Classical and Keynesiani thought.

<br>

6."Saving and investment are equal only under equilibrium"

<br>

8. Short notes on any twO

<br>

&

<br>

"Saving is always equal to Investment"; Clear the contradiction

<br>

between the two statements.

<br>

7. How does General Equilibrium take place in a closed economy?

<br>

Derive and discuss.

<br>

(i) Balance ofPayments

<br>

(1) Consequences and costs of inflation

<br>

(ii) Investment Multiplier.

<br>



conditions for unique solution, no solution and infinite solutions.

<br>

(3)

<br>

b)Consider the system:

<br>

()

<br>

2x -3x, + 2x3 = 4q

<br>

3x, - 2.x, + px3 =4

<br>

For what values of p and q, this system has no solution,

<br>

ùnique solution and.several solutions.

<br>

(ii) Determine the values of p, the set of all vectors z that are

<br>

orthogonal to the three vectors:

<br>

and

<br>

3

<br>

Q16 (a) State and prove the envelope theorem.

<br>

(7)

<br>

(5)

<br>

(b) A firm uses inputs K and L of capital and labour respectively to

<br>

produce a single output Q according to the production function

<br>

Q= K1/21/4, The prices of capital and labour are r and w,

<br>

respectively. Find the cost minimizing inputs ofK and L and also the

<br>

minimum cost C as functions of r, w and Q. Denote the cost

<br>

minimizing values by K*, L' and C*. Verify the result of Envelope

<br>

theorem.

<br>

(5)

<br>

Total No. of Pages 4

<br>

T['SEMESTER

<br>

END SEMESTER EXAMINATION

<br>

PAPER CODE BA 112

<br>

Time: 3:00 Hours

<br>

TITLEOF PAPER Mathematical Methods for Economics II

<br>

Note : Each Section is compulsory.

<br>

Internal choice is given in each section.

<br>

Use of simple calculator-is allowed.

<br>

Section A

<br>

Attempt any 11 guestions from this section

<br>

BA(H) Economics

<br>

(1- 0)(2,2,4) + 0(5,0,3)

<br>

May 2019

<br>

Q1. For a value of 0 (0 <0s 1), following combination of two

<br>

Vectors can be produced:

<br>

Max. Marks: 75

<br>

Is it possible for the company to produce the following output vectors:

<br>

(iii)(1,6,9)

<br>

X1– X2 +xg = 2

<br>

(5)

<br>

Q2.(i) What is the condition for orthogonality of twovectors in terms

<br>

of scalar product?

<br>

(2.5)

<br>

(ii) Use the condition of part (i) find out the value of x for which

<br>

two vectors: (x, x -1, 3) and (x, x, 3x) are orthogonal. (2.5)

<br>

Q3. Find the equation of plane through the points (3, 4, -3), (5, 2, 1)

<br>

and (2, -1, 4)

<br>

04. Use Cramer's rule tosolve the following equations:

<br>

(5)

<br>

(5)

<br>



Q5. For involutivc matrix, solve the following

<br>

(1)

<br>

(ii)

<br>

(ii)

<br>

What is involutive matrix, Show that thc detcrninant of

<br>

involutive matrix is -1 or 1

<br>

Show that

<br>

all a.

<br>

Show that A involutive implics that (,, -A)(,, + A) = 0

<br>

Q6. Find the rank of the following matrix:

<br>

1

<br>

2

<br>

-1

<br>

and

<br>

()are involutive for

<br>

2

<br>

-1 3

<br>

4 -4 7

<br>

-2 -1 -2

<br>

Q7. Find the eigenvalues and cigenivectors for the following:

<br>

(2 1

<br>

1

<br>

N(t) =

<br>

-1

<br>

1

<br>

-2/

<br>

Q9. A) Find the directional derivatives:

<br>

(5)

<br>

Q8. If f(x,y) = y'e**, findall of the first and second-order partial

<br>

derivatives at (x, y) = (0,1).

<br>

f(x,y) = 2x +y-1 at (2,1) in thedirection of (1,1)

<br>

F(%, y)=x+y² and x= t² and y = t³

<br>

(5)

<br>

B) Describe chain rule of differentiation with z = f(x,y) and

<br>

x= g(t,s) and y= h(t,s). Use chain rule to find dz/dt for the

<br>

following:

<br>

n(r)e-ö(t-T(0)dt

<br>

(5)

<br>

(2)

<br>

Q10. In a growth model studied by N. Kaldor and J. A Mirrlees, a

<br>

function N isdefined by

<br>

(3)

<br>

Where T = Tt) is a given differentiable positive function. Compute

<br>

Nt).

<br>

(5)

<br>

O11.M. Brown and J.S De Cani in a papcr on technical progress and.

<br>

incomc distribution uscd thc following profuction function:

<br>

N KD

<br>

u/ß

<br>

F(K, N) = 8, NO + 6zKP)

<br>

=l-ax)(*-a)

<br>

Wherc ß, u, 6, and 6, arc positive constants. Compute OKN

<br>

Q12. (i) Solve the following differential equation

<br>

(5)

<br>

(3)

<br>

(ii) Categorise the equilibrium points of the following equation

<br>

using slope ficld and phase diagram.

<br>

= x(x –2)

<br>

Section B

<br>

Attempt any two questions from this section.

<br>

Q14 a) Consider the system of cquations

<br>

utv= Xy

<br>

uv= -x + y²

<br>

(2)

<br>

Q13. A firm wants to minimize its cost function given by x +y² +

<br>

z2.The firm has to deal with two constraints given by x + 2y+z=

<br>

1 and 22x-y-3z = 4. Find the value of x and y that optimizes the

<br>

cost function subject to the constraints.

<br>

(5)

<br>

Find the differentials of u and v expressed in terms of dx and dy. Find

<br>

the partial derivatives of u and v with respect to x and y. Use

<br>

differential to evaluate the value of u(1.01, 0.02).

<br>

b) Let F(K, L, M) = AK“LM°. Show that KE + LF + MFy =

<br>

(a + b+ c)F

<br>

(5)

<br>

Q15 a) Define degrees of freedom and superfluous equations in

<br>

system of equations involving m equations and n variables, State the

<br>



Name of the Coursc: BA (Hons) Economics

<br>

Name of the Paper: English Communication Ability Enhancement Course

<br>

SemesterT

<br>

Time:3 Hours

<br>

Maximum Marks: 75

<br>

(Write your roll no. on top immcdiatcly on reccipt of this question paper). Answer all

<br>

questions.

<br>

1. Write short noteson any five of thefollowing:(5 x 2 =10 marks)

<br>

(a) Kinesics

<br>

(b) Infiections

<br>

(c) Feedback

<br>

(d) Intra personal communication

<br>

(e) Haptics

<br>

BA 3

<br>

(f) Paralanguage

<br>

(g) Soliloquy

<br>

(h) Machine translation

<br>

(i) Various barriers to communication

<br>

) Word stress

<br>

2. Read the passage below and answer the questions that follow:

<br>

Like all Ámericans,I worship the ollar. T always believedit was the single thing that

<br>

separated us from the rest of the world. With the dollar you could travel anywhere and

<br>

merchants would be happy to relieve you of it. Currencies in the rest ofthe world would

<br>

fluctuate, but the mighty dollar stood firm.

<br>

UglyAmerican tourists in Furone would make snide remarks ahout the French franc and

<br>

compare the Italian lira to Kleenex. Everywhere they went, there were signs in the store

<br>

Windows, “EnglishSpoken-Dollars Welcone Owner Wilingto TaketheAbuse."

<br>

American tourists pretended they were superior to the culture of"Old Europe." We were

<br>

the new empire and we made sure everyone knows it. I remember buyìng an English

<br>

French dictionary inParis. The first thing you were supposed to say to a French merchant

<br>

was, How much is that in dollars"? The second thing you said was, "You are a crook."

<br>



It wasn't until 1957 that wc printcd "In God We Trust" onour grconbacks. We always

<br>

Kie" Cod was behind the do!lor. but we wantcd to nake sure the communicte kney it. A

<br>

Tew Americans claimed that by putting God on our currency we werc mixing Church and

<br>

the statc. But they lost thc battlc. From then on thc whole world knew that God supported

<br>

Or currency. To attract pcople. the credit card companics put out the word that God also

<br>

supportcd plastic, which was the same thing s dollars.

<br>

Why am I prattling like this? Out of the bluc, the dollar is dropping and the Euro is going

<br>

up.

<br>

1/2
<br>

The United States laughed when the curo first came out, but it isn't laughing anymore.

<br>

10 gt back, wc printed more moncy, but thc more we printed, the more the dollar went

<br>

downhill. European merchants took down their "English Spoken Here" signs. A cup of

<br>

coffee now costs five Amcrican dollars. Postcards are $30, and a gondola in Venice goes

<br>

for $S0 an hour- wih no singing.

<br>

For the first time, we are being publicly humiliated because our dollar is weak. Some

<br>

ask, *Has Gud lei us down?" The Whiie House keeps sayig, "The doitar is exacify

<br>

where we want it to be- or it wouldn't be there."

<br>

F there is any solace in all this, it is that the Canadian dollar is weaker than the American

<br>

one. This causes friction between the neighboring countries, but there is nothing Canada

<br>

can do about it- except field a good hockey team.

<br>

I amsure the dollar will come back, particularly if China buys more American toys than

<br>

we buy Chinese ones.

<br>

When I told a friend that France is attacking our money, he said, "What else is new?"

<br>

Questions:

<br>

(a) Ilustrate how the author demonstrates - the blow to dollar supremacy was shocking

<br>

and unbelievable for the Americans?

<br>

(3 marks)

<br>

) Comment how the writer aptly portrays the relationship between economy/foreign

<br>

policy and religious iegitimization?

<br>

(3 marks)

<br>

(c) Find words from the passage with similar meanings to the following words: (4 marks)

<br>

1. Babbling

<br>

2. Disgraced

<br>

3. Resistance

<br>

4. Comfort

<br>

(d) Re-write this short passage in the form of a dialogue between an American tourist and

<br>

a French shopkeeper. Highlight the post-colonial anxieties of the American with

<br>

reference to the falling price of the dollar. (10 marks)

<br>

3. Read the passage below and write a summary in 50 words: (10 marks)

<br>



A jolly musicologist by thc cntircly unobjcctionable name of Henry Pleasants has written

<br>

a book called Thc Agony of Modern Music'. That word 'agony' is right. Much of it is

<br>

just not written down but improvised. Much of what passes for music of these times is

<br>

raucous noise and the excuse for persisting with it is that energy common youngster

<br>

understands and likes it. That Pleasant fellow concedes that 'serious' music is virtually

<br>

dead. This may be dismissed as yet another pleasantry which the undirected young

<br>

indule in. Paul Hindesumith, possibly onc of the last of the ciassicai giants, once said that

<br>

some composers tended to devclop an over-sublimated technique which produces images

<br>

of emotions that arc far removcd from any cmotional cxpcrience, a relatively normal

<br>

human being ever has. That is just the point. High art can never be totally democratized.

<br>

There is a barier between the cgghcad and the hoi polloi and it would be lazy idealism to

<br>

ignore this. When Bach played and Beethoven roared, who was then the gentleman?The

<br>

pity ofiis hat whilo taking musio to tho massco, al! knownrlos ars brokox and

<br>

improvisation becomes King. That, roughly speaking, is how jazz was born; by dropping

<br>

discipline, in'spiration, deep personal emotions and every element of creative art and

<br>

adopting improvisation as its main rational. Why, they even tried to smuggle bits of jazz.

<br>

into serious music so that the composers could somehow survive. Now, they are going

<br>

one step futher; learn it by car, don't write down the stuff, make it up as you g aong

<br>

and hope, hy these shoddv techniques, that evervone present will annlaud and thus

<br>

provide the composer and the performers with their daily bread.

<br>

4. (a) Interview a theatre artist on difficulties faced by street play performers. (10 marks)

<br>

OR

<br>

(b) Interview a theatre artist on how street shows can help in building public consensus.

<br>

5. Prepare a public speech on any one of the following: (10 marks)

<br>

(a) Effect of advertisements on our lives.

<br>

OR

<br>

(b) Is discipline antagonistic to creativity in life?

<br>

6. (aj Transiate the poem in Hindi in your own worás: (3 marks)

<br>

Nothing Gold Can Stav

<br>

Nature's frstgreen is gold,

<br>

Her hardest hue to hold,

<br>

Her early leaf's a flower;

<br>

But only so an hour.

<br>



Ther lcafsnboides to loaf

<br>

So Eden sank to grief,

<br>

So dawn goes down to day.

<br>

Nothing gold can stay.

<br>

OR

<br>

(b) Translation as a practice sccks to find cquivalences from the source to the target

<br>

language. Discuss with suitable cxamples how cultural connotations disrupt this process

<br>

of findingcquivalenccs.

<br>

1/4
<br>

7. Prepare a report on any ONE of the following: (10 marks)

<br>

(a) You attended a cricket match. Write a report on the match, for a newspaper that you

<br>

work for.

<br>

OR

<br>

(b) You were present at a promotional event for an upcoming movie. Write a report on

<br>

the event and the interactive session.

<br>

OR

<br>

(c) Write a compiaint ietter fo the manager of a hotef that you stay reguiariy regarding

<br>

poor quality room service during your recent visit.

<br>



Total No. of Pages 2

<br>

SECOND SEMESTER

<br>

END SEMESTER EXAMINATION

<br>

Time: 3:00 Hours

<br>

Note :

<br>

Assume suitable missing data, if any.

<br>

BA115 CUSTOMER RELÁTIONSHIP MANA GEMENT

<br>

Q.1[a]

<br>

1/5

<br>

Roll No.

<br>

Allquestions are compulsory and carry equal marks. Internal choice

<br>

is available in Q1-4.

<br>

BA (ECONOMICSI

<br>

Q.2[a]

<br>

May/June-2019

<br>

Discuss why companies would want to lengthen the duration

<br>

of relationshipswith its customers. In which circumstances could a

<br>

long term relationship be
disadvantageous?

<br>

Max. Marks: 75

<br>

[b] What is
prospecting? How do B2B companies identify their

<br>

prospects?

<br>

[b]

<br>

fc]. Discuss Kano's model of Customer Delight with examples

<br>

from the airline industry. (Attempt any2: 7.5*2 =15 marks)

<br>

[e]

<br>

Who are the
Strategically.

Significant
Customers of a

<br>

company.Discuss the types.

<br>

What do we mean by
Customer

Engagement? Discuss the

<br>

dimensions of
Customer

Engagement.

<br>

Discuss the kinds ofrisks that a
customerfaces while making

<br>

a purchase. How does he try tominimize those risks?

<br>

(Attemptany2: 7.5*2 =15marks)

<br>

Q.3 (a]
Discuss thesteps involved in

choosinga
CRMTool.

<br>

b]
Discuss the

various phases ofCRM
Implementation within an

<br>

organization.

<br>



[c] What is a Marketing Automation Software? Discuss some

<br>

functionalitics of this form of Opcrational CRM. (Attempt any 2:

<br>

7.5*2 =15 marks)

<br>

116 -
<br>

Q.4 Write slhort notes on nny 3 ofthe following (5*3 =15 marks)

<br>

Satisfaction Profit Chain

<br>

[a]

<br>

[b] Trivariate Model of Customer Portfolio Management

<br>

[c]

<br>

Customer Experience Mapping

<br>

[d] Functional & Hedonic Value

<br>

Q.5 [a] A multibillion dollar conglomerate has launched an e

<br>

commerce website for the new generation of Indians. A country

<br>

wide advertisement campaign is being run on television, radio,

<br>

newspapers and some magazines. There is outdoor advertising and

<br>

engagement at various college events as well. To ensure 360 degree

<br>

awareness, the company is also running a digital campaign across

<br>

the various social media and running advertisements online.

<br>

Identify all the touch-points that this company may have with its

<br>

customers based on the data above and your own understanding of

<br>

how a customer may use the company's website. Categorize the

<br>

touch-points across phases of the customer journey. Discuss how

<br>

the company may determine that it is doing well at these touch

<br>

points (i.e. what is the KPI?). (10 marks)

<br>

[b] A customer buys three different products in a year of Rs 5000,

<br>

Rs 1000 and Rs 10,000 in a given year. The company raises the price

<br>

of each product by Rs 500 each year. The customer remains loyal to

<br>

the company and continues to buy the product for the next 3 years.

<br>

At the same time, due to increase in prices, the company is able to

<br>

better serve its customers and the cost-to-serve gradually increases

<br>

by Rs 1000 each year. Cost to serve in the first year was Rs 5000.

<br>

The company has spent Rs. 20,000 to first acquire this customer.

<br>

Calculate the CLVof this customer if the discount rate is assumed

<br>

to be 10%. Is this customer profitable? (5 marks)

<br>



Total No. ofPages: 02

<br>

IVSEMESTER

<br>

ENDSEMESTER EXAMINATION

<br>

Time: 3:00 Hours

<br>

Noté: 1. SectionAisotnpülsory

<br>

A2. Aiteript äny. iwo.questiöns froi Soction B.

<br>

3;Ailempt any on& duëstior firottn'section O

<br>

BA 211: Iritermnediate Microcconomics 2

<br>

SECTION A

<br>

Q-2. Explain any one of the folowing in detail:

<br>

A)Bergson Samuelson's social welfare function

<br>

B) Walrasian Law in exchange market.

<br>

RollNo...

<br>

BA JEconomics

<br>

Q-1. Describe the first welfare theorem and its implications in the context of

<br>

general equilibriun in exchange market. (Use diagram).

<br>

prodyction.

<br>

May/June-2019

<br>

Max Marlks : 75

<br>

QD=1,000-5OP

<br>

SECTION B (Attempt any tyo questions)

<br>

Q-3. A) Explain the two-tariff policy of monopolist in second degree price

<br>

discimiation policy.

<br>

(5)

<br>

(15)

<br>

(15)

<br>

B)_Suppose a perfectly competitive industry can produce widgets at a

<br>

constant marginal cost of $10 per unit. Monopolized marginal costs rise to $12 per

<br>

unit because $2 per unit must be paid to lobbyists to retain the widget producers'

<br>

favoured position. Suppose the market demand for widgets is given by

<br>

a. Calculate the perfectly competitive and monopoly outputs änd prices. (5)

<br>

b.,Calculate the total loss of consumer surplus from monopolization ofwidget

<br>

(5)

<br>

Q-4. A). The game of Chicken is played by two macho teens who speed toward

<br>

each other on a single-lane road. The first to veer off is branded the chicken,

<br>

whereas the one who doesn't veer gains peer-group esteem. If neither veers,

<br>

both die in the resulting crash. Payoffs to the Chicken game are provided in

<br>

the following table.

<br>

(10)

<br>



Tecn A

<br>

Vecr

<br>

n. Draw the extensive form.

<br>

Don't vCcr

<br>

Teen B

<br>

Veer

<br>

2, 2

<br>

C. Compute the mixed-strategy Nash cquilibrium.

<br>

Ballet

<br>

3, I

<br>

b. Find the purc-strategy Nash cquilibrium or cquilibria.

<br>

a) Moral Hazard

<br>

(B) Explain sequential game and sub-game perfect cquilibrium in sequential

<br>

game with the use of traditional exarnple of Battle of sexes. The pay of matrix is

<br>

given below:

<br>

c) Adverse selection

<br>

Don't Veer

<br>

L,3

<br>

0,0

<br>

Player 2 (1Tusand)

<br>

Ballet Boxing

<br>

B) Write a short note on the following:

<br>

Boxing OOEERA

<br>

Q-5. Suppose that firms 1and 2 operate under conditions ofconstant average and

<br>

marginal cost but that firml's marginal cost is cj=10 and firm 2's is c2 -8.

<br>

Market demand is Q=500-2OP.

<br>

a) Suppose firms practice Bertrand competition, that is, setting prices for their

<br>

identical products simultaneously. Compute the Nash equilibrium prices.

<br>

(Toavoid technical problems in this question, assume that if firms charge

<br>

equal prices then the low-cost firm makes all the sales.)

<br>

b) Compute firm output, firm profit, and market output.

<br>

SECTION C (Attempt any one question)

<br>

c) Is total welfare maximized in the Nash equilibrium? If not, suggest an

<br>

outcome that would maximize total welfare, and compute the deadweight

<br>

loss in the Nash equilibrium compared to your outcome.

<br>

b) Signalling

<br>

(05)

<br>

Q-6. Analyse the relationship between externality and efficiency. Explain Coase

<br>

theorem in consumption externalities with the use of example and diagrams. (15)

<br>

Q-7. A) Explain market failure due to asymnetric information in the market of

<br>

lemons and plums.

<br>

(05)

<br>

(05)

<br>

d) Free riding in public goods

<br>

(05)

<br>

(7)

<br>

(8)

<br>



Asymmetric information problem? If yes, then identify fts týfc. What etions cai
<br>

SBItake to mitigate this type of asymmetric information problem?.

<br>

(6)

<br>

(6) Write down all the assumptions of Harrod-Growth Model. Then derive the

<br>

relationship between the warranted irate of growth, the expected rate of growth

<br>

and the actualrate of growth. Usimg this, cxplain the Harrod instability problem

<br>

in an economy. Also, tell what nakes Harrod model a Keynesian model.

<br>

(c)A booming stock market is good for investment. Explain?

<br>

(6)

<br>

(3)

<br>

oURTrISEMrSTER

<br>

CND SEMESTER EXAÌNATION

<br>

BA212 (INTERMEDIATE MACROECONOMICS I)

<br>

Max. Marks: 75

<br>

Time: 03:00 FHours

<br>

Note : First two questions are mandatory.

<br>

Roll No.
<br>

BA(H) ECONOMICS

<br>

MAY-2019

<br>

Attempt any three out of remaining four questions.

<br>

All questions carry equalmarks.

<br>

Q1. (a) True or False. Explain?

<br>

(i) Given that the primary objective of monetary policy is to achieve a given

<br>

inflation rate in the long-run, monetary policy. based on inflation targeting is a

<br>

better approach in the long-run but not in the short-rün.

<br>

(i) A conservative central banker (the one who- dislikes inflation) will choose a

<br>

higher a" and a lower "b" in theTaylor's rule.

<br>

(iii) According to Ricardian Equivalence, a tax cut today will expand economic

<br>

äctivity provide there is no risk of corresponding tax increase in the future.

<br>

(iv) Fiscal consolidation in a country like India provides more independence in

<br>

the use of monetary policy.

<br>

(v) As permanent income hypothesis, a temporary change in income will have

<br>

much more impact on consumption than a permanent change.

<br>

(vi) Existence of borrowing/liquidity constraint will make consumption very

<br>

sensitive to current income no matter whether the constraint is binding or not.

<br>

(2x6=12) }

<br>

(b) Brokerage fee is Rs. S per trip, Size of paycheck or Income is Rs. 400and

<br>

interest rate is 10%. Using transaction demand for money theory by Baumol and

<br>

Tobin, calculate optimal average cash withdrawal by the individual. Also

<br>

(3)

<br>

calculate the optional number of trips made to the bank.

<br>

(i) Calculate the desired capital stock (K*).

<br>

Q2. (a)Consider Cobb-Douglas production function: Y = KL, with a -0.3.

<br>

Assume that nominal interest rate (i) = 8%, expected inflation (r) = 0,

<br>

depreciation rate (d) = 4%, P= | and Y= 5000.

<br>

(ii) Now suppose that Y i expected to rise to 6000. What is the corresponding

<br>

desired capital stock?

<br>



(O sposthahe pitsto wat detea vectof thethanite if)
<br>

income was expected: Supposc further that spccd ofadjustmchnt (2) is 0.4 in thc

<br>

gradual adjustment model of investment. What will rate of investment be in thc

<br>

first year after expcctcd income clhanges? In the second year?

<br>

(b) Consider a Solow model witlh n=3%,g=2%, 8-3%, s 32% and production

<br>

function: Y-K(EL)20,

<br>

(a) Calculate steady state capital stock pcr cffectivc worker (*), steady state

<br>

output per effective worker (*).

<br>

(2+2+3)

<br>

(b) Continue with (a), now suppose E 10, calculate steady state capital per

<br>

worker (k*) and steady state output per worker (y*).

<br>

(c) Finally, calculate golden rule steady state (G*). And then calculate the

<br>

golden rule level of consumptio per effective worker (G*).

<br>

(3+2+3=8)

<br>

I Q3. (a) Using Romer's model, explain how a permnent incrçase in SrR .e. share

<br>

of labour force cmployed in research sector, affcct the advanced economies of

<br>

the world? To be more specific, show that change in Sr has only level effet not

<br>

the growth effect in the Romer's model. Use all diagrams with explanation.

<br>

(b) One view of the consumption function is that workers have high propensities

<br>

to consume and capitalists have low propensities to consume. To explore the

<br>

implications of the view, suppose that an economy consumes all wage inçome

<br>

and saves all capital income. Show that if factors ofproduction earn their

<br>

marginal product, this economy reaches the golden rule level of capital.

<br>

(C) Define these goods in terms of their degree of excludability and rivalry.

<br>

(i) Chicken

<br>

(ii) Trade secrets for Coca cola;

<br>

(iii) Clean Air

<br>

(iv)Table in your college.

<br>

(8)

<br>

(3)

<br>

(4)

<br>

Q4. (a) A person lives for 4 periods and earns Rs.0, Rs.40, Rs.60, Rs.100

<br>

respectively in 4 periods. Assume there is no interest rate, borrowing is possible

<br>

and he leaves nothing after him.

<br>

() Deterinine the ldvcl of consumption compatiblewith the budgt constraint, if

<br>

lhe wants an even consumption profile. Indicate in which period he saves,

<br>

dissavcs and in what amount.

<br>

(ii)How in cach casc bclow, the consumption profile will change if he prefers to

<br>

kecp it even as much as possible.

<br>

Case I: He receives wealth Rs.13 at the beginning of the time 2 but he knew

<br>

about this beforehand.

<br>

Case II: He receives wealth Rs. 13 at the beginning of the time 2 but it was a

<br>

surprise for him.

<br>

Case I:Suppose he wants to leave a bequest of Rs 40for next generation.

<br>

[3 + (3+3+2)=11]

<br>

(b) What do you understand by consumption puzzle? How it arose and how is it

<br>

related to Keynesian consumption function?

<br>

(4)

<br>

Q5. (a) Using business cycle theories by New Keynesians and New Classicals,

<br>

answer the following:

<br>

(i) Discuss how long term labour contract can act as a source of a business cycle.

<br>

(ii) Explain Friedman's and Phelps's versions of the fooling model.

<br>

(2+4)

<br>

(b) There is a balanced budget before year 1. Taxes are cut in year l by Rs. 10. If

<br>

the nominal interest rate is I0% and expected inflation is 5%, then show the path

<br>

of taxes and debt if the government wants to stabilize the debt from year 3 on

<br>

(assuming government expenditure remain unchanged).

<br>

(4)

<br>

(c) What do you understand by golden rule steady state? Suppose an economy is

<br>

working below golden rule steady state. Show the transition paths of output,

<br>

consumption and investment towards golden rule steady state.

<br>

(5)

<br>

Q6. (a) Rahecm wants to borrow from State Bank of India (SBI) to open a gift

<br>

shop. But the bank (SBI) has a concern that the Raheem might not payback the

<br>

loan amount. Is there asymmetric the information problem? If yes, then identify

<br>

its type. What actions can SBI take to mitigate this type of asymmetric

<br>

information problem? Now suppose that Raheem has got the loan but instead of

<br>

opening the gift shop has spent the borrowed money on lottery in Goa. Is there

<br>



Total No. of Pages

<br>

IV SEMESTER

<br>

END SEMESTER EXAMINATION

<br>

PAPER CODE: BA213

<br>

Time: 3:00 Hours

<br>

Q.1

<br>

Note: Answer any 5 out of 7 questions

<br>

Question no. 1 is compulsory

<br>

Allquestions carry equal marks.

<br>

Assume suitable missing data, if any.

<br>

1.1) (5 marks) Explain the meaning of:

<br>

1.1.a) Gauss Markov Theorem

<br>

1.1.b) OLSestimators.

<br>

1.1.d)JB Statistics

<br>

1.1.c) Normality Assumption

<br>

1.1.e) Residual sum of squares (RSS).

<br>

Source

<br>

Model |

<br>

Residual
|

<br>

Total |

<br>

e |

<br>

-2)

<br>

1.2) (5 marks) The STATA regression result of the rate of growth of

<br>

employment on the rate of growth of real GDP using a sample of

<br>

25 OECD countries is given below:

<br>

SS

<br>

Cons

<br>

d£

<br>

14.5753023

<br>

-10.1266731

<br>

24.7019754

<br>

Coef.

<br>

gI .489737

<br>

-.5458912

<br>

TITLE : Introductory Economnetrics

<br>

MS

<br>

1

<br>

14.5753023

<br>

23 440290135

<br>

24 1.02924898

<br>

Std. Err.

<br>

0851184

<br>

.2740387

<br>

t

<br>

Roll No...

<br>

5.75

<br>

BA. (HonsJEconomics

<br>

May/June-2019

<br>

-1.99

<br>

Max. Marks: 75

<br>

P>|t|

<br>

Number of obs =

<br>

0.000

<br>

25

<br>

23) =

<br>

Prob > R

<br>

R-squared

<br>

0.058

<br>

Adj R-squared =

<br>

Root MSE

<br>

33.10.

<br>

0.0000

<br>

.3136561

<br>

-1.112784

<br>

0.5900

<br>

0..5722

<br>

.66354.

<br>

[95% Con£. Interval]

<br>

.6658179,

<br>

.0210011

<br>



st ai

<br>

s. Is

<br>

Is? (3m.

<br>

Neen.i:::

<br>

ars is
.

<br>

0.253*

<br>

0.012

<br>

atica

<br>

explar:.:

<br>

a 10 i

<br>

on of 4

<br>

betwei"

<br>

e3ns :

<br>

!2.a) Calculate the corresponding F statistic and check that it is

<br>

ual to 33.!0, he value printed in the output. (2 Marks)

<br>

fse icgt at the 5 percent, 1 percent, and 0.1

<br>

*0í i it necessary to report the results of

<br>

i narks)

<br>

1990-.

<br>

122
<br>

s:i the GDPIand GDP, United States.

<br>

given below:

<br>

tCr.

<br>

i5GDP,

<br>

19)

<br>

:c

<br>

i.3 a) icase rewritccauation with GPDI in billions of dollars and

<br>

GP in nillious of doilars with r (1 mark)

<br>

2=0.9648

<br>

1.)are2ite o. Latic: GPDIin millions of dollarsand GDP

<br>

in bi313E f dciizrs witt: 2

<br>

mark)

<br>

i.3.e) Suppose inat CPn 2004 is expected to be 100 billions. Use

<br>

ihe abeve equaion to estimate the predicted (average) GDPI, for

<br>

20047 (1 imars)

<br>

3.3I3iriisi93% confidence interval for the predicted value

<br>

:, e mation. (15Marks)

<br>

4+1 nU1-linear regression model.

<br>

,No::arandom variable from its mean value

<br>

Ei:en two variables, Y and X, can range

<br>

iye : is so LEArL that cov (Y, X) also lies between these

<br>

) For a given alpha and d.£., ifthe computed Jt| exceeds the critical t

<br>

value, we shouiá accept the null hypothesis.

<br>

2.5) When R= 1, F=0, and when R? = 0, F = infinite.

<br>



2.6) The adjustcd and unadjustcd R's are identical only when the

<br>

unadjusted R? is cqual to 1.

<br>

2.7) When we say that an estimated regression cociçn,iS th. F

<br>

statistically significant, we mea that it is statistically dif

<br>

2.8) Consider the regression model

<br>

123

<br>

yi= B + B2X; + u;

<br>

where y; = (Y;- Y) and xi = (Xi -X). In this case, th regres sion line

<br>

must pass through the origin.

<br>

i):

<br>

2.9)For the doulblc-log nodel, the slope and elasticjity coeffiçientsiar,

<br>

the same.

<br>

2.10) The R? of a log-log model can be compared with that of a log-lin

<br>

model but not with that of a lin-iog model.

<br>

2.11) In the model Y; = B + B2D; + uj, letting D; take the values of

<br>

(0,2) instead of (0, 1)will halve the value of B2 and will also halve the

<br>

t value.

<br>

2.12) In the presence of heteroscedasticity OLS estimators are biased

<br>

as wellas inefficient.

<br>

2.13) If an auxiliary regression shows that a particular is high,thefe is

<br>

definite evidence of high collinearity

<br>

Q.3

<br>

2.14)Multicollinearity is harmless if the objective of the analy'sis is

<br>

prediction only.

<br>

2.15) The Durbin-Watson d is useless in autoregressive models Whete

<br>

one of the explanatory variables is a lagged value(s) of the dependent

<br>

variable:

<br>

U.Stat true Jals-pd oi

<br>

thtedev

<br>

is always equal to-zeO.

<br>

eith RAMSEYCSTelaic

<br>

from:l to rl, this alse

<br>

3.1) (5 marks) What are thevarious nethods Of 29stinasista

<br>

autocorrelation parameter in the AR(1) schemne?

<br>

3.2) (5 marks) Describe all the steps. associated

<br>

RESET Test ofmodel specification.

<br>

3.3) (2 marks) In a study of the determination of pricts öffinal output

<br>

at factor cost in the United Kingdom, the follovdng results wereli

<br>



Q.4

<br>

."0btained;on the basis of annual data for the period 1951-1969:

<br>

PF, = 2033 + 0273W,- 0.521X, + 0.256M, + 0.028M-t 0.121PF_

<br>

Se=(0.992) (0.127) (0.09) (0.024) (0.039)

<br>

-J2y-
<br>

Where PF = prices of final output at factor cost, W = wages and

<br>

salaries per employee,

<br>

X = gross domestic product per person employed, M = import

<br>

prices,

<br>

Sample size

<br>

R=0.984

<br>

Mt-l= import prices lagged 1 year, and PFt-1 = prices of final

<br>

output at factor cost in the previous year.

<br>

60

<br>

*eSihce for 18 dbservations and 5 explanatory variables, the 5 percent

<br>

lower and upperdvalues are 0.71.and 2.06, the-estimated d value of

<br>

2.54 indicates that there is no positive autocorrelation." Comment

<br>

on appropriateness ofusing d statistics for this model.

<br>

3.4) (3 Marks) Complete the following table: (d statistics table is given

<br>

i on fastpage)

<br>

4.1)(10 marks)

<br>

(0.119)

<br>

Number of

<br>

explanatory

<br>

variables

<br>

6

<br>

d=2.54

<br>

Durbin-Watson

<br>

3.72

<br>

Evidence of

<br>

autocorrelation

<br>

In a study of turnover in the labor market, James F. Ragan, Jr.,

<br>

obtained the following results for the U.S. economy for the period

<br>

of 1950- I to 1979-IV (Figures in the parentheses are the estimated

<br>

tstatistics.)

<br>



In Y, = 4.47 - 0.34 In X t 1.22 In X3 + 1.22 In X4

<br>

rate

<br>

(4.28)

<br>

(1.10)

<br>

(-5.31)

<br>

+ 0.80 ln Xs 0.0055 X6

<br>

-

<br>

(-3.09)

<br>

where Y = quit rate in manufacturing, defined as number of people

<br>

leaving jobs voluntarily per 100 employees

<br>

Xo=time trend

<br>

X=an instrumental or proxy variable for adult male unemployment

<br>

X3 = percentage of employees younger than 25

<br>

(3.64).

<br>

X5percentage of women employees

<br>

X, = NuN4= ratio of manufacturingemployment in quarter (t-1)

<br>

tó thát in quarter (t- 4)

<br>

4.1. a) Interpret the foregoing results.

<br>

4.2) (3 marks)

<br>

(3.10)

<br>

2=0.5370

<br>

4.1.c) Why is the coefficient of ln X3 positive?

<br>

4.1.b) Is the observed negative relationship between th logs of Y

<br>

and X> justifiable a priori?

<br>

4.1.e) Is the Adjusted R2 too" low?

<br>

4.1.d) Since the trend coefficient is negative, there is a secular

<br>

decline of what percent in the quit rate and why is there such a

<br>

decline?

<br>

4.1.) Can you estimate the standard errors of the regression

<br>

coefficients from the given data? Why or why not?

<br>



Source of variation

<br>

Q.5

<br>

Due to regression (ESS)

<br>

Due to residual (RSS)

<br>

Total (TSS)

<br>

4.3)

<br>

5.1) (10 marks)

<br>

Sum of squares

<br>

(SS)

<br>

4.2.a) What is the sample size and value of the RSS? (1 mark)

<br>

4.2.c) What is R² and Adjusted R2? (2 marks)

<br>

65,965

<br>

Model I:

<br>

66,042

<br>

(2marks) If you have monthly data over a number -of years, how

<br>

many dummy variables will you introduce to test the following

<br>

hypotheses:

<br>

se =

<br>

i) Allthe 12 months of the year exhibit seasonal patterns.

<br>

ii) Only February, April, June, August, October, and December

<br>

exhibit seasonal patterns.

<br>

t=

<br>

(0.26229)

<br>

p value =(0.7984)

<br>

The following regression results were based on monthly data over the

<br>

period January 1978 to December 1987:

<br>

d.f.

<br>

0.00681 + 0.75815X,

<br>

14

<br>

(0.02596) (0.27009)

<br>

Mean sum of

<br>

squares (MSS)

<br>

(2.80700)

<br>

(0.0186) r² =0.4406

<br>

Model II:

<br>

Y =0.76214X{

<br>

se = (0.265799)

<br>

t= (2.95408)

<br>

p value = (0.0131) P=0.4

<br>

5.1.a)What is the difference between the two regression models?

<br>

5.1.b) Given the preceding results, would you retain the intercept

<br>

term in the first model? Why or why not?

<br>

5.1.c) How would you interpret the slope coefficients in the two

<br>

models?

<br>



5.1.d.) What is the theory underlying the two models?

<br>

5.1.e)Can you compare the r terms of thetwo models? Why or why

<br>

not?

<br>

5.1.f.)The Jarque Bera normality statistic for the first model in this

<br>

problem is 1.1167 and for the second model it is 1.1170. What

<br>

conclusions can you draw from these statistics?

<br>

5.1.g) The t value of the slope coefficient in the zero-intercept model

<br>

is about 2.95, whereas that with the intercept present is about 2.81.

<br>

Can you rationalize this result?

<br>

5.2)(5 Marks) For the model:

<br>

127

<br>

5.2.d)

<br>

Q6)

<br>

(

<br>

5.2.a) What is the interpretation of B2? (1 mark)

<br>

5.2.b) What is the rate of change of Y with respect to X? (1 mark)

<br>

5.2.c) What is the elasticity of Y with respect to X? (1 mark)

<br>

6.1)(5 marks)

<br>

=B1+ BX; + ;

<br>

Can you compare the r s of the two models? Why or why not? How

<br>

do you decide which is a better model? (2 marks)

<br>

Consider the following model:

<br>

X= years of service

<br>

Y;= Bo+ B1X;+ BD2; + B3D3i + ui

<br>

where Y =annual earnings of MBA graduates

<br>

D2 = 1 if Harvard MBA;=0if otherwise

<br>

D3 = 1if Wharton MBA; = 0 if othervwise

<br>

6.1.a) What are the expected signs of the various coefficients?

<br>

6.1.b) How would you interpret B2 and B3?

<br>

6.1.c) IfB)> B3, what conclusion would youdraw?

<br>



6.2) (5marks) What are the consequences of omission of a relevant

<br>

variable?

<br>

6.3) (5 marks) The EViews result of hetroscedasticity test is given below:

<br>

Heteroskedasticity Test:White

<br>

Null hypothesis: Homoskedasticity

<br>

F-statistic

<br>

Obs*R-squared

<br>

Scaled explained Ss

<br>

16.03479

<br>

Q7)

<br>

19.97338

<br>

39.70599

<br>

Please describe the test conducted and its interpretation.

<br>

t=(3.8753) (2.7726)

<br>

Ý=24.3370 + 0.87 16 X, -0.0350X,

<br>

Prob. F(2,45)

<br>

Ý= 24.4545 + 0.5091 X,

<br>

Prob. Chi-Square(2)

<br>

7.1) (10 marks) Weekly consumption expenditure (Y), weekly income

<br>

(X2), and wealth (X3), all in dollars.

<br>

t= (3.8128) (14.2432)

<br>

Prob. Chi-Square(2)

<br>

(-1.1604)

<br>

Ý= 26.4520 + 0.0480 X,

<br>

7.1.a.) Is there collinearity in this regression? How do you know?

<br>

7.1.b) Regressions of Y on X and Y on X3 is given below:

<br>

X, =-3.3636 + 10.3727 X,

<br>

t=(-0.0456) (25.2530)

<br>

R²= 0.9682

<br>

r=0.9621

<br>

t= (3.1318) (10.5752)

<br>

What do these regressions reveal?

<br>

7.1.c) Regression of X3 on X2., is given below:

<br>

r'=0.9332

<br>

r'= 0.9876

<br>

0.0000

<br>

0.0000

<br>

0.0000

<br>



What does this regression reveal?

<br>

7.1.d) If there is severe collincarity, would you drop one of the X

<br>

variables? Why or why not?

<br>

7.2)(5 marks) In a study of population density as a function of distance

<br>

from the central business district, Maddala obtained the following

<br>

regression results basedon a sample of 39 census tracts in the B altimore

<br>

area in 1970:

<br>

In Y; = 10.093 - 0.239X;

<br>

t= (54.7)(-12.28)

<br>

In Y;

<br>

= 9.932

<br>

t= (47.87)

<br>

1

<br>

0.2258VX;

<br>

where Y= the population density in the census tract and X = the distance

<br>

in miles from the central business district.

<br>

R = 0.803

<br>

(-15.10)

<br>

7.2.a) What assumption, if any; is the author making about

<br>

heteroscedasticity in his data?

<br>

k' =1

<br>

d du

<br>

7.2.b)How can you tell from the transformed WLS regression that

<br>

heteroscedasticity, if present, has been removed or reduced?

<br>

7.2.c) How would you interpret the regression results? Do they make

<br>

economic sense?

<br>

d

<br>

TABLE 1: DURBIN-WATSON d STATISTIC: SIGNIFICANCE

<br>

POINTS OF dL AND du AT 0.05 LEVEL OF SIGNIFICANCE

<br>

k' =2

<br>

d

<br>

End

<br>

k' =3

<br>

d

<br>

d

<br>

k' = 4

<br>

d

<br>

d

<br>

k' =5

<br>

dy

<br>

k' =6

<br>

dy

<br>

1.408 1.767 1372 1.808

<br>

60 1.549 1616 1.514 1.652 1.480 1.689 1.444 1.727

<br>

65 1.567 1.629 1.536 1.682 1.503 1.696 1.471 1.731 1438 1.767 1.404 1.805

<br>
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<br>

SECTION A

<br>

Max. Marks: 75

<br>

This paper contains2sections.Both the sections are

<br>

compulsory

<br>

2Allquestions within each sectionareto be answered ina

<br>

cOntinuous männer on the answer sheet

<br>

Attempt any two questions. Each question carries 15 marks.

<br>

Q.1 “Multi-purpose projects (dams), launched after independence with

<br>

their integrated water resources management approach, were thought of

<br>

as the vehicle that would lead the nation todevelopment and progress,

<br>

overcoming the handicap of its colonial past." Do you think that large

<br>

dams have been able to meet their objectives? Give reasons in support of

<br>

[15]

<br>

your answer.

<br>

between the. ideology of

<br>

Q.2 [a] What the differences

<br>

are

<br>

environmentalisim and left-wing ideology?

<br>

[b] Do you think that the Chipko Movement was not purely

<br>

environment conservation movement? Give reasons in support of your

<br>

answer.

<br>

[7]

<br>

an

<br>

[8]

<br>

0.3 In India we continue to see smaller industrial accidentsmini

<br>

Bhopals. Hazardous wastes are piling up in many parts, contaminating

<br>

land and water and endangering lives."

<br>



3/

<br>

In the light of this statement, briefly explain the laws that were enacted to

<br>

prevent industrial disasters, In your view, what additional measures ned

<br>

tobe undertaken in order to prevent such accidents?

<br>

SECTION B

<br>

[15]

<br>

Attempt any thrce questions, Each question carries 15 marks.

<br>

Q4 Explain the statement given below. Also, in the light of this statement

<br>

briefly discuss the alternative methods that are available to improve upon

<br>

the GDP in order to provide an accurate signal about a country's

<br>

environmental performance.

<br>

[15]

<br>

"There is a saying in business schools that what gets measured, gets

<br>

managed. This is bad news for managing our natural capital and the

<br>

interactions between our economic activity and the environment,

<br>

which arekey to sustainability: these are almost entirely unmeasured

<br>

and often unmanaged too."

<br>

Q.5 [a] What are the key highlights of the Conference of the Parties (COP

<br>

21)summit in Paris? What pledges has India made to achieve the Paris

<br>

Agreement Targets?

<br>

[10]

<br>

[b]Critically evaluate the global implications as well as the implications

<br>

on India of the US' decision to withdraw from the Paris Agreement.

<br>

[5]

<br>

2

<br>

Q.6 What are the key reasons behind the alarmingly poor air quality in

<br>

Delhi? What are some of the possible steps that need to be taken in order

<br>

to improve the situation?

<br>

[15]

<br>

0.7 Briefly explain the measures that the NTTIAayog has proposed in

<br>

order to improve the forests and tree cover in the country.

<br>

[15]

<br>
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<br>

Q.5- Write short note on the following topics:

<br>

a) Varna and caste.

<br>

BA Economics

<br>

Q.1- "The system of family has undergone qualitative changes because of

<br>

Industrialization, urbanization, migration, revolution in the field of transport and

<br>

communication, increasing influence of the state and the influence of the

<br>

individualization philosophy of life". In the light of this statement, explain what

<br>

kind of changes have occurred in the family system in ndia. What are the

<br>

difficulties ofjoint family system?

<br>

May/June-2019

<br>

b) Hindu marriage act

<br>

Q.2- Highlight the problems being faced by "working women'" in India. What are the

<br>

current measures taken by government to improve the conditions of women in

<br>

India?

<br>

(15)

<br>

c) Tripple talaq in India

<br>

Max. Marks : 75

<br>

Q.3- Throw light on Manu's description on the eight forms of marriages in ancient India?

<br>

Describe the main features ofHindu marriages in India.

<br>

(15)

<br>

0.4- Define caste. What are the factors that facilitated the growth of caste system in

<br>

India? Analyse the impact of caste system on the society.

<br>

(15)

<br>

(15)

<br>

(15)

<br>

Q.6- How do you conceptualize the idea of indigenous people? Explain it in the context

<br>

of tribes inNorth-East India.

<br>

(15)

<br>

Q.7- In your opinion, what are the challenges being faced by rural India? Highlight the

<br>

social,and economic developments that took place in rural India in last few

<br>

decades.

<br>

(15)

<br>


